Air Cylinder

CJ2 Series
206, 210, 216

Double foot = Head flange

Double-side bossed are
added to the

m o u ntl n g types g - Double-side bossed ‘
4ﬂmmr¢Yﬁqum-§sij\ d o
For @6, 3 S ) @ Double foot

Improved amount of ,_ =~
mounting freedom 'Y

Easy fine adjustment Head cover port location

of auto switch position “Perpendicular to axis”

Fine adjustment of the auto switch position is possible by is HEW|V added to 6.

simply loosening the screw attached to the auto switch. Improved piping flexibility
Transparent switch bracket improves

visibility of indicator LED. d \ o

CFine adjustment of auto swilch)

LED color indicator




Air Cylinder

D: Double clevis Double clevis
(Except 26) . (With one-touch connecting pin)

Rod end nut

G: Head flange R

(Accessory)

Mounting nut
(Accessory)

U: Rod end cap
(Round type;

M: Double foot

“
T: Rod end cap

(Flat type) ‘

V: Single knuckle joint

(Except @6) M: Double foot

- Mounting nut
W: Double knuckle joint {Accessory) . X . i
(Except 06) Mounting brackets, accessories, and nut material: Stainless steel
f The following accessories need to be prepared separately. (Please order separately.)
Refer to the “Accessories” page of each series for details.

Double knuckle joint Bore size Foot Flange Single Double |Mounting | Rod | Accessories
(With one-touch connecting pin) [mm] 9 |\ nuckle joint| knuckle joint nut end nut page
10, 16 o* o* o o o* (@) p. 63-1

= Except bore size 10.

Part numbers with rod end bracket and/or pivot bracket available

Not necessary to order a bracket for the applicable cylinder separately
Note) Mounting bracket is shipped together with the product, but not assembled.

Example) CDJ2D16-50Z- Nr W -Mm9BW-B

. ) EEE—— - N
Pivot bracket N: Kit of pivot bracket | Lokt Gl With rod end bracket Rod end cap
Nil | None and double clevis Nil |None V: Single knuckle T: Flat type
Pivot bracket is shipped V | Single knuckle joint
N together with the —
product, but not W | Double knuckle joint -
|assembled. T |Rod end cap (Flat type)
#: Only for the double clevis type W: Double knuckle U: Round type
(010 and o16) > U | Rod end cap (Round type)
#: V/W: 910 and 16 only
| — ;l J
Refer to page 151-1 for the part number Refer to page 63 for the double knuckle joint
(-X2838) of the double clevis (with one-touch connecting pin).

(with one-touch connecting pin).

® 42



CJ2 series

General purpose type ~~ 2-color indicator Water resistant "é - <
Solid state auto switch - //
D-MoOJ —
B\
Reed state auto switch I | 2
D-A90] c J 1
In-line electrical entry Perpendicular electrical entry Rail mounting
(010, 016) CJP

—
JCM
CM2
Stroke Variations
Standard stroke CM3
i | 15 30 45 60 75 100 125 150 175 200 |
CG1
5 @ @ é @ l ] ] l ] l
10 FO Q@ @ 9@ 9@ 90 ¢ ¢ i o |cas
16 I D St JEE S B S B S S
Series Variations MB
Seri Acti i Bore size [mm] Variations P
ries fon ype 6 10 16 Built-in magnet  Air cushion age MB1
Standard A Double .
CJ2-z / acting Single rod @ 0 @ @ @ §s CA2
g Double
% = acting Doublerod |- () Q@ Q@ " 9 64 CS1
: 3 . Single rod
Sl (Spring return ! csz
aing (FMGELNQ Q@ @ L
Non-rotating rod e ) I Double
CJ2K-Z M acting  Single rod 3 ) 88
' Single (sSinge r(:d e e e o5
i ; pring return
Al Jextend)
Built-in speed controller Double .
CJ2Z- acting | Single rod (* (* (* 107
2232:; Double rod *3 @ *3 114
Direct mount Double
CJ2R-Z | acting Single rod @  J Q@ Ui
" Single rod
Single (Spring return 123
acting (S reL Q0 L
Direct mount, > .
Non-rotating rod N 2‘;52'; Single rod Q " ] Q 127
CJ2RK-Z %
== . Single rod
= Single i
_“/Q acting (S’;zg‘ger%um Q 0 9 130
With end lock Double .
CBJ2 acting Single rod 0 ‘ =
Smooth Cylinder Double . Best Pneumatics
CJ2Y-Z acting  Single rod } J Q@ " No. 23 D-O
2
Low Speed Cylinder Double . Best Pneumatics
7 acting | Sindle rod Q@ ] Q@ No.2:3 -XO
«: The air cylinder with end lock has the same shape as the current product. Technical
2 Air cushion is only available for 610 and 216. Data
®
Zsvc *



C ONIBREINIRS
Air Cylinder CJ2 Series

[ Air Cylinder: Standard Type
Double Acting, Single Rod CJ2 series

HOW 1O OFd@r ««eeseereeeerrmeeenmeetii e P.46
SPECIfICALIONS +++voverereresrsrsrsmsmiriiiiiii e P.47
CONSHIUCHON #++veseseseesesesessssssistitiet sttt P.49
DIMENSIONS ++rrresrrreeserrrseerne ettt ettt et st s P.50
Dimensions of Accessories (Options) ..................................................... P.63
Precautions seeereeeeereerrertiii e P.63-2

- "W Air Cylinder: Standard Type

s - Double Acting, Double Rod CJ2W series
/911“&':/ HOW 0 OFGE ++++erererersrsrsssssssesesesssetsisisstsssssttstssstssssssssssesesesessss s sssssssssssens P.64
¥ SPECIFICALIONS +++++rrrvvessessrervesssmssnsmiesssssssisiissss s P.65
Construction -+
DIMENSIONS ++rreererrrrerernsettintttit ittt sttt s s et eees P.68
P [ Air Cylinder: Standard Type
% Single Acting, Spring Return/Extend CJ2 series
A
m,y,.,;/'/ HOW 1O OFQEE ++veeeesrrmreessmmnnneesiiiies ittt P.71
SPECIfICALIONS ++++vvreveeserresersesemtisentitiet i pP.72
Construction ............................................................................................ P74
DIMENSIONS +++++++rrrrrrrrnsseeeerrrtttiiiiiiette ettt P.75
[ Air Cylinder: Non-rotating Rod Type

Double Acting, Single Rod CJ2K series
HOW 1O Ord@r «++eeeerrrrrsnsseeeeerrmmiiiiintteeeiite e P.88
SPECIfICALIONS +++++rreseererreseresertisintitictti it P.89
Construction ............................................................................................ Pgo
DIMENSIONS ++++++rrrrrrrsneseeeerrttiiiiiitttte et P.91

P [ Air Cylinder: Non-rotating Rod Type
‘)% Single Acting, Spring Return/Extend CJ2K series
&/’ HOW to order ........................................................................................... P95
SPECIfICALIONS ++++++rreseererresersesertinitintictti it P.96
COnStrUCﬁOn ............................................................................................ P98
DIMENSIONS ++rereeserrreserrneettee it P.99
.- W Air Cylinder: Built-in Speed Controller Type

P ﬁ?ﬁ Double Acting, Single Rod CJ2Z series
HOW tO Ol =+eveeeeereeserrmmemtnttiiiii st P.107
Specifications - P.108
Construction -+ P.109

DiIMENSIONS «rrererererersresssssssissssis s P.110
® 43-1 %SVC



Air Cylinder: Built-in Speed Controller Type
Double Acting, Double Rod CJ2ZW series

HOW 10 OFdEr +eeeeeersrrresssrnnesiimtiteeeitiiet st P.114
Speciﬁcations ........................................................................................ P.115
CONSEIUCHION ++rrrrerrrrrrrerrerrrmiiiiinn et P.116
DIMENSIONS ++w+++rrerrrrrrnnnsereretttiiiiitt ettt P.117

Air Cylinder: Direct Mount Type

Double Acting, Single Rod CJ2R series

HOW to Order ......................................................................................... P119
Specifications -
Construction .......................................................................................... P122

Air Cylinder: Direct Mount Type
Single Acting, Spring Return/Extend CJ2R series

HOW tO Order =++++eeerrrrrrnnssseerrrtiiiiiiinteeetiies e P.123
Specifications ........................................................................................ P.124
COnStrUCtiOn .......................................................................................... P125
DIMENSIONS ++rveerserrnnsernnaeettie et P.126
Air Cylinder: Direct Mount, Non-rotating Rod Type

Double Acting, Single Rod CJ2RK series

HOW 1O Order «+veesereessernneetiiei s P.127
Specifications ........................................................................................ P.128
CONSEIUCHION «rvesereesesrrsesssssnssriestistitts sttt P.129
DIMENSIONS ++vvrerrerrerrernneeertnettt et P.129

Air Cylinder: Direct Mount, Non-rotating Rod Type
Single Acting, Spring Return/Extend CJ2RK series

HOW 1O Order «+eeeeserreeeermmeeeiieeei e P.130
Specifications ........................................................................................ P.131
CONSHIUCHION «rveseeesemrresssssntssscitsi ittt P.132
DIMENSIONS ++rrrerrerrrrrernneeernnietete et P.133

Air Cylinder: With End Lock CBJ2 series

HOW to Order ......................................................................................... P1 34
Specifications ........................................................................................ P.135
CONSEIUCHION #+ovveesrreermrerinreriiiiiiiii s P.136
DIMENSIONS ++v+++reerrrrrrsnrsreerttrttiin ettt P.137
Speciﬁc ProducCt Precautions «««+=+--swssssreeeersmmmmieiniiiiniiieiiiccnnnes P.141
AUto SWitch Mounting «++-+s-wssssesesesesess P.142
Made to Order: Individual Specifications - P.150
Specific Product Precautions =+ «««-sssseeeessmmremimiiiiiiiii P.152

D-O

Technical
Data

432 ®



Combinations of Standard Products and Made to Order Specifications
CJ2 series

CJ2 CJ2K
(Standard type) (Non-rotating rod type)
@ : Standard . Si a q Si '
© : Made to Order {r\c“om Double acting ingle acting | Double acting ingle acting
O : Special product (Please contact SMC for details.) Ype : Single rod Singlerod | . Singlerod | Single rod
 Not available Single rod Double rod | iy oty | spring estend) | 51"9'® " | srig retur) | sringeten)
46 64 4l 88 95
I Applicable
Symbol Specifications bore size 06 to 616 010, 016
Standard | Standard [ ] [ o [} [ J ([ ] [ J
26 to 616
D Built-in magnet [ ) () () () () () [ )
CJ20-0JA | Air cushion 210, 016 [ ] — — — _ _
10-, 11- Clean series™*! 06 to 016 [ ) @+ O O — — —
25A- Copper (Cu) and Zinc (Zn)-free*> 210, 216 [ ] O O O O O O
XB6 Heat resistant cylinder (-10 to 150°C)*3 4 O @) @) O O @] O
XB7 Cold resistant cylinder (-40 to 70°C)*3 4 0610016 (@) © @) O O @]
XB9 Low speed cylinder (10 to 50 mm/s)** (@) — — — — — —
XB13 Low speed cylinder (5 to 50 mm/s) 06 (@) — — — — — —
XC3 Special port position*2 4 0610016 (@) O — — © — —
Adjustable stroke cylinder/
Xcs Adjustable extension type** ©) - o o o o o
Adjustable stroke cylinder/
Xco Adjustable retraction type** ©) - - ©) O -
210, 016
XC10 Dual stroke cylinder/Double rod type** (@) — O (@) O
XCc11 Dual stroke cylinder/Single rod type** (@) — — — O — —
XC22 Fluororubber seal** O @) © O @) @) O
06 to 616
XC51 With hose nipple (@) (@) © (@) O © ©
XC85 Grease for food processing equipment O @) © O @) © ©
210, 016
X446 PTFE grease O O O O O (@) (@)
X773 Short pitch mounting 06 — — © — — — —
X2838 Double clevis (With one-touch connecting pin)*' 010, 616 (@) — (@) (@) (@) (@) (@)
#1: Mounting type: Not compatible with the clevis type. #6: The shape is the same as the current product.
An auto switch is available in the band mounting type only. =7: Available only for locking at head end.
#2: An auto switch is available in the band mounting type only. #8: Available only for locking at rod end.
«3: The products with an auto switch are not compatible. +9: 010 and 916 only
#4: The products with an air cushion are not compatible. #10: Copper and fluorine-free [20-] are available as standard products.
=5: For details, refer to the Web Catalog. =11: Not compatible with the air cushion or rail mounting type auto switches.
® 44

SVC

O



CJ2 series

CJ2z CJ2R CJ2RK CBJ2 CJ2y CJ2X
(Built-in speed controller type) (Direct mount type) (Direct mount, Non-rotating rod type)| (With end lock)*® | Smooth Cylinder |Low Speed Cylinder
Double acting |Doubleactingl Single acting |Doubleacting| Single acting | Double acting | Double acting | Double acting CJ"
Sirt;le D‘:::Ie Sirt;le (sspir;ggkv:tm) (s;::g':x’::m) Shdlelied (s::i:%'er:?:m) (s;::gt;mu) Slndielicd Slndielicd Slndleicd CJP
107 114 119 123 127 130 134 Best Pneumatics No. 2-3 | Best Peumatics No. 2-3
210, 216 016 210, 016 210, 016
[ [ [ [ [ [ [ [ [ [ [ J Standard JCM
cM2
[ ] [ [ [ [ [ ] [ ] [ ] [ ] [ ] [ ] D
CM3
— — O — — — — — — — — CJ20-0A
CG1
— | = ) o o) — | - | = o — — 10-, 11-
CG3
25A-
O O O O O O O O @) O O JMB
(@) (@) (@) (@) (@) (@) (@) O o — — XB6 MB
O O O O O O O O — —_ — XB7 MB1
N 0 — — XB9 CA2
— — — — — — —_ —_ — — — XB13 Cs1
— | —]Jo|=|=]0o]|—-1=- o o o xcs Cs2
O — O O O O O O — — — XC8
— — @) (@) — @) O — O © — XC9
O — O O O O @) — XC10
— — O — — O — — o — — XC11
(@) O @) (@) (@) (@) (@) (@) (@] — — XC22
©) ©) ©) ©) ©) ©) ©) ©) — — — XC51
(@) @) ©) ©) ©) (@) ©) (©) — — — Xcss
©) ©) ©) ©) ©) ©) ©) ©) — — — X446
— — — — — — — —_ — — —_ X773
— —_ —_ —_ — — — — — O @] X2838
D-O
-Xtd
Technical
Data
45 ®

O
3



Air Cylinder: Standard Type
Double Acting, Single Rod

CJ2 Series

26, 010, 216

How to Order

q‘ﬁ;—):‘

_— ]
e

0 Mounting 0 Bore size e Cylinder standard stroke [mm] 0 Cushion
B Basic 6 6 mm Refer to “Standard Strokes” on Nil | Rubber bumper |
E Double-side bossed 10 10 mm page 47. A | Air cushion |
D** Double clevis 16 16 mm #: @6: Rubber bumper only
L Single foot
M Double foot 6 Head cover port location 6 Pivot bracket o Rod end bracket
F Rod flange 5 dlcular & Nil None Nil None
G Head flange Nil erper;x:gu arto § . N | Pivotbracket is shipped Vv Single knuckle joint
«: Foot/Flange brackets are shipped together - together with the product. Wik Double knuckle joint
with the product, but not assembled. «: Only for the double clevis type T Rod end cap (Flat type)

* D?gb|ed°|e1"é5 is only available for R Axial § > (210 and ¢16) u Rod end cap (Round type)
210 and 216. & x: Pivot bracket is shipped together with . i ohi ;
#+: Refer to page 151-1 for the double - - the product, but not assembled. N tF:‘Od eng b;agk?t |stsh|ppedb‘logether vith

clevis (with one-touch connecting pin). ~ *: For double clevis, the product is € product, but not assembled.
perpendicular to the cylinder axis. *: Single/Double knuckle joint: 210
#: For double-side bossed, the product is @ Auto switch mounting type and @16 only

e Auto switch perpendicular to the cylinder axis. [A] Rail mountm ‘ «+: Refer to page 63 for the double knuckle
‘ Nil ‘ Without auto switch ‘ ‘ B ‘ Band m g ‘ joint (with one-touch connecting pin).
— - - © Number of auto switches and mounting
*: For applicable auto switches, Nil 2 pos : For rail mounting, screws and nuts for m Made to Order

refer to the table below. S 7 - 2 auto switches come with the rail. Refer to page 47 for details.
* Enter the auto switch mounting type (A or — pc. «: Refer to page 148 for auto switch

B) even when a built-in magnet cylinder n n” pcs. mounting brackets.

without an auto switch is required. #: 96: Band mounting only

+: Refer to “Ordering Example of Cylinder Assembly” on page 47.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

[ Wiring Load voltage Auto switch model Lead wire length [m] Prewie || Applicable
Type| Special function entry g (Output) DC AC Band moulr;‘nlr:ge L Rall mour::r:lgie ((l)\ii?) (’\1/” (E) (% h(lw;g e [
3-wire (NPN) 5V 12V M9INV M9N MONV M9N ® | ® 0 O|—| O | it
£ Grommet 3-wire (PNP) M9PV M9OP M9PV M9P ® 00 O — o
= o-ire 12V M9BV M9B M9BV M9B ® ® 0 O|—| O _
@ Connector — H7C J79C — o — o000 —
2 L 3-wire (NPN) MYNWV | MONW | MONWV | MONW | @ @ |®@ | O|—| O | . .
& | Diagnosti indioation Ves|aie P24 v|° V2| [MOPWV | MOPW | MOPWV | MoPW | @ (@ @O [—| O | o Relay
@ | (2-color indicator) - PLC
k] 2-wire 12V M9BWV | M9BW |M9BWV | MOBW (@ @ @ O|—| O —
L Water resistant Grommet| |3-wire (NPN) 5V12V MYNAV*'| MONA*! |MINAV*' | MONA*' | O |O |@ | O|—| O | it
= X ' 1 #1 #1 *1 — h
3| (2colorindicator) Swwre(lPNP} M9PAV*!| MOPA*! | MGPAV’ M9PA‘ O|0|@|O o
2-wire 12V M9BAV*'| M9BA*' |M9BAV*'| M9BA*' | O |O |@|O|—| O —
Wi agoosic oulpt (-0 indealr) 4-wire (NPN) 5V,12V — H7NF — F79F @ |— | @ O|—| O |(Cecirui
£ 3:‘3’"‘*’ | sv - A%V | A% | A%V | A% | @ |—|@|—|—| — [Comut| —
'g Grommet|* — | 200V — — A72 | A72H (@ |—[@[—[—] — |
° —_— L 100V | A93V*2 A93 A93V*2 A93 oo 00— —
S No| 2.wire 12v 100 Vorless| A90V A90 A90V A90 ® |— ®|—|—| — |CcircuRelay,
2 Connectorﬂ 24V — = C73C A73C = o — o006 — — | PLC
2 No 24V orless = c8oC A80C = ® —®/® ® — |Cirou
Diagnostc indicaion (2:olor ndcato)| Grommet | Yes — — - — A7T9W — o — 0 —|—| —

*#1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.

#2: 1 m type lead wire is only applicable to D-A93.

x: Lead wire length symbols: 0.5 m- Nil (Example) MONW 5me.
1m- M (Example) MONWM None-
3m- L (Example) MONWL

«: Since there are other applicable auto switches than listed above, refer to page 149 for details.

Solid state auto switches marked with “O” are produced upon receipt of order.

The D-A9CI/M9LCI/A7CI/ABOCY/F70/J70 auto switches are shipped together, but not assembled. (For band mounting, only the auto switch mounting brackets are assembled before shipment.)

® 46

- Z (Example) MONWZ
N (Example) H7CN




Air Cylinder: Standard Type
Double Acting, Single Rod

CJ2 series

Specifications
————
Bore size [mm] 6 I 10 I 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1 MPa
Maximum ing pressure 0.7 MPa CJ"
Minimum operating \Rubber bumper 0.12 MPa \ 0.06 MPa
pressure \ Air cushion — \ 0.1 MPa CJP
N " Without auto switch: —10°C to 70°C .
Symbol A and fluid e With auto switch: —10°C to 60°C (\© eezing)
Rubber bumper Air cushion f Cushion Rubber bumper \ Rubber bumper/Air cushion
M /M Lubrication Not required (Non-lube)
: Rubber bumper 50 to 750 mm/s JCM
‘ ‘ ‘ ‘ Piston speed Air cushion — 50 to 1000 mm/s
R . . .
Allowable kinetic ut.Jber bu.mper 0.012J 0.0354J 0.090J CMZ
m energy E';Alr cu?hlon _ 0.07J 0.18J
de . — fve cushion ength) 4 4
Mgrder Made to Order: Individual Specifications Stroke oot o (Efectecusionengh) © Hn:m) (9.4 mm) N3
=mpge= (For details, refer to pages 150 and 151.) foke length to'erance g
Symbol pecification:
X446 | PTFE grease Standard Strokes CG1
-X773*1| Short pitch mounting imm] |CG3
-X2838"2| Double clevis (With one-touch connecting pin) Bore size Standard stroke Maximum stroke
#1: @6 only 6 15, 30, 45, 60 200 JMB
#2: 910 and 216 only 10 15, 30, 45, 60, 75, 100, 125, 150 400
Made to Order 16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400 MB
Click here for details #: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)
Symbol Specifications Produced upon receipt of order.
_XAL] | Change of rod end shape # Applicable strokes sho_uld” be confirmed according to the usage. For details, refer to “Air |VIB1
m " o - Cylinders Model Selection” on front matter pages. In addition, the products that exceed the
-XB6 | Hea reisant cyinder 1010 150°C) ot it ich i cshin standard stroke might not be able to fulfill the specifications due to the deflection etc.
=XB7 | Cold resistant cylinder (~40 to 70°C) « Not avalabe vith silch & withai cushion CAZ
-XB9 | Low speed cylinder (10 to 50 mm/s) - Not avalable with air cushion M t d A . ) o . y
XB137| Low speed cyinder (510 50 mims) - Notavlable vih arcuion oun |ng an CCES SOl S Reertopage 42 for e stof detalls about art cS1
';((23 Special port location « Not available with air cushion @--Mounted on the product. O:-Can be ordered within the cylinder model. A--Order separately.
-XC8 | Adjustable stroke cylinder/Adjustable extension type DoubleNo® )] Double clevis
-XC9 | Adjustable stroke cylinder/Adjustable retraction type Mounting Basic Foot Flange clevis | e Thecke) CS2
-XC10 | Dual stroke cylinder/Double rod type = [Mounting nut ° ° ° — —
-XC11 | Dual stroke cylinder/Single rod type § Rod end nut ° ° ° ° °
-XC22 FI\‘Jororubber seal  Not available with air cushion & [Clevis pin (including retaining rings) — — — ° °
-XC51 | With hose nipple i Double clevis (With one-touch | A A A |O (-X2838)|O (-X2838)
-XC85 | Grease for food processing equipment Single knuckle joint e e 0 o) )
#3: @6 only é Double knuckle joint (including a pin and retaining rings) @) @) o o o
. . &S | Double knuckle joint (With one-touch connecting pin) A A A A A
o
Ordering Example of Cylinder Assembly Rod end cap (FlatRound type) 5 5 5 5 5
Pivot bracket (T-bracket) — — — @) [ ]
. Note 1) Double clevis is only available for 210 and ¢16.
Cylinder model: Note 2) Stainless steel mounting brackets and accessories are also available.
CDJ2D16-60Z-NW-M9BW-B Double clevis Refer to page 63-1 for details.
Mounting Brackets/Part No.
—
" Bore size [mm]
Mount ket
ounting bracke 6 10 16
Foot CJ-L006C CJ-Lo10C CJ-L016C
Flange CJ-F006C CJ-FO10C CJ-FO16C
T-bracket® — CJ-To10C CJ-T016C
Pivot bracket =: T-bracket is used with double clevis (D).
Auto switch - -
Band mounting H_efer to pages 142 to 149 for cylinders Moisture -
with auto switches. Control Tube
Mounting D: Double clevis « Auto switch proper mounting position IDK Series -

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

+#: Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

#: Except 06

(detection at stroke end) and its
mounting height

* Minimum  stroke for
mounting

* Operating range

* Auto switch mounting brackets/Part
no.

auto  switch

When operating an actuator with a small diameter and a
short stroke at a high frequency, the dew condensation
(water droplet) may occur inside the piping depending on
the conditions.

Simply connecting the moisture control tube to the actua-
tor will prevent dew condensation from occurring. For de-
tails, refer to the IDK series in the Best No. 6.

47


http://www.smcworld.com/products/en/s.do?ca_id=495#se_1351
http://www.smcworld.com/products/en/custom.do

CJ2 Series

Weights A i
Yeights Precautions
la] P -
; Rubber bumper Air cushion 1 Refer to page 152 before handling. 1
Bore size [mm] 3 10 16 10 16 P o adinluttiuthetel sl ol
Basic weight Basic 20 22 46 39 66
IC well " —
(When the stroke Axial plpmg i i _ 17 22 46 39 66
is zero) Double clevis (including clevis pin) — 24 54 43 74
Head-side bossed 20 23 48 40 68
Additional weight per 15 mm of stroke 2 4 7 4 7
Single foot 8 8 25 8 25
Mounting bracket | Double foot 16 16 50 16 50
weight Rod flange 5 5 13 5 13
Heav{j flgnge 5 5 13 5 13 * Mounting nut and rod end nut are included in the
Clevis pin 1 3 1 3 basic weight.
QOne-touch connecting pin for double clevis | — 2 4 — — | = Mounting nut is not included in the basic weight for
Single knuckle joint — 17 23 17 23 the double clevis.
Double knuckle joint Calculation:
. " . — 25 21 25 21
Accessories (including knuckle pin) Example) CJ2L10-45Z
Double knuckle joint _ 26 2 26 20 *Basic weight - -22 (210)
(With one-touch connecting pin) * Additional weight -4/15 stroke
Rod end cap (Flat type) 1 1 2 1 2 *Cylinder stroke--- -45 stroke
Rod end cap (Round type) 1 1 2 1 2 *Mounting bracket weight----- 8 (Axial foot)
Pivot bracket (T-bracket) — 32 50 32 50 22+4/15x45+8=42¢g
Clean Series Low Speed Cylinder
—
6
- Head i 10 Head
10-CJ2‘ Mounting ‘:]Ig —‘ Stroke H port location | Z CJ2X ‘ Mounting ‘16 -‘ Stroke H port location | Z

Clean Series

Air cylinder which is applicable for the system which discharges leakage
from the rod section directly into the outside of clean room by relief port
and making an actuator’s rod section having a double seal construction.

Specifications

Action Double acting, Single rod
Bore size [mm] 6, 10, 16
Maximum operating pressure 0.7 MPa
Minimum operating 06 0.14 MPa
pressure 010, 016 0.08 MPa
Cushion Rubber bumper/Air cushion

Standard stroke [mm] Same as standard type. (Refer to page 47.)

Low Speed Cylinder

Smooth operation with a little sticking and slipping at low speed.
Can start smoothly with a little ejection even after being
rendered for hours.

=

-
The dimensions are the same as the double acting, single rod type.

Specifications

Auto switch Mountable (Band mounting)

Basic, Double-side bossed*,

Mounting Single/Double foot*, Rod/Head flange*

+: 910 and @16 only
Construction

e T T
WWAM

«: The above figure is for o16.

it
-

For the detailed specifications, refer to the “Pneumatic Clean Series”
(CAT.E02-23).

Action Double acting, Single rod

Bore size [mm] 10, 16

Fluid Air

Proof pressure 1.05 MPa

Maximum operating pressure 0.7 MPa

Minimum operating pressure 0.06 MPa
e e e
Cushion Rubber bumper (Standard equipment)
Lubrication Not required (Non-lube)

Stroke length tolerance +g).o

Piston speed 1 to 300 mm/s

010
016

0.035J
0.090 J

A kinetic
energy

For details, refer to the Best Pneumatics No. 2-3.

® 48



Construction (Not able to disassemble)

Air Cylinder: Standard Type
Double Acting, Single Rod

CJ2 series

26
Rubber bumper
With auto switch
210, 216
Rubber bumper
|- |
With auto switch
210, 216
Air cushion
1 2
With auto switch
Component Parts
No. Description Material Note No. Description Material Note
1A | Rod cover Aluminum alloy 11 | Piston seal NBR
1B | Seal retainer Aluminum alloy @6 only 12 | Tube gasket NBR
2 | Head cover Aluminum alloy 13 | Wear ring Resin
3 | Cylinder tube Stainless steel 14 | Cushion needle Carbon steel
4 | Piston rod Stainless steel 15 | Cushion ring Aluminum alloy
5 | Piston A Aluminum alloy 16 | Needle seal NBR
6 | PistonB Aluminum alloy 17 | Mounting nut Rolled steel
7 Piston Aluminum alloy 18 | Rod end nut Rolled steel
8 | Bumper Urethane 19 | Magnet —
9 | Rod seal NBR 20 | Spacer Aluminum alloy | @6: Without magnet
10 | Cushion seal NBR

49

5
[
—

(x]
C—
-}

[
()
=

E

[ HIKx]
- | D

()
(]
@«

—
=
™

g

MB1

o
>
N

(BN ¥]
(7 BIN "]
N || =



CJ2 Series

Dimensions
Basic (B)

CJ2B6 — ‘Stroke‘ ‘Head cover port location| Z

Rod end nut ¥ Mounting nut
MM NN

GA Piping port 2 x M5 x 0.8

&

oNDh8

N
i
d

A F |T NA NB
B-os H S + Stroke
Z + Stroke
Piping port 2 x M5 x 0.8
=]
S
| e
SA + Stroke

ZA + Stroke

Head cover port location
Axial location (R)

CJ2B }g - ‘Stroke‘ ‘Head cover port location

z

Rod end nut

¥ Mounting nut

Section Y detail Y /GA

Piping port 2 x M5 x 0.8

x: The overall cylinder length does not change.

Axial location (R)

&
o3 (/% M\W %H

‘ it
e

B-Ss A NA
H S + Stroke
Z + Stroke
¥ For details of the mounting nut, refer to page 63. fmm]
Bore size A B cC| D F |GA|GB| H MM NA | NB | NC | NDh8 NN S |SA| T Z | ZA
6 15 | 12 14 3 8 |145| 5 28 | M3x0.5 | 16 9.5 7 6_9018 M6x1.0 |51.5| 49 3 | 795 77
10 1512 [14] 4 [ 8| 8 5 | 28 | M4x07 [125] 95| — | 8385, | MBx10 |46 | — | — |74 | —
16 15 [183| 20| 5 | 8 | 8 5 | 28 | M5x08 [125] 95 | — | 1030 | MIOX10 |47 | — | — |75 | —

50



Dimensions
—

Basic (B)

Air Cylinder: Standard Type
Double Acting, Single Rod

With air cushion: CJ2B 12 - ‘Stroke‘ A ‘Head cover port Iocation‘ V4

CJ2 series

¥ Mounting nut ﬂ : S é
Rod end nut S}( ) < 52
450 WA wWB
GA  Piping port 2 x M5 x 0.8 GB
i A— —
o NA NB
l._B-os | S + Stroke
Z + Stroke
Piping port

¥ For details of the mounting nut, refer to page 63.

Dimensions other than the table below are the same as those on page 50.

[mm]
Bore size B C |[GA|GB|NA | NB|WA WB| S z
10 15 17 7.5 6.5 21 20 14.4 | 134 65 93
16 18.3 20 7.5 6.5 21 20 14.4 | 13.4 66 94

| M5x0.8

5
[
—

(x]
C—
o

[
()
=

E

oo
D=
=)

[
D
wW

[
=
(-~}

g

MB1

Head cover port location

Axial location (R)

#: The overall cylinder length does not change.

[z}
=
N

(BN ¥]
(7 BIN "]
N || =



CJ2 Series

Dimensions

Single foot (L)

CJ2L6 — ‘Stroke‘ ‘Head cover port Iocation‘ z

¥ Mounting nut

Piping port 2 x M5 x 0.8

Cover surface Rod end nut NN \ GA GB
<
# MM a \ S
9, = /
- 1]
NEi i J
LLJ ar Bos
Lz XLy
A T NA NB
H S + Stroke
2’(“"_0 Z + Stroke
Mounting hole
Piping port 2 x M5 x 0.8
L &19
- £ R
‘ =3l 4
NC 803
SA + Stroke
ZA + Stroke
Head cover port location
Axial location (R)
CJaL 12 - ‘Stroke‘ ‘Head cover port Iocation‘ Zz
¥ Mounting nut
—— —\ F GA Pipi 2x M! . B
Cover surface Rod end nut NN gL ping port 2 x M5 x 0.8 G i
MM (9]
L [=] 2 - O
El i T
/Cy o Z ¥ u* O§ f
\ 51-' _
n n BSs
‘ LX 5
Lz A ||
XY [ NA NB
H S + Stroke
2x0oLC Z + Stroke
Mounting hole
Piping port M5 x 0.8
‘
;
‘VA
Head cover port location
Axial location (R)
#: The overall cylinder length does not change.
¥ For details of the mounting nut, refer to page 63. (mm]
Boresize |A| B [C|D|F|GA|GB| H [LB|LC|LH|LT|LX|LY [LZ| MM |NA |NB|NC| NN S [SA|T |X|Y| Z |ZA
6 15|12 |14|3 | 8 |145| 5 |28 |15|45| 9/1.6|24|16.5/32|M3x0.5|16 |95| 7 |[M6x1.0|515/49|3 | 5|7 |795|77
10 1512 |14|4 |8 | 8 | 5 |28|15|45| 9/1.6|24|165|32|M4x0.7|125/95| — |[M8x1.0|46 |—|—|5|7 |74 |—
16 1518320/ 5|8 | 8 5 |28 |23|55(14|23|33|25 |42|M5x0.8[125|95| — [M10x1.0]|47 |—|—|6 |9 |75 |—

52



Dimensions

Single foot (L)

With air cushion: CJ2L 18 - ‘Stroke‘ A ‘Head cover port location| Z

¥ Mounting nut $

Air Cylinder: Standard Type
Double Acting, Single Rod

|
Z
-

1
LS

T“
}

WB
Rod end nut M» o
2D’
Cover surface GA  Piping port 2 x M5 x 0.8 F»B o
i/ /Pnapon2X T XS o
(Ll | S o
o
&\ 4 1 1
= ‘ l._NA | NB B3
S + Stroke
Z + Stroke
Piping port M5 x 0.8
|
i [&
Ll
Head cover port location
Axial location (R)
#: The overall cylinder length does not change.
¥ For details of the mounting nut, refer to page 63.
Dimensions other than the table below are the same as those on page 52. [mm]
Bore size B C |GA |GB | LB | NA | NB |WA WB| S Y4
10 15 17 7.5 6.5 16.5 21 20 14.4 | 134 65 93
16 18.3 20 7.5 6.5 | 23 21 20 144 | 13.4 66 94

CJ2 series

53

[z NN x]
= || C=
0 || =

H <)

[=)
=
~

E

[ 2INx)
DD
QO || =

MB1

(x)
>
N

(BN ¥]
(7 BIN "]
N || =



CJ2 Series

Dimensions

Double foot (M)

CJ2M6 - z

H

e
# Mounting nut ¥ Mounting nut
Rod end nut Piping port 2 x M5 x 0.8 NN
Cover surface MM NN\ F GA GB F /
6 \ a)
& ] i}
a2
| NEi s E
‘ LX ‘ = A
Lz A T NA NB_| Y X
XY S + Stroke
4x0LC LS + Stroke
Mounting hole Z + Stroke
10
caom 13- rokel2
| ¥ Mounting nut
c " ¥ Mountingnut  F |GA  Piping port 2 x M5 x 0.8 GB_,_ F NN
over surlace Rod end nut NN
/ MM ?}}( < }k/ﬁ
— 9, 1R
ﬁ§ ol > AT
&% I] = - ﬂa H 5
L L -
‘ LX ‘ 5
Lz
A
4x0LC ~ T
Mounting hole XY | NA NBY X
S + Stroke
LS + Stroke
Z + Stroke
* i i 3
For details of the mounting nut, refer to page 63. {mm]
Bore size A|D|F|GA|GB|H |LB|LC|LH|LS |[LT |LX|LY |LZ MM NA |NB NN S | T|X|Y| Z
6 15[ 3 | 8 [145| 5 |28 |15|45| 9|655|16[24|165[32| M3x05 |16 |95| M6x1.0 |[615]| 3 | 5 | 7 [915
10 154 |8 | 8 5 |28|15|45| 9|60 |1.6|24|165|32 | M4x0.7 |125|/95| M8x1.0 |46 |— | 5 | 7 |86
16 15|58 | 8 5 28|23 |55|14 |65 |23|33|25 |42 | M5x0.8|125|/95|M10x1.0|/47 |—| 6 | 9 |90

54



Dimensions

Double foot (M)

- . 10
With air cushion: CJ2M 16~ AZ

Rod end nut

Cover surface

\-7

LB

3 Mounting nut

Air Cylinder: Standard Type
Double Acting, Single Rod

Piping port 2 x M5 x 0.8

e

NA

S + Stroke

NB

View E

Z + Stroke

¥ For details of the mounting nut, refer to page 63.

With Air Cushion/bimensions other than the table below are the same as those on page 54. [mm]

Bore size B C [GA | GB | LB | NA | NB |WA | WB| S r4
10 15 17 7.5 65 | 165 | 21 20 14.4 | 134 65 93
16 18.3 | 20 25 6.5 | 23 21 20 14.4 | 134 66 94

CJ2 series

55

[z NN x]
= || C=
0 || =

[
()
=

E

oo
D=
=)

[
D
wW

[
=
(-~}

(5]
n
N



CJ2 Sseries

Dimensions

Rod flange (F)

CJ2F6 — ‘Stroke‘ ‘Head cover port Iocation‘ z

¥ Mounting nut

Piping port 2 x M5 x 0.8

Cover surface Rod end nut NN GA GB
MM &
a i
Q
Ol el ENa
\S/J b —a— o /
FX 2xoFC L .
FZ Mounting hole A ‘ F NA NB, B-os
H S + Stroke
Z + Stroke
Piping port 2 x M5 x 0.8
L o‘b
Fi |
=R ; 3]
: NC 8-03
SA + Stroke
ZA + Stroke
Head cover port location
Axial location (R)
CJ2F lg - ‘Stroke‘ ‘Head cover port Iocation‘ z
* Mounting nut
C f ipi
over surtace Rod end nut NN GA  Piping port 2 x M5 x 0.8 GB_
mm\ o\ &
\ ® i il
@ > ?FRTL -
&R A i 5, 310
FX FT B3
FZ 2xoFC A F | NA NB
Mounting hole H S + Stroke
Z + Stroke
Piping port M5 x 0.8
="
lVA
Head cover port location
Axial location (R)
x: The overall cylinder length does not change.
Yo i i .
For details of the mounting nut, refer to page 63. (mm]
Boresize |A| B |C |D|F|FB|FC|FT |FX|FY|FZ| GA |GB| H MM NA [NB |NC NN S |SA|T| Z |ZA
6 15|12 14 (3|8 |13 |45|16|24|14 |32 |145| 5 |28 | M3x05|16 [95| 7 | M6x1.0 |51.5|49| 3 |79.5| 77
10 1512 1414 |8|13|45|16|24|14|32| 8 5|28 | M4x07|125/95| —| M8x1.0 |46 — | —|74 =
16 15]18.3|20 | 5|8 |19|55|23(33|20|42| 8 5|28 | M5x08|125|9.5|— | M10x1.0 |47 — |—|75 —_

56



Air Cylinder: Standard Type
Double Acting, Single Rod

CJ2 series

Dimensions
Rod flange (F)
With air cushion: CJ2F }g - ‘Stroke‘ A ‘Head cover port location| Z
A CJ1
. =4 cJP
‘ﬂ (I { & ci2
# Mounting nut WA WB JCM
Rod end nut D
Cover surface GA  piping port 2 x M5 x 0.8 g 3 cm2
2 CM3
‘$ ((}@E [Lie | [& 1] & °§
N\ \ \ \ ‘ CG1
NA NB B.Ss CG3
S + Stroke
Z + Stroke JMB
Piping port
| M5 x 0.8 MB

¥ For details of the mounting nut, refer to page 63.

-
Tl

Head cover port location
Axial location (R)
#: The overall cylinder length does not change.

Dimensions other than the table below are the same as those on page 56. [mm]
Bore size B C FB | GA | GB | NA |NB |WA | WB| S r4
10 15 17 14.5 75 6.5 21 20 144 | 13.4 65 93
16 18.3 | 20 19 7.5 6.5 21 20 144 | 13.4 66 94

57

MB1

o
>
N

(BN ¥]
[ BIN7]
N || =



CJ2 series

Dimensions

Head flange (G)

CJ2G6 - z

Piping port 2 x M5 x 0.8

Y Mounting nut

Rod end nut NN GA GB NN Cover surface
MM
2 s [pms
SEES = : -Gt gz
I P
E
A T NA NB FT
H S + Stroke F FX 2xeFC
Z + Stroke Fz Mounting hole
10
CJ2G - z
Rod end nut GA  Piping port 2 x M5 x 0.8 GB_ +r Mounting nut Cover surface
o NN NN /
@ MM ﬂ Y L
{ @& S Or<t ez
1]
B-%s A F|NA NB|| |FT FX 2xoFC
H S + Stroke F FZ Mounting hole
Z + Stroke
* i i 3
For details of the mounting nut, refer to page 63. {mm]
Boresize | A| B | C | D | F |FB|FC|FT |FX|FY|FZ |GA|GB| H MM NA | NB NN S Y4
6 15 |12 14 3 8 13 45|16 |24 | 14 | 32 |145| 5 28 | M3x0.5 |16 95| M6x1.0 |51.5| 3 |875
10 15 |12 14 | 4 8 13 | 45|16 |24 | 14 | 32 | 8 5 28 | M4x0.7 |125| 9.5 | M8x 1.0 | 46 — |82
16 15 | 18.3| 20 5 8 19 | 55|23 |33 |20 | 42| 8 5 28 | M5x0.8 |125| 9.5 | M10x 1.0 | 47 — |83

58



Dimensions

Head flange (G)

. . 10
With air cushion: CJ2G 16~ AZ

L]
)

Air Cylinder: Standard Type
Double Acting, Single Rod

+

i
e =

CJ2 series

Enn
— || &=
U || -

e
WA we JCM
Rod end nut R CMZ
950 (_5_5 Piping port 2 x M5 x 0.8 §>B /ﬂz Mounting nut /Cover surface cm3
%o /
o3 8&? ie | e ‘@ f)\ &5l opl  |CG1
%NS — —F T\

NA

S + Stroke

NB

Z + Stroke

¥ For details of the mounting nut, refer to page 63.

With Air Cushion/bimensions other than the table below are the same as those on page 58. [mm]

Bore size B C FB | GA| GB | NA | NB | WA | WB S Y4
10 15 17 | 145 | 75 | 65 21 20 | 144 | 134 | 65 93
16 183 | 20 | 19 75 | 65 21 20 | 144 | 134 | 66 94

59

MB1

(x)
>
N

(BN ¥]
[ BIN7]
N || =



CJ2 series

Dimensions

Double clevis (D)

cJ2D 12 - [stroke| z

+0.030

N . 10
With air cushion: CJ2D 16~ AZ

402

CX:ot

oCDH9 o
Rod end nut GA Piping port 2 x M5 x 0.8 NB Clevis pin (ecddgﬁggg)
MM GB
$ a i%
. / Bl 1 I
°5 1% S 11 °'j A
> Eil
B Al LNa
H S + Stroke U cz.3s
Z + Stroke R
ZZ + Stroke

\ \ ) % e [
WA wB
Rod end nut NB
Piping port 2 x M5 x 0.8 GB
L

2 [ \ )1 3

o -
| | D °

NA
B-0s S + Stroke CZ9s
Z + Stroke
ZZ + Stroke
«: A clevis pin and retaining rings are included. {mm]

Bore size A B C [CD(ed)| CX | CZ D GA | GB H MM NA |NB | R S U z zz
10 15 12 14 3.3 32 | 12 4 8 18 28 M4 x0.7 | 125|225 5 46 8 82 87
16 15 183 | 20 5 6.5 | 18.3 5 8 23 28 M5x0.8 | 125 | 27.5 8 47 10 85 93

With Air Cushio|

N/Dimensions

other than the

table below are the same as the tabl

e above. [mm]

Bore size B C CZ |GA | GB |NA [ NB |WA | WB | S 4 Y24
10 15 17 15 75 | 195 | 21 33 | 144 | 264 | 65 101 106
16 183 | 20 183 | 7.5 | 245 | 21 38 | 144 | 314 | 66 104 | 112

60



Dimensions

Double-side bossed (E)

CJ2E6 - z

10

CJ2E 16~

¥ Mounting nut

Air Cylinder: Standard Type
Double Acting, Single Rod

Section Y detail

NN
Rod end nut

MM

Na

¥ Mounting nut

Y

GA  Piping port2x M5 x 0.8

Piping port 2 x M5 x 0.8 YY
/—g— GB NN
1:'*'11\ T‘V'*“
1
NA
A F LT NB
H S + Stroke
Z + Stroke

Section YY detail

CJ2 series

n
ﬁ %} ¥ I
B A F |_NA
e Section YY detail
H S + Stroke F
Z + Stroke
¥ For details of the mounting nut, refer to page 63. (mm]
Bore size A B Cc D F GA | GB H MM NA | NB NDh8 NN S T z

6 15 12 14 3 8 14.5 5 28 M3x0.5 | 16 9.5 6_9018 M6 x 1.0 51.5 3 87.5
10 15 | 12 14 4 8 8 5 28 | M4x07 [ 125 ] 95 80000 M8x1.0 | 46 — |8
16 15 | 183 | 20 5 8 8 5 28 | M5x08 | 125 | 95 | 1034, | M10x1.0 | 47 — | 83

o
G
pry

(x]
C—
o

H <)

[=)
=
~

E

(]
D
-

[
D
wW

MB1

o
>
N

(]
(7]
—

(5]
n
N



CJ2 series

Dimensions

Double-side bossed (E)
. L 10
With air cushion: CJ2E 16~ m AZ

= -

WB

" WA
¥ Mounting nut -~ -
Rod end nut
950 Piping port 2 x M5 x 0.8 GB

NB
S + Stroke F
Z + Stroke

5. NA

¥ For details of the mounting nut, refer to page 63.

With Air Cushion/bimensions other than the table below are the same as those on page 61. [mm]

Bore size B C GA | GB | NA | NB | WA | WB S Y4
10 15 17 7.5 6.5 21 20 14.4 | 134 65 101
16 18.3 20 7.5 6.5 21 20 144 | 13.4 66 102

62



CJ2 Series

Dimensions of Accessories (options)

Single Knuckle Joint et roted steel

Double Knuckle Joint wateria: Rolied steel

Knuckle Pin

Material: Stainless steel

#1 A knuckle pin and retaining rings are included.

Double Knuckle Joint (With One-touch Connecting Pin)

@NDH10 MM L oND hole H10 MM
A CJ1
BR
RR; L A g
T il S
Ui'82 LA Ui'8? A
i A=k o
[mm] [mm] [mm] JCM
‘Applicable
Aoplcable Partno. |‘deSee| At | L | Li | MM Aoplcable Incued
Part no.[# % A+| Ls | MM [NDH10NX| R: | Us voor0e 30T 8 Ti52l 21 Twaron Partno.{f G| Dd9 | d | L |Li|m| t | G0 |:CM2
1-J010C| 10 | 8 |21|M4x07(3.3%°|3.1| 8 | 9 Y-J016C 16 11 [16.6| 21 | M5x0.8 CD-J010| 10 [3.33%| 3 |152[122|1.2]0.3 TypeC32
1-J016C| 16 | 8 |25|M5x08| 5% |6.4| 12|14 Partno. | NDd9 [NDH10] NX | R: | U, 1Y-J015| 16 | 5350 |4.8]166]122[15(07| TeC5 |GV
Y-J010C |3.3295%)3.3°3%¢| 32 | 8 10 #: For 910, a clevis pin is diverted.
Y-J016C | 509 | 5°% | g5 | 12 | 10 = Retaining rings are included with a knuckle pin. CG1
a '—0.060 0 -

One-touch Connecting Pin for Double Knuckle Joint wateriar: staintess steel

e = L=
==
23 MM a &
o g - oDd9 10
- \:\,_ =0 15 20.5
NX22 : 24
14.6 urs?
7 L+ /A
N
[mm] [mm]
Part no. /PP A | |, | MM | NDd9 | NDH10 |NX|Ri | Ui Part no. | APPlicable| g
*| bore size “| bore size
Y-J10| 10 | 8|21 |max07] 33388 | 339 [32] 8] 10 Iv-J10 | 10 3.3:9%
Y-J16| 16 | 11|21 |M5x08| 5358 | 59°° [65]12] 10 Iv-J16 | 16 5-00%0

Material: Carbon steel

Mounting Nut

Rod End Nut

Material: Carbon steel

[mm] [mm]
Part no. %%E'ew;?‘ee B1 | Ci d H1 Part no. mc;gf B2 | C2 d Hz
SNJ-006C 6 8 | 9.2 | M6x1.0 | 4 NTJ-006B 6 55| 6.4 |[M3x0.5| 2.4
SNJ-010C| 10 11 |12.7| M8x1.0 | 4 NTJ-010C | 10 7 | 81|M4x0.7| 3.2
SNJ-016C| 16 14 |16.2| MI0x1.0 | 4 NTJ-015C | 16 8 |92 |M5x0.8| 4
SNKJ-016C*| 16 | 17 [19.6] M12x10 | 4

«: For @16 non-rotating type. (Use SNJ-016C for
210 non-rotating type.)

MB1

CA2

ST CS1
) €S2
D-O0

-XO



CJ2 Series

Pivot Bracket (T-bracket)

(S+Stroke) _ (U)  TDH10 o
R — 452
PR 2
g S
N | f
12 4x0TC E
N
-
-
TY =
™

[mm]

Part no.

Applicable
bore size | TC| TPH10|TH TKITN|TT TU(TVTW|TX|TY|TZ

CJ-TO10C| 10 [4.5|3.3'9°° |29|18(3.1| 2| 9 |40|22|32|12| 8

CJ-TO16C| 16 |55| 59%° |35|20|6.4|2.3|14|48|28|38|16|10

=2 A T-bracket includes a T-bracket base, single knuckle joint, hexagon socket head bolt and spring

washer.

«: For dimensions of (U) and (S + Stroke), refer to the double clevis drawing on page 60.

One-touch Connecting Pin for Double Clevis wateriar: staintess steel

_Jwl
oDd9 | Wi
H W2
Applicable

Partno. |/ 76 Dd9 H L w
CD-J10 10 3.335%0 | 184 | 132 4
CD-J16 16 BEoean 18.2 19.5 5
Partno. | W1 | W2 Note
CD-J10 | 12 | 15 | Cannot be mounted on cylinders with air

CD-J16 | 15

18 | cushion, or rail mounting type auto switches.

#: Please pay attention to the applicable cylinder.

Rod End Cap

Flat type/CJ-CFOOO

Clevis Pin

Material: Stainless steel

mt

@Ddg

fmm

Part no. | pgg

bore size

d|L|L

m

-

Included

refaining fing

CD-J010| 10 |33

0030
0060

3 [162]122

12

0.3| Type €32

CD-2015| 16 | 536%

4.8(227|183

15

0.7 TypeC5

CD-JA10¥| 10 |33

0030
0,080

3 |182]152

12

0.3| Type €32

#: For @10 double clevis type, with air cushion
and built-in speed controller.
= Retaining rings are included with a clevis pin.

Material: Polyacetal

Round type/CJ-CROOIO

A . MM
i
Jmm— =
e
@ 1
7 N
O L
Part no. Applicable
Flat type |Round type | boresize AD|L I el
CJ-CF006 | CJ-CR006 6 6|8 |11 M3x05 |5 |8 |6
CJ-CF010 | CJ-CR010 10 8 10| 13| M4x0.7 | 6 10| 8
CJ-CF016 | CJ-CRO16 | 16 10|12 |15| M5x0.8 | 7 | 12|10

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No. (Dimensions: Same as standard type)

Bore size Single Double q
[mm] Foot Flange knuckle joint |knuckle joint* Mounting nut | Rod end nut
10 — — 1-J010SUS | Y-JO10SUS — NTJ-010SUS
16 CJ-L016SUS | CJ-FO16SUS | 1-J016SUS Y-JO16SUS | SNJ-016SUS | NTJ-015SUS

= A knuckle pin and retaining rings are shipped together.

® 63-1



Dimensions of Accessories (Options) CJ2 Series

Precautions \

Assembly Procedures

1. Double Clevis (With One-touch Connecting Pin) (CD-J[J) 2. Double Knuckle Joint (With One-touch Connecting Pin) (IY-JO)

Insert connecting pin through One-touch connecting pin Insert the connecting pin

G
# The above mounting instructions are for downward-facing ™
ports. Refer to the following for upward-facing ports.

the cylinder and pivot bracket. : into the joint. - CcJ1
I :
; ’ 205y 1 e |
CJ2 Air cylinder (Clevis type) =N : Double knuckle joint (/ ' \.CJ2 Air cylinder CJP
> ® ! £N
Pivot bracket (T-bracket) < = 3 One-touch connecting pin <S>’ m
e Rotate the connecting pin. o i [b
_‘{4!1". 3 9 Rotate the connecting pin. - JCM
A% | e A cm2
> | )
"\7 = ]{1 J CM3
e Assembly completed without tools. o | :
:) ’//L' 3 9 Assembly completed without tools. = CG1
—| ot 1 \
' Ve O
N } Pt ‘ CG3
§ = 1 Q

—
=
™

How to Mount the Double Clevis (With One-touch Connecting Pin)

When connecting a double clevis cylinder to a pivot bracket (T-bracket), it is recommended that the pivot bracket (T-bracket) and the cylinder MB1
be connected with the one-touch connecting pin first, before fastening the pivot bracket.
When connecting the cylinder after the pivot bracket (T-bracket) has been fastened, mount the cylinder according to the following procedure. CA2

AWarning AWarning 81

For assembling the clevis type to the pivot bracket, + Perform the mounting within the following range. CSZ
refer to the figure below.

1. Insert the double clevis (One-touch connecting pin)
from the direction in the figure.

(%]

R

When port is facing upward ‘

Pivot bracket (T-bracket)

2. Push the one-touch connecting pin into the cylinder body
(Double clevis) until it clicks and is firmly fastened.

Double clevis
(With one-touch
connecting pin)

-XO

Technical
= Attach the double knuckle joint within 180° (+90° from center). Other mounting methods are the same as the above. Data
63-2 ®




Air Cylinder: Standard Type
Double Acting, Double Rod

CJ2W series

26, 10, 316

a3

How to Order A\ 3
LA L —=

B cuow

B[16]-[60]A|Z-[ ]
wc?sz— Z_E_{E

6 Mounting e Bore size 9 Cylinder standard stroke [mm] o Cushion
B Basic 6 6 mm Refer to “Standard Strokes” on page 65. Nil Rubber bumper
L Foot 10 10 mm LA ] Air cushion |
F Flange 16 16 mm = 96: Rubber bumper only

+: Foot/Flange brackets are shipped
together with the product, but not

assembled. § 3 i
. 0 Number of auto switches 0 Auto switch mounting type @ Made to Order

9 Auto switch Nil 2 pcs. [A] Rail mounting | Refer to page 65 for details.

Nil |  Withoutauto switch | S 1 pc. | B] Band mounting |
#: For applicable auto switches, refer n “n” pcs. «: For rail mounting, screws and nuts for

to the table below. 2 auto switches come with the rail.
* Enter the auto switch mounting type «: Refer to page 148 for auto switch

(A or B) even when a built-in mounting brackets.

magnet cylinder without an auto *: 06: Band mounting only

switch is required.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

o = Wiring Load voltage Au.to switch mod.el i Lead wire length [m] Presired | Applicable
Type| Special function entry ; (Output) DC AC : Bar)d moulr:_llri]r?e : Rgll mour;:_r:ﬁe ((')\jﬁ,) (|\1/|) (E) (g) TKT; TR lezdl
3uire (NPN) 5V12V M9INV M9N M9INV M9N ® ® e O|—| O Ccircuit
£ - Grommet|  |3-wire (PNP) ! M9PV M9P M9PV M9P ® | ®@® O|—| O
= -wire 12V M9BV M9B M9BV M9B ® | ® e O|—| O _
@ Connector — H7C J79C = o — 0|00 —
g Diagnostic indication Suire (\PN) 5V,12V BENWYEEMINWEIVSHWVIEMONWE @ |@ (@ O | — Q IC circuit| Rel
B (2?colorin dicaton Ves|3-wire (PNP)[24 V| — | M9PWV | M9PW | MOPWV | M9PW | @ (@@ [O|—| O B
k] 2-wire 12V M9BWV | M9BW |M9BWV | MBW (| @ (@ @ O|—| O —
2 Water resistant Grommet| ~ |3-ire (NPN) 5V12V MONAV*1| MONA*' | MONAV*'| MONA*' | O |O |@ |O|—| O Caireut
= (2-color indicator) 3-wire (PNP) ' M9PAV*! | MOPA*! | M9PAV*!' | MOPA*' | O |O |@ |O|—| O
a 2-wire 12V MYBAV*'| M9BA*' |M9BAV*' | M9BA*'| O |O (@ |O|—| O —
Wit iagostic oufput (2<olorindealn) 4-wire (NPN) 5V,12V — H7NF — F79F ® |—|®@ O|—]| O |[Ccicut
£ “.‘ﬁ‘(x":ﬁm | sV — A%V | A% | A%V | A% | @ | —|®|—|—| — [Comil —
E romme 1S — 200V | — — | A2 | Aren (@ |—|e@|—|—| — | _
o — L 100V | A93v*2 A93 A93V+*2 A93 o o 00— —
E Nol ,_ire 12y [100Vorless A90V A90 A90V A90 ® |— | ®|—|—| — |Circui Relay,
] comedor€] 24V — — C73C | A73C — e —ej®ej®| — | — |PC
& No 24V or less = C80C A80C = ® | — ©® @ ® — |Cciut
ndcator | Grommet |Yes — — — — A7T9W — o — 0 —|—| — —

#1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.

#2: 1 m type lead wire is only applicable to D-A93.

*: Lead wire length symbols: 0.5 m Nil (Example) MONW

M (Example) MONWM

L (Example) MONWL

Z (Example) MONWZ

N (Example) H7CN

+: Since there are other applicable auto switches than listed above, refer to page 149 for details.
*: Solid state auto switches marked with “O” are produced upon receipt of order.
x: The D-A90/MOLI/A7CI/AB0C)/F701/J701 auto switches are shipped together, but not assembled. (For band mounting, only the auto switch mounting brackets are assembled before shipment.)

® 64




Symbol
Double acting, Double rod, Rubber bumper

Air cushion

de t0
Made

Made to Order: Individual Specifications
(For details, refer to page 150.)

‘ Symbol ‘

Specifications ‘

-X446 |

PTFE grease |

Air Cylinder: Standard Type
Double Acting, Double Rod

CJ2W series

Specifications
————
Bore size [mm] 6 I 16
Action Double acting, Double rod
Fluid Air
Proof pressure 1 MPa
operating pressur 0.7 MPa 1
perating | Rubber bumper 015MPa___ | 0.1 MPa CJ
pressure | Air cushion — | 0.1 MPa
Ambient and fluid temperature Without auto switch: —10°C to 70°C (No freezing) CJP

With auto switch: —10°C to 60°C

Cushion

Rubber bumper |

Rubber bumper/Air cushion

Lubrication

Not required (Non-lube)

H <)

Piston speed Rubber bumper 50 to 750 mm/s
P Air cushion — 50 to 1000 mm/s
P Rubber bumper 0.012J 0.035J 0.090J
Allowable kinetic =" o — 0074 0.18J CM2
energy (Eflective cushion length) (9.4 mm) (9.4 mm)
Stroke length tolerance 50 M3
Standard Strokes
—————————
[mm] CG1
Bore size Standard stroke
6 15, 30, 45, 60 CG3
10 15, 30, 45, 60, 75, 100, 125, 150
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200

%

Produced upon receipt of order.

*

: Please consult with SMC for strokes which exceed the standard stroke length.
+: Applicable strokes should be confirmed according to the usage. For details, refer to “Air

: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

[
=
(-~}

g

Cylinders Model Selection” on front matter pages. In addition, the products that exceed the
standard stroke might not be able to fulfill the specifications due to the deflection etc.

Mounting and AccesSories g brte s oibaies s

ddi

=
o
—

Made to Order

fordetails about part number

[z}
=
N

@:--Mounted on the product. O-:-Please order separately.

Click here for details Mounting Basic Foot Flange CS1
—— E | Mounting nut [ ] [ ] [ ]
Symbol Specifications 5 Rod end nut ° ° ° csz
-XALJ | Change of rod end shape _ |_Single knuckle joint @) o o
_XBe |Heat resistant cylinder (-10 to 150°C) .S |_Double knuckle joint (including @ pin and retaining rings) o @) @)
* Not available with switch & with air cushion & | Double knuckle joint (With one-touch connecting pin) O o o
Cold resistant cylinder (-40 to 70°C) Rod end cap (Flat/Round type) (@) o @)
-XB7 |\
* Not available with switch & with air cushion +: 010 and 016 only
-XC22 | Fluororubber seal * Not available with air cushion = Stainless steel mounting brackets and accessories are also available.
XC51 | With hose nipple Refer to page 63-1 for details.
-XC85 | Grease for food processing equipment Mounting Brackets/Part No.
—
Refer to pages 142 to 149 for cylinders with K Bore size [mm]
auto switches. Mounting bracket 3 10 16
. Aut itch i ition (detect Foot CJ-Loo6C CJ-Lo10C CJ-L016C
uto switch proper mounting position (detection Flange CJFO06C CJF010C CJF016C
at stroke end) and its mounting height
* Minimum stroke for auto switch mounting Welghts
* Operating range ——
* Auto switch mounting brackets/Part no. n = (9
Bore size [mm] Rubber bumper Air cushion
6 10 16 10 16
H Basic weight .
A P recautl O n S (When the stroke is zero) Basic 25 29 56 36 61
e Additional weight per 15 mm of stroke 3 4.5 75 4.5 7.5
1 Refer to page 152 before handling. 1 Mounting bracket | Foot 16 16 50 16 50
i | weight Flange 5 5 13 5 13
Single knuckle joint — 17 23 17 23
. Double knuckle joint (including knuckle pin) — 25 21 25 21
P
“Cng:]st:g:e'rub e Accessories Double knuckle joint (With ane-touch connecting pin) — 26 22 26 22
IDK Seri Rod end cap (Flat type) 1 1 2 1 2
eries = Rod end cap (Round type) 1 1 2 1 2
When operating an actuator with a small diameter and a = Mounting nut and rod end nut are included in the basic weight.
short stroke at a high frequency, the dew condensation Calculation: D'I:l
(water droplet) may occur inside the piping depending on Example) CJ2WL10-45Z
the conditions. *Basic weight --- -29 (210)
Simply connecting the moisture control tube to the actuator *Additional weight -4.5/15 stroke -XJ
will prevent dew condensation from occurring. For details, 'Cyllnd_er stroke--- . -45 stroke
refer to the IDK series in the Best No. 6. *Mounting bracket weight----- 16 (Foot)

29 +4.5/15x45+16=58.5g


http://www.smcworld.com/products/en/s.do?ca_id=495#se_1351
http://www.smcworld.com/products/en/custom.do

CJ2W series

Clean Series

10-CJ2w ‘ Mounting }g - ‘Stroke‘ z
Clean Series

Specifications

Air cylinder which is applicable for the system which Action Double acting, Double rod
dlscr]arges leakage from the roq section directly |pto the Bore size (mm] 10,16
outside of clean room by relief port and making an - -
actuator’s rod section having a double seal construction. Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.1 MPa
Cushion Rubber bumper
Standard stroke [mm] Same as standard type. (Refer to page 65.)
For the detailed specifications, refer to the “Pneumatic Clean Series” Auto switch Mountable (Band mounting)
(CAT.E02-23). Mounting Basic, Foot, Flange

Construction (Not able to disassemble)

e HINH e N
= | | - -

With auto switch

66



Air Cylinder: Standard Type .
Double Acting, Double Rod CJ2W Series

Construction (Not able to disassemble)

06
Rubber bumper

With auto switch Cm2
210, 016 CM3
Rubber bumper @

5 1 4 @
y JMB
J ~ = MB
With auto MB1
switch CA2

010, 016
Air cushion
® G 9 90 @ @ @ a3

%Hﬂ%m W

With auto
switch

Component Parts

No. Description Material Note No. Description Material Note
1A Rod cover Aluminum alloy 10 Piston seal NBR

1B Seal retainer Aluminum alloy @6 only 11 Tube gasket NBR

2 Cylinder tube Stainless steel 12 Cushion needle Carbon steel

3 Piston rod Stainless steel 13 Cushion ring Aluminum alloy

4 Piston A Aluminum alloy 14 Needle seal NBR

5 Piston B Aluminum alloy 15 ing nut Rolled steel

6 Piston Aluminum alloy 16 Rod end nut Rolled steel

7 Bumper Urethane 17 Magnet —

8 Rod seal NBR 18 Spacer A Aluminum alloy 26 only

9 Cushion seal NBR 19 Spacer B Aluminum alloy 06 only




CJ2W series

Basic (B)

CJ2WB6 - z

Rod end nut 7 Mounting nut 2
MM GA _ Piping port 2 x M5 x 0.8 GA S| NN
Q
/ MM
H1H EICH
T 7K [~ 1 T
SN LH%H \‘/\‘/ : s
A F |T|_ NA NA [T| F A
H S + Stroke H + Stroke
Z + 2 x Stroke
cJ2wB 19 _[stroke|
16
3¢ Mounting nut g
Rod end nut NN 2 ] GA %
o0 MM j% GA  Piping port 2 x M5 x 0.8 S| NN MM
I i 2
=3 &§\ ] 1 115
0 A F | NA NA | F A
B.os el el
H S + Stroke H + Stroke
Z + 2 x Stroke
S i 10
With air cushion: CJ2WB 16~ AZ
I | e | [
[I~A<) ~
[N 3 ( =N |
\ \ \ \
¥ Mounting nut WA WA
Rod end nut
950 GA  Piping port 2 x M5 x 0.8 GA
S
e |
o §
o NA NA
Boos S + Stroke
Z + 2 x Stroke
¥ For details of the mounting nut, refer to page 63. fmm]
Bore size A B Cc D F GA H MM NA NDh8 NN S T r4
. 61 117
6 15 12 14 3 8 14.5 28 M3x 0.5 16 65018 M6 x 1.0 (66) 3 (122)
10 15 12 14 4 8 8 28 M4 x 0.7 12.5 8302 M8 x 1.0 49 — 105
16 15 18.3 20 5 8 8 28 M5 x 0.8 12.5 10002 M10x 1.0 50 — 106
With Air Cushion/Dimensions other than the table below are the same as the table above. *:()in S and Z dimensions: With auto switch
Bore size B C GA | NA | WA S z
10 15 17 7.5 21 14.4 66 122
16 18.3 20 7.5 21 14.4 67 123

68



Air Cylinder: Standard Type .
Double Acting, Double Rod CJ2W Series

Foot (L)
—
CJ2WL6 - z
3 Mounting nut g Piping port 2 x M5 x 0.8
Rod end nut A F__GA View E GA __F_ NN
NN CJ1
MM MM
jg Q{ _ _— o cJP
1 i ¥
s SN C2
— "T A
par] -
X Y [T NA NA [T Y X JCM
H S + Stroke H + Stroke
Z + 2 x Stroke CMZ
CM3
coawe 12 - z
Rod end nut # Mounting nut View E CG1
Cover surface MM NN GA  Piping port 2 x M5 x 0.8 GAF NN MM

N4

S

a8
RS =
I I T
B,D
LX ‘ 5 ] = MB1
Lz LA |E] LA View E
4x0LC X | LY|NA NA|Y| | X CA2
Mounting hole H S + Stroke H + Stroke
$ L Z + 2 x Stroke cs1
CS2
With air cushion: CJ2WL 12 - AZ
] | 3 E | |
I~ ol
N2 \‘/ S 8 ‘ =N |
¥ Mounting nut ‘ ‘
Rod end nut ALY M’
Cover surface GA  Piping port 2 x M5 x 0.8 GA 85
0V_9— _— o
S
; HH 5 o2
m
Bfga
NA NA |View E
S + Stroke View E
Z + 2 x Stroke
¥ For details of the mounting nut, refer to page 63. fmm]
Boresize | A | B | C | D|F |GA| H |LB|LC|LH|LT | LX|LY|LZ| MM |NA NN S| T | X|Y | Z
61 117
6 15 |12 14 | 8 8 [145| 28 | 15 | 45 9 | 16| 24 |16.5] 32 | M3x0.5 (16 M6 x 1.0 (66) 7 (122)
10 15 |12 14 | 4 8 8 28 | 15 | 45 9 | 16| 24 |16.5| 32 | M4x0.7 [125| M8x1.0 | 49 | — 5 7 105
16 15 [18.3| 20 5 8 8 28 | 23 | 55| 14 | 23| 33 |25 42 | M5x0.8 |12.5|M10x1.0| 50 | — 6 9 106 D-|:|
With Air CushionDimensions other than the table beow ae the same as the able above. #()in 8 and Z dimensions: With auto switch
Boresize | B | C [GA[LB|[NA[WA[S | Z -XOJ
10 15 17 | 7.5 |16.5| 21 |14.4| 66 | 122 Technical
16 18.3| 20 | 7.5 |23 21 [14.4| 67 | 123 Data

69



CJ2W series

Flange (F)

CJ2WF6 — z

¥r Mounting nut Piping port 2 x M5 x 0.8
Rod end nut ©
. ]
Cover surface GA View E GA g NN
‘ MM S MM &
T
@ = = (d o3
X \ \ \ = /.
T
FT
FX 2xoFC A F_[Tl_ NA NA [T|_F A B-os
FZ Mounting hole H S + Stroke H + Stroke View E
Z + 2 x Stroke lew
cJ2wF 19 _[stroke| z
16
Rod end nut ¥ Mounting nut
Cover surface A Pipi
MM GA  Piping port 2 x M5 x 0.8 GA NN MM o
\ T m:/i D@ ®
ﬁ§ m| > I lymm o$
\&/ms (il I A T @
o
FX 2xoFC NA_F, LA Bos
Fz Mounting hole H S + Stroke H + Stroke
Z + 2 x Stroke
S . 10
With air cushion: CJ2WF 16~ AZ
] | 3 E 1
~—] o
\‘/\/\\‘/ S g "V\‘AH
¥ Mounting nut
WA WA
Rod end nut D
Cover surface gﬁ Piping port 2 x M5 x 0.8 9+A
B X
I
NA NA
S + Stroke

Z + 2 x Stroke

¥ For details of the mounting nut, refer to page 63.

[mm]
Bore size A B C D F FB | FC | FT |FX | FY | FZ |GA | H MM NA NN S T z
61 117
6 15 | 12 14 3 8 13 45 | 1.6 24 14 32 | 145| 28 | M3x0.5 | 16 M6 x 1.0 (66) 3 (122)
10 15 | 12 14 4 8 13 45 | 1.6 24 14 32 8 28 | M4x0.7 | 125 | M8x 1.0 | 49 — 105
16 15 183 | 20 5 8 19 5.5 2.3 33 20 42 8 28 M5x0.8 | 125 | M10x1.0| 50 — 106
With Air Cushion/Dimensions other than the table below are the same as the table above. *:()in S and Z dimensions: With auto switch
Bore size B C |GA|FB | NA |WA| S z
10 15 17 75 | 145 | 21 144 | 66 122
16 183 | 20 75 | 19 21 144 | 67 123

70



Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

CJ2 Series

26, 010, 216

How to Order

B c.2
Mcwz

With auto switch (Built-in magnet

i

Z_

Z_

o

okl

H <)

210 and 216.
«i: Refer to page 151-1 for the
double clevis (with one-touch

5

: For double clevis, the product is
perpendicular to the cylinder axis.

together with the product, but
not assembled.

the product, but not assembled.
«: Single/Double knuckle joint: 10

0 Mounting 9 Bore size e Cylinder standard stroke [mm] Q Action CM2
B Basic 6 6 mm Refer to “Standard Strokes” on ['S | Single acting, Spring return _|
E Double-side bossed 10 10 mm page 72. | T | Single acting, Spring extend | ‘CM3
D** Double clevis 16 16 mm
L Single foot CG1
M Double foot e Head cover port location 6 Pivot bracket a Rod end bracket
F Rod flange Nil None Nil None CG3
G Head flange Nil | Perpendicular to axis §\f N | Pivotbracket is shipped Vv Single knuckle joint
*: Foot/FIang.e brackets are shipped together with the product. Wi Double knuckle joint JMB
together with the product, but not «: Only for the double clevis type T Rod end cap (Flat type)
assembled. . R Axial § e (010 and 216) U | Rod end cap (Round type) MB
*: Double clevis is only available for ) *: Pivot bracket is shipped *: Rod end bracket is shipped together with
MB1

connecting pin).

: For double-side bossed, the product is

and 216 only

perpendicular to the cylinder axis. ok Bgler to page 63 for the douple kquckle CAZ
e Auto switch #: Not applicable to single acting, spring @ Auto switch mounting type joint (with one-touch connecting pin).
[ Nil | Without auto switch | extend (). [A] Rail moumil.'\g | m Made to Order cs1
*: For applicable auto switches, 9 Number of auto switches LB | Bandmounting | gt page 72 for details.
refer to the table below. Nil 2 pos «: For rail mounting, screws and
* Enter the auto swil(_:h_mouming typ_e (Aor S Tpc . m_Jts for2 e_luto switches come CSZ
B) even when a built-in magnet cylinder — with the rail.
without an auto switch is required. n n_pes. #: Refer to page 148 for auto
switch mounting brackets.
= Refer to “Ordering of Cylinder A y” on page 72. *: ©6: Band mounting only
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
. i ! Electrical g Wiring Load voltage Auto switch model Lead wire length [m oo | Azt
ype| Special function enty | 3 |(Output) DC AC Band mounting Rall mounting 05| 1| 3|5 |None TR load
2 F In-line | In-line [ (Nil) |[(M)| (L) | (Z) [ (N)
3-wire (NPN) 5Vi2V MSNV M9N M9NV M9N ® ® 0 O|—| O G dicuit
5 - Grommet| | 3-wire (PNP) ' M9PV M9P M9PV M9P ® ® 0 O|—| O
.-; o-wire 12v M9BV M9B M9BV M9B ® | ® 0 O|—| O _
@ Connector — H7C J79C = o — 000 —
.g ’ o 3-wire (NPN) 5VA2V MONWV | MONW [MONWV | MONW | @ (@ |®@ ([ O|—| O |.. i
@ |Diagnostic indication Ves[3uie PP 24 V|° —  [M9PWV| MoPW [M9PWV | MPW | @ [@ @O [—| O | o|Rely,
@ | (2-color indicator) - PLC
ki 2-wire 12V M9BWV | M9BW |M9BWV | M9BW | @ @ @ O|—| O —
g Water resistant Grommet|  |3-wire (NPN) 5Vi2V MINAV*!| MONA*' [MONAV*'| MONA*' | O |O | @ |O|—| O G dicuit
= (2-color indicator) 3-wire (PNP) ’ M9YPAV*!| M9PA*! |MOPAV*'| MOPA*' | O |O | @ |O|—| O
L) 2-wire 12V M9BAV*!| M9BA*! [IM9BAV*'| M9BA*' | O |O | @ |O|—| O —
Wihdagnostc auiput (2-cobrindeator 4-wire (NPN) 5V,12V H7NF F79F ® |—|®@/O|—]| O |[Ccircut
£ ‘3:“'9’ | sv — A%V | A9 | A%V | A% |@ |— @ —|—| — |Comi| —
E Grommet|°° — [ 20V | — — A2 | A72H | @ |—|®|—|—| — | _
o —_— L 100V | A93V+#2 A93 A93V*2 A93 o o 00— —
E No 2-wire 12v 100V orless| A90V A90 A90V A90 ® |—|®|—|—| — [Ccircut| Relay,
k] ConnectorE 24V — C73C A73C = o — o060 — — | PLC
& No 24V or less — csoC A80C = ® | —|®/® ® — |Cioui
g [200lrndco] | Grommet |Yes — — = = A79W = o — 0 —|—| — —
+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
#2: 1 m type lead wire is only applicable to D-A93. D'I:l
x: Lead wire length symbols: 0.5 m- - Nil (Example) MONW - Z (Example) MONWZ
1m- M (Example) MONWM - N (Example) H7CN 'XD
3m- - L (Example) MONWL
*: Sin_ce there are olh_er applicable auto svagyches than listed, refer to page 149 for details. Technical
+: Solid state auto switches marked with “O” are produced upon receipt of order. lala

#: The D-A90)/MILI/A70/ABOLI/F70IA700 auto switches are shipped together, but not assembled. (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

71 ®



CJ2 Series

Specifications
———
Bore size [mm] 6 | 10 | 16
Action Single acting, Spring return/Single acting, Spring extend
Fluid Air
Proof pressure 1 MPa
Maximum op ing pressure 0.7 MPa
Minimum operating | Spring return 0.2 MPa I 0.15 MPa
Symbol pressure | Spring extend 0.25 MPa___| 0.15 MPa
Single acting, Spring return,  Single acting, Spring extend, Ambient and fluid e Without auto switch: 10°C 0 70°C \, freaying)
Rubber bumper Rubber bumper ) With auto switch: —10°C to 60°C
Cushion Rubber bumper
I [ } M I I Lubrication Not required (Non-lube)
li 1 Stroke length tolerance 30
‘ Piston speed 50 to 750 mm/s
de 10 Allowable kinetic energy 0.012J [ 0.035J [ 0.090 J
Made to Order: Individual Specifications
(For details, refer to pages 150 and 151.) R .
< —— Standard Strokes Spring Reaction Force
ymbol [ ns —
-X446 | PTFE grease [mm]
-X773*1 Short pitch mounting/Single acting, spring return Bore size Standard stroke :
: Refer to page 1899 (Table (2): Sprin
-X2838"2 | Double clevis (With one-touch connecting pin) 6 15, 30, 45, 60 Reaction EO?CG) ( (2): Spring
«1: 6 only 10 15, 30, 45, 60 .
#2: 910 and 616 only 16 15, 30, 45, 60, 75, 100, 125, 150
Made to Order *: Manufacture of intermediate strokes in 1 mm
: " increments is possible. (Spacers are not used.)
Click here for details — «: Please consult with SMC for strokes which
Symbol p on exceed the standard stroke length.
-XA[ | Change of rod end shape «: Applicable strokes should be confirmed according to
-XC22 | Fluororubber seal the usage. For details, refer to “Air Cylinders Model
-XC51 | With hose nipple Selection” on front matter pages. In addition, the
-XC85 | Grease for food processing equipment products that exceed the standard stroke might not be

able to fulfill the specifications due to the deflection etc.

Refer to pages 142 to 149 for cylinders with
auto switches.

Mounting Brackets/Part No.

 Auto switch proper mounting position (detection

at stroke end) and its mounting height i Bore size [mm]
* Minimum stroke for auto switch mounting i g T 6 10 16
« Operating range Foot CJ-L006C CJ-L010C CJ-L016C
« Auto switch mounting brackets/Part no. _ Flange _ CJ-F006C CJ-Fo10C CJ-FO16C
Pivot bracket (T-bracket)*T CJ-To10C CJ-T016C

#1: The pivot bracket (T-bracket) is used with double clevis (D).

A Precautions

P - Mounting and AccesSories g oiteisba fordet i
1 Refer to page 152 before handling. 1 — -
e @ --Mounted on the product. O:--Can be ordered within the cylinder model. A---Order separately.
. i Doubleete )| Double clevis
. . Mounting Basic Foot Flange ;
Ordering Example of Cylinder Assembly : algis L)
& __| Mounting nut [ ] [ ] [ ] — —
§ 5[ Rod end nut D) D) ° [ [
Cylinder model: CDJ2D16-45SZ-NW-M9BW-B | Clevis pin (including retaining rings)|  — = = (] L]
Donblelclets Double clevis (With one-touch ing pin) A A A O (-X2838) | O (-X2838)
 |Single knuckle joint o o o o o
A o .S | Double knuckle joint (including a pin and retaining rings) ) ) o o o
uto switch B -
o) Double knuckle joint (With one-touch connecting pin) A A A A A
Rod end cap (Flat/Round type) @] (@] (@] o O
Pivot bracket (T-bracket) — — — o [ ]
Note 1) Double clevis is only available for 210 and 216.
Note 2) Stainless steel mounting brackets and accessories are also available.
Refer to page 63-1 for details.
Pivot bracket i R
ifoilhiacks Theoretical Output Moisture -
- Refer to the “Single acting, Spring Control Tube
Boudlelknucklalioint return cylinder” in Theoretical Output 1 IDK Series —
Mounting D: Double clevis fgggggzﬂhia;:r%gmezzgz tl/?)%atl':g When operating an actuator with a small diameter and a
Pivot bracket N: Yes force at OUT side will be the en‘ding short stroke at a high frequency, the dew condensation
Rod end bracket W: Double knuckle joint force of the spring return, and that at (water droplet) may occur inside the piping depending on
Auto switch D-M9BW: 2 pcs. the IN side will be the amount of the IN the conditions.
Auto switch mounting B: Band mounting SiCI'_eJO"(fie of i’!eh?ﬁ"‘%e acting ftype Simply connecting the moisture control tube to the actua-
cylinder from which the beginning force h i )
= Pivot bracket, double knuckle joint and auto switch are of the spring return has been ::i:sw:!’z:i;i:ﬁ;v}i Zz:i::ia::‘o:;:(m oecurring. F:‘rod:
shipped together with the product, but not assembled. subtracted. g =

© 72



http://www.smcworld.com/products/en/s.do?ca_id=495#se_1351
http://www.smcworld.com/products/en/custom.do

Weights
Spring Return

Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

CJ2 series

lg]

Bore size [mm]

6

10

16

Mounting

Basic

Axial  |Double-side
piping bossed

Basic

Axial
piping

Double clevis
(including
clevis pin)

Double-side
bossed

Basic

Axial
piping

Double clevis

(including
clevis pin)

Double-side
bossed

15 stroke

17

15 18

28

28

29

28

62

62

69

5
[
—

64

30 stroke

20

18 21

35

35

35

35

77

77

84

79

45 stroke

23

21 23

44

44

45

45

95

95

102

97

(x]
C—
-}

60 stroke

26

24 27

54

54

55

54

113

113

119

115

75 stroke

Basic weight

100 stroke

125 stroke

150 stroke

134

141

136

167

167

174

169

204

204

212

206

227

227

234

H <)

229

Single foot

®

Double foot

o

[=)
=
~

Mounting

Rod flange

bracket weight

Head flange

o
=
)

Clevis pin

0r double cev

I
[=)
7]
—t

Single knuckle joint

I oo

Double knuckle joint
(including knuckle pin)

25

[
D
wW

Double knuckle joint
(With one-touch connecing pin)

Accessories

26

[
=
(-~}

Rod end cap (Flat type)

1

1 1

1

Rod end cap (Round type)

1

1 1

1

g

Pivot Bracket (T-bracket)

32

#: Mounting nut and rod end nut are included in the basic weight.
= Mounting nut is not attached to the double clevis, so the mounting nut weight is already subtracted.

Calculation:

Example) CJ2L10-45SZ

*Basic weight

*Mounting bracket weight-

-44 (210-45 stroke)
-8 (Single foot)

44+8=529

Spring Extend

Bore size [mm]

6

10

16

Mounting

Basic

Double-side

bossed Basic

Axial
piping

Double clevis
(including
clevis pin)

bossed

Double-side

Basic

Axial
piping

Double clevis
(including
clevis pin)

Double-side
bossed

15 stroke

18

19 28

28

30 29

63

63

71

67

30 stroke

21

22 34

34

36 35

77

77

85

80

45 stroke

24

24 42

42

44 43

93

93

100

96

60 stroke

27

28 51

51

52 51

109

109

116

112

75 stroke

100 stroke

Basic weight

125 stroke

150 stroke

129

137

133

159

159

166

162

193

193

201

196

213

213

221

217

Single foot

®

Double foot

o

Mounting

Rod flange

bracket weight

Head flange

Clevis pin

w

0r double clev

Single knuckle joint

I oo

Double knuckle joint
(including knuckle pin)

25

Double knuckle joint
(With one-touch connecing pin)

Accessories

26

Rod end cap (Flat type)

1

1

1

Rod end cap (Round type)

1

1

1

Pivot Bracket (T-bracket)

32

Calculation:

Example) CJ2L10-45TZ

*Basic weight

-+ 42 (010-45 stroke)

*Mounting bracket weight----- 8 (Single foot)

12+8=50g

#: Mounting nut and rod end nut are included in the basic weight.
. Mounting nut is not attached to the double clevis, so the mounting nut weight is already subtracted.



CJ2 series

Construction (Not able to disassemble)

Single acting, Spring return

26

210, 216

With auto switch

Single acting, Spring extend

210, 216

Component Parts

With auto switch

With auto switch

No. Description Material Note No. Description Material Note
1A | Rod cover Aluminum alloy 10 | Piston seal NBR
1B | Seal retainer Aluminum alloy 26 only 11 | Tube gasket NBR
2 | Head cover Aluminum alloy 12 | Wear ring Resin
3 | Cylinder tube Stainless steel 13 | Return spring Piano wire
4 | Piston rod Stainless steel 14 | Spring seat Aluminum alloy
5 | Piston A Aluminum alloy 15 | Mounting nut Rolled steel
6 | Piston B Aluminum alloy 16 | Rod end nut Rolled steel
7 | Piston Aluminum alloy 17 | Magnet —
8 | Bumper A Urethane 18 | Rod seal NBR
9 | Bumper B Urethane

74



Single Acting, Spring Return: Basic (B)

CJ2B6 — ‘Stroke‘ S ‘Head cover port Iocation‘ 4

Section Y de-
tail

Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

¥ Mounting nut Piping port M5 x 0.8 GB
Rod end nut NN
MM =)

Q h \

R

A F_| |[NA NB,
H S + Stroke

Z + Stroke

ZA +

SA
Stroke

Piping port M5 x 0.8

NC
+ Stroke

1204

CJ2 series

X
Y

)

USHHBE B

Head cover port location mB1
Axial location (R) CA2
10 CS$1
CJ2B ¢ - Stroke| S [Head cover port location| Z
Y GB
NN ¥ Mounting nut Piping port M5 x 0.8 Piping port M5 x 0.8
¥)
7 / Q< T
=iz : _ nd
J Section Y detail W
BJos Rod end nut N NB Head cover port location
Hedenend A F INA s Axial location (R)
H S + Stroke #: The overall cylinder length
Z + Stroke does not change.
¥ For details of the mounting nut, refer to page 63. mmi
Bore S
e A B|C|D|F|GB|H MM |NA|NB | NC| NDh8 | NN 5to | 16to | 31to | 46to | 61to | 76to | 101 to| 126 to
15st | 30st | 45st | 60st | 75 st | 100 st| 125 st| 150 st
. 37 |46 [ 50 | &4 | | | _ | _
6 15| 8 91 3 8 5 |28 [M3x05|3 95| 7 630s |[MEX 1.0 @) | 1) | 65 | 69
10 15 (12 |14 | 4 8 5 |28 |IM4x0.7| 48|95 | — 8002 |[M8Xx1.0| 45.5 53 65 77 = = = =
16 15 [18.3/ 20 | 5 8 5 | 28 |[M5x0.8|4.8[9.5| — | 1050, [M10x1.0| 45,5 54 66 78 84 108 | 126 | 138
Bore SA z ZA
size 5to [161t0|311t0|46t0|61 to| 7610 [101t0(126t0| 5to (16 t0|31to|46to|61 to| 76to [101to|126t0| 5to (16 to|31 to|46to(61 to| 76to (101to| 126 to
15 st|30 st|45 st|60 st|75 st|100 st | 125 st| 150 st| 15 st |30 st|45 st |60 st| 75 st| 100 st| 125 st| 150 st| 15 st |30 st| 45 st|60 st| 75 st| 100 st| 125 st| 150 st D-|:|
6 |¥#5|4s|arslels| | | | _|es|7a[78 e[ [ _ | _ | _ |e2s5[75|755\895] | | _ | _
(39.5) | (48.5) | (52.5) | (66.5) (70) | (79) | (83) | (97) (67.5) | (76.5) | (80.5) | (94.5) XO
10 |[—[—[=]=]=]=]=]=1ms]81]e]is]| — [ = | =] =1=-"]="1="]=]=1=1]=1=
16 - | —l—-—]1—-—]l—|l—]—] — 7358 | 94 |106 | 112|136 |154|166| — | — | — | — | — | — | — | —

=1 ()in S, SA, Z and ZA dimensions: With auto switch

75

Technical
Data



CJ2 Series

Single Acting, Spring Return: Double-side Bossed (E)

CJ2E6 - sz

Section Y detail
Section YY detail

¥ Mounting nut Y GB YY
Rod end nut Piping port M5 x 0.8 NN °N$ »
MM \ = %
‘ 7
EEgd St i 2
A F_||NA NB 12.85
H S + Stroke F
Z + Stroke
CJ2E
Y PipingportM5x0.8 GB_ vy
Section Y detail NN * Mounting nut NN
MM
$ A /- ) .
/ S " i Section YY detail
o3 ¢) o
o
Z v I
o
Bos Rod end nut A 3 NA NB
H S + Stroke |.F,

Z + Stroke

¥ For details of the mounting nut, refer to page 63.

[mm]

Bore S r4
- A|B|C|D|F|GB  H| MM [NA/NB|NDh8 NN |5t [16t0|31to|46to|61t0|76t0 (101t0| 126t | 5to [16t0|31to[46t0|61to|76t0 |10110|126t0
15st| 30t |45st|60st| 75t | 100st | 125st| 150st | 15st| 30 st| 45t |60 st| 75t ) 100st| 125t | 160st

37|46 |50 | 64 73|82 |86 | 100
6 15| 8 9| 3|8 |5 |28 |M3x05/3 |9.5| 6505 |MEX1.0 S Y e et el B A A T ) e el el
10 15 (12 |14 | 4 | 8 | 5 | 28 [M4x0.7|4.8[9.5| 880 [M8x1.0|455(53 |65 |77 | — |—|—|— [815/89 [101[113| — | —|— | —

16 | 15|183[{20 | 5 | 8 | 5 | 28 [M5x 0.8/ 4.8 | 9.5 1050z [MI0x1.0|455| 54 | 66 | 78 | 84 |108|126|138|81.5| 90 [102[114|120{144 162|174
#: () in S and Z dimensions: With auto switch

® 76



Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Single Acting, Spring Return: Single Foot (L)

CJ2L6 - ‘Stroke‘ S ‘Head cover port Iocation‘ z

Cover surface

® >
=3[
3

T

LX

Lz
2xoLC

Mounting hole

¥ Mounting nut _F

Rod end nut
MM

Piping port M5 x 0.8

GB

1
-
-
A Y | |_LNA NB
H S + Stroke
Z + Stroke

Piping port M5 x 0.8

A

NC

SA + Stroke
ZA + Stroke

Head cover port location
Axial location (R)

0
B_os

&

0
803

CJ2 series

[xHIKx]
€= || C=
0 || =

ool
DIDIN=S(=|Q
W= || R|N|=

10 MB1
CJaL 16~ ‘Stroke‘ S ‘Head cover port Iocation‘ Y4
CA2
Cover surface F_ # Mounting nut GB_ Piping port M5 x 0.8 cs1
¥)
‘ 2l ; < [cs2
(} o> 2 } "l 4 L
a4 4]
‘ K/ ‘ EI / /
X ‘ Rod end nut/| NA NB B3s
Lz X Y
H S + Stroke
2xoLC Z + Stroke
Mounting hole
C Piping port M5 x 0.8
Head cover port location
Axial location (R)
*: The overall cylinder length does not change.
¢ For details of the mounting nut, refer to page 63.
[mm]
Bore St
size A|B|C|D|F|GB|H|LBLC|LH|LT|LX|LY|LZ| MM |[NA|NB| NN | 5t |16to|31to|46to|61to| 76t0 |101to|126t0
155t | 30st | 45t | 60 st | 75st | 100st | 125t | 150 st
37 | 46 | 50 | 64
6 15112 |14 | 3 | 8 | 5 (28|13 |45| 9 |16|24 |165| 32 [M3x05|/3 |9.5|M6x1.0 “2) | 51) | 55) | (69) — | = | =
10 15]12 |14 | 4 | 8 | 5 |28 |15|45| 9 |1.6] 24 |165| 32 |[M4x0.7|4.8|9.5|M8x1.0/ 455 |53 | 65 | 77 | — | — | — | —
16 15183/ 20| 5 | 8 | 6 |28 |23 55|14 |23[33 |25 |42 [M5x0.8|4.8|9.5 |M0x1.0]| 455 | 54 | 66 | 78 | 84 | 108 | 126 | 138
Bore SA z ZA
- 5t0 |16t0|31to |46to |61to| 7610 [101to|126to| X | Y | 5to [16to [31to|46t0 | 61to | 76t [101to|126t0| 5to | 16to|31to|46to [61to | 76t0 [101t0[126t0
15st | 30 st | 45t | 60 st | 75st | 100 st| 125st| 150 st 15t | 30 st | 45st | 60 st | 75st | 100st| 125t | 150 st| 155t | 30 st | 45 st | 60 st | 75 st [ 100 st | 125 st | 150 st
6 |3slms(aslets| | | _ | _ |5, |es[7af7eloa| | _[_|_[es|7s[mslees| | | _ [ _
(39.5)|(48.5)| (52.5) | (66.5) (70) | (79) | (83) | (97) (67.5)|(76.5)|(80.5)| (94.5)
10 |—|[—[=|=]=1=]=T=15]7ms[s8t]e]105] — | —|[—|=[=[=|=]=1=]1=1T=1=
6 | —|—|—|—]|—]—]|—|—1]6]9|75|8 |94 |106|/112|136|154|166| — | — | — | — | — | — | — | —

#1()in S, SA, Z and ZA dimensions: With auto switch

77



CJ2 series

Single Acting, Spring Return: Double Foot (M)

CJ2M6 - sz

H
F_| ¥ Mounting nut GB F _ ¥ Mounting nut
Cover surface Rod end nut NN Piping port M5 x 0.8 NN
" MM //
- I % A1, ]
: o> ‘pr ta A
b
AN : ol
‘ - |-T
LX - -
Lz A Y| |LNA NB|Y| | X
2x0LlC X S + Stroke
XoL LS + Stroke
Mounting hole
Z + Stroke
10
2w 12 - Sirore] 52
H
NN
Cover surface A F | ¥ Mounting nut GB_ F  Piping port M5 x 0.8
MM + Mounting nut
' \eedill S
K(}) m| > EHHOLY v
| 1
N &
- -
M Rod end nut// | = NA ] 5
Lz X Y Y X
4xoLC S + Stroke
Mounting hole LS + Stroke
C$ Z + Stroke
¥ For details of the mounting nut, refer to page 63. {mm]
Bore LS
e A D F |[GB| H |LB|LC|LH |5t |16to|31to|46to|61to|76to [101to|126to| LT | LX | LY | LZ MM NA
15st |30 st |45st| 60 st | 75 st | 100 st| 125 st| 150 st
51 60 64 78
6 15 3 8 5 28 | 13 | 45 9 s6) | 65) | (69) | 83) | — — — — | 16| 24 |165| 32 | M3x0.5 | 3
10 15 4 8 5 28 | 156 | 45 9 | 59.5| 67 79 91 = — = — | 16| 24 |165| 32 | M4x0.7 | 48
16 15 5 8 5 28 | 23 | 55| 14 [ 635 72 84 96 | 102 | 126 | 144 | 156 | 2.3 | 33 |25 42 | M5x0.8 | 48

r4

zl"zr: NB| NN |5t [16t0[31t046t0(61t0

76 to

15st|30st |45st|60st|75st|100s

t

101to|126t0| X Y | 5to |16to|31to|46to|61to| 76to |101to|126to
125 st|150 st 15st | 30 st |45 st | 60 st | 75 st | 100 st| 125 st | 150 st

37 | 46 50 64
6 9.5 | M6x 1.0 @) | 1) | 65) | 69) | —

77 86 90 | 104

— | = 5 7 — | = — —

(82) | (91) | (95) | (109)

10 95 | M8x1.0 | 455 | 53 65 | 77 =

= = 5 7 |85| 93 | 105 | 117 | — = = =

16 9.5 | M10x1.0 [ 455 | 54 66 78 84

108

126 | 138 6 9 |885| 97 | 109 | 121 | 127 | 151 | 169 | 181

78

#: () in LS, S and Z dimensions: With auto switch



Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Single Acting, Spring Return: Rod Flange (F)

CJ2F6 — ‘Stroke‘ S ‘Head cover port Iocation‘ 4

CJ2 series

¥ Mounting nut Piping port M5 x 0.8 GB
Cover surface Rod end nut NN o3
7 9 CJ1
MM QWL\ @ o
B ;
) af > mals r CJP
& il S y
i
Fz Mounting hole A F NA <N_B,
H S + Stroke JCM
Z + Stroke |:
Piping port M5 x 0.8 o
o ) CM3
v—FH—rﬁ:ibﬁ A I
e B 2 CG1
NC 8l
SA + Stroke - 09 CG3
ZA + Stroke
Head cover port location JVB
Axial location (R) |:|V|B
10 MB1
CJ2F 16~ ‘Stroke‘ S ‘Head cover port Iocation‘ 4
B CA2
Cover surface NN ¥ Mounting nut Piping port M5 x 0.8
MM o CS1
all /m
=T & o
¢§ m| > o vl o3 / CSZ
& B SHHR v,
FX Rod end nut FT Bfm
Fz 2xoFC A F | [_NA INB|
Mounting hole H S + Stroke
Z + Stroke
Piping port M5 x 0.8
Head cover port location
Axial location (R)
#: The overall cylinder length does not change.
¢ For details of the mounting nut, refer to page 63.
[mm]
Bore S
&1 A|B|C|D|F|FB|FC FT|FX|FY|FZ|GB| H| MM |[NANB/NC| NN |5to 16to(31to|46t0o|61to| 760 |101to[126t0
15st| 30 st |45 st |60 st | 75 st | 100 st| 126 st| 150 st
37 | 46 | 50 | 64
6 15112 |14 | 3 | 8 |11 |45|16|24 |14 |32 | 5 | 28 IM3x05|3 |95| 7 |M6x10 @) | 6|68 e — | ||
10 15(12 |14 | 4 | 8 |13 |45(16|24 |14 32| 5 |28 [M4x07|48|9.5| — |[M8x1.0{455| 53 | 65 |77 | — | — | — | —
16 15]18.3/20 | 5 | 8 |19 5655|2333 |20 42| 5 | 28 |M5x08/4.8|9.5| — |MI0x10/45.5| 54 | 66 | 78 | 84 | 108 | 126 | 138
Bore SA z ZA
size 5to |16to(31to|461t0|61to| 76t0 |101to|126t0| 5to (16to(31to|46t0|61to| 760 |101to|126t0| S5to (16to|31to|46t0|61to| 7610 [101to|126t0
15 st | 30 st | 45 st| 60 st | 75 st | 100 st| 125 st| 150 st| 15 st | 30 st | 45 st | 60 st | 75 st | 100 st | 125 st| 150 st | 15 st | 30 st | 45 st | 60 st | 75 st | 100 st| 125 st | 150 st D-I:l
¢ |345(435larsleis[ | | | _|es|7a|78[e| [ _ | _ | _|e2s{715|755[895 _ [ _ | _ | _
(39.5)|(48.5)| (52.5)| (66.5) (70) | (79) | (83) | (97) (67.5)|(76.5)| (80.5) | (94.5) XO
10 | — [ — | =] =]=]=1=1=1Jms[81]e15] — | — || = =]=1=1T="1="1=1=1T+=
16 - —-—]—-—l—]1—]—]—]—|7385| 8 | 94 |106 112|136 154|166 | — | — | — | — | — | — | — | —

=1 ()in S, SA, Z and ZA dimensions: With auto switch

79

Technical
Data



CJ2 series

Single Acting, Spring Return: Head Flange (G)

CJ2G6 - sz

GB ¥ Mounting nut
Rod end nut NN Piping port M5 x 0.8 NN Cover surface
[1:] A+
| / /\ m E
e > v
A F NA NB FT
H S + Stroke F FX 2xeoFC
Z + Stroke Fz Mounting hole
CJ2G ]2 - [stroke| SZ
GB__ _

Piping port M5 x 0.8 4 Mounting nut Cover surface

O MM NN
[
2\ o
o3 //f imn N/ . f% m| >
= 7B
B, A | |[F||NA NB||_|FT FX 2xoFC
H S + Stroke F FZ Mounting hole
Rod end nut Z + Stroke
¥ For details of the mounting nut, refer to page 63. (mm]
Bre | A | B|C|D|F |FB|FC|FT |FX|FY|FZ|GB| H MM NA | NB NN
6 15 8 9 3 8 11 4.5 1.6 24 14 32 5 28 M3 x 0.5 3 9.5 M6 x 1.0
10 15 |12 14 4 8 13 4.5 1.6 24 14 32 o) 28 M4 x 0.7 4.8 9.5 M8 x 1.0
16 15 [18.3 20 5 8 19 5.5 2.3 33 20 42 5 28 M5 x 0.8 4.8 9.5 M10x 1.0
S r4
Ei(;ree 5to 16to | 31to | 46to | 61to | 76to | 101to | 126t0o | 5to 16to | 31to | 46to | 61to | 76t0o | 101to | 126to
15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st 30st | 45st 60st | 75st | 100st | 125 st | 150 st
s 37 46 50 64 _ _ _ _ 73 82 86 | 100 | _ _ _
42) | (51) | (55) | (69) (78) | (87) | (91) | (105)

10 45.5 53 65 77 = = = = 815 89 101 113 — — — —
16 45.5 54 66 78 84 108 126 138 81.5 90 102 114 120 144 162 174

#: () in S and Z dimensions: With auto switch

80



Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Single Acting, Spring Return: Double Clevis (D)

10
CJ2D ;¢ - [stroke| SZ

CJ2 series

Piping port M5 x 0.8 NB oCDHY"0™®
MM Rod end nut GB Clevis pin (acdd9-55e0) cJ1
& o
7 ¢ < 0 J X cJP
o;: 1% i | ~ o2
® = 8 B
Bs T ot (jom
H S + Stroke u cz9, JCM
Z + Stroke R
ZZ + Stroke CMZ
cm3
[mm] CG1
S
Boresize | A | B | C |[CD|CX|CZ| D |GB| H MM |NA|NB| R | U |5t [16t0[31to[461t0|61to[76t0 [101t0|126t0 |GG
(cd) 15 st| 30 st | 45 st | 60 st | 75 st|100 st|125 st|150 st
10 15 |12 14 33|32 |12 4 18 | 20 | M4x0.7 | 48 [225| 5 8 |45.5| 53 65 77 — — — — JMB
16 15 [183] 20 | 5 65183 5 | 23 | 20 | M5x0.8 | 48 [275| 8 10 |455| 54 66 78 | 84 | 108 | 126 | 138
Z 7z MB
Bore size 5to |16to|31to|46to|61to|76t0 |101to|126to| 5to [16to|31to|46to|61to| 76to |101to|126 to
15 st| 30 st | 45 st | 60 st| 75 st |100 st|125 st| 150 st| 15 st | 30 st | 45 st | 60 st | 75 st | 100 st| 125 st| 150 st MB1
10 73.5| 81 93 | 105 | — — — — | 785 | 86 98 | 110 | — — — —
16 75.5| 84 96 | 108 | 114 | 138 | 156 | 168 | 83.5| 92 | 104 | 116 | 122 | 146 | 164 | 176 CAZ
#: A clevis pin and retaining rings are included.
CS1
CS2
D-(1
-XO



CJ2 series

Single Acting, Spring Extend: Basic (B)

CJ2B6 - TZ

Rod end nut
MM Piping port 2 x M5 x 0.8
() .2
O Q =
i I 71
e ia A |
B Lft - &
= A F| [ NA NB
H + Stroke S + Stroke
Z + 2 x Stroke
cJ2B 18 - Z
16
¥ Mounting nut
Section Y .
Rod en:nr';’lln detail NN GA  Piping port M5 x 0.8
<
0 a §
R / - T
og| _f T T
o T I I
Bo N
03 A F | NA NB
H + Stroke S + Stroke
Z + 2 x Stroke
+¥r For details of the mounting nut, refer to page 63. (mm]
Bore size A B Cc D F GA H MM NA NB NDh8 NN T
6 15 12 14 3 8 14.5 28 M3 x 0.5 16 3 630 M6 x 1.0 3
10 15 12 14 4 8 8 28 M4 x 0.7 12.5 4.8 83w M8 x 1.0 =
16 15 18.3 20 5 8 8 28 M5 x 0.8 12.5 4.8 103022 M10x 1.0 —
S z
Bore size 5to 16to | 31to | 46to | 61to | 76to | 101to | 126to | 5to 16to | 31to | 46to | 61to | 76to | 101to | 126 to
15 st 30 st 45 st 60 st 75st | 100st | 125st | 150 st | 15st 30 st 45 st 60 st 75st | 100 st | 125 st | 150 st
6 465 | 555 | 595 | 735 | _ _ | 745 | 835 | 875 [ 1015 | _ _ _
(51.5) | (60.5) | (64.5) | (785) (79.5) | (88.5) | (92.5) | (106.5)
10 48.5 56 68 80 = = = = 76.5 84 96 108 — — — —
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169

82

#: () in S and Z dimensions: With auto switch



Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Single Acting, Spring Extend: Double-side Bossed (E)

CJ2E6 - TZ

Rod end nut

MM

)

Piping port 2 x M5 x 0.8

2
== i
T
A .F.] NA NB
H + Stroke S + Stroke F

Z + 2 x Stroke

CJ2 series

5
[
—

ol s (x]
DQI=E(=2 =
- N= o

MB1
Section Y detail csi
Rod end nut # Mountingnut Y GA  Piping port M5 x 0.8 detail
9 MM a NN CcS2
of 7z °
Dmf b el i
B.J{s A F|NA NB
H + Stroke S + Stroke F
Z + 2 x Stroke
¥ For details of the mounting nut, refer to page 63. fmm
Bore size A B C D F GA H MM NA NB NDh8 NN
6 15 12 14 3 8 14.5 28 M3 x 0.5 16 3 63010 M6 x 1.0
10 15 12 14 4 8 8 28 M4 x 0.7 12.5 4.8 8302 M8x 1.0
16 15 18.3 20 5 8 8 28 M5 x 0.8 12.5 4.8 103022 M10x 1.0
S r4
Bore size 5to 16to | 31to | 46to | 61to | 76to | 101to | 126to | 5to 16to | 31to | 46to | 61to | 76to | 101to | 126 to
15 st 30 st 45 st 60 st 75st | 100st | 125st | 150 st | 15 st 30 st 45 st 60 st 75st | 100 st | 125 st | 150 st
6 465 | 555 | 595 | 785 | _ _ _ _ | 825 | 915 | 955 | 1095 | _ _ _ _
(51.5) | (60.5) | (64.5) | (78.5) (87.5) | (96.5) | (100.5) | (114.5)
10 48.5 56 68 80 = = = = 84.5 92 104 116 — — — —
16 48.5 57 69 81 87 111 129 141 84.5 93 105 117 123 147 165 177

D-O
#: () in S and Z dimensions: With auto switch _x|:|

Technical
Data
83 ®



CJ2 series

Single Acting, Spring Extend: Single Foot (L)

CJ2L6 - TZ

Rod end nut

¥ Mounting nut

Cover surface MM NN F__GA Piping port M5 x 0.8
I/ a \: ( 2 %
S o I
© o 5| £ 5 i< 3 £
SN et ‘
T
LX A Al NB BSs 855
Lz XY [T NA
2x0LC H + Stroke S + Stroke Rod cover side Head cover side
Z + 2 x Stroke
10
caat 10 - Sivoke| 12
¥ Mounting nut
Cover surface Rod end nut NN \ F GA Piping port M5x 0.8
MM
; N\ a \ &
? @ i o /
f() | > | <3
- o
7 5] 3 H Y
0
‘ LX A 5 NA NB B-oa
Lz X Y
H + Stroke S + Stroke
Z + 2 x Stroke
2xoLC
Mounting hole
¥ For details of the mounting nut, refer to page 63. fmm]
Boresize | A B Cc D F |GA| H |LB|LC|LH|LT|LX|LY|LZ MM NA | NB NN T
6 15 | 12 14 3 8 145| 28 15 45 9 1.6 24 | 165 | 32 M3x05 | 16 3 M6 x 1.0 3
10 15 |12 14 4 8 8 28 15 | 45 9 16 | 24 | 165 | 32 M4x0.7 | 125 | 4.8 M8 x 1.0 —
16 15 | 183 ] 20 5 8 8 28 23 | 55| 14 | 23 | 33 |25 42 M5x0.8 | 125]| 48 | M10x1.0 | —
S z
Boresize | 5to | 16to | 31to | 46to | 61to | 76to [101to|126to| X 5to | 16to | 31to | 46to | 61to | 76to | 101to | 126 to
15st | 30st | 45st | 60st | 75st | 100 st | 125 st | 150 st 15st | 30st | 45st | 60st | 75st | 100 st | 125 st | 150 st
6 465 [ 555 | 505 [ 735 | _ | _ | _ | _ [ g4 745 | 835 | 875 [1015] | | _ [ _
(51.5) | (60.5) | (64.5) | (78.5) (79.5) | (88.5) | (92.5) |(106.5)
10 48.5 56 68 80 = = = = 5 76.5 84 96 108 = = = =
16 48.5 57 69 81 87 11 129 141 6 76.5 85 97 109 115 139 157 169

84

«: () in S and Z dimensions: With auto switch



Air Cylinder: Standard Type .
Single Acting, Spring Return/Extend CJ2 Series

Single Acting, Spring Extend: Double Foot (M)

CJ2M6 - TZ

H + Stroke
Rod end nut ¥ Mounting nut
Cover surface MM NN F GA Piping port 2 x M5 x 0.8
,,,,,, — [=] \
\ Q ; ﬁ
& ol > t i
ta| = o
ANE: L
T
[
LX 5l LA
Lz A X Y NA
4x0LC S + Stroke
Mounting hole LS + Stroke
Z + 2 x Stroke
10
Caom 13- vake| 72
H + Stroke MB1
Cover surface s Mounting nut  F |GA  Piping port M5 x 0.8 _F_ % Mounting nut
MM Rod end nut NN CA2
s \ a =

)k S HIs> cs1

m| > | T
O g2 + o
i i ‘ ‘ €S2
‘ LX ‘ A 5 NA NB |
Lz X Y Y X
S + Stroke
LS + Stroke
Z + 2 x Stroke
4x0LC
Mounting hole
¥ For details of the mounting nut, refer to page 63. fmm]
Bore LS
size A | D|F |GA|H |LB|LC|LH |5t |[16to|31to|46to|61to| 76to|101to|126to| LT | LX | LY | LZ MM
15st | 30st| 45st | 60 st | 75 st | 100 st | 125 st | 150 st
60.5 | 69.5 | 73.5 | 87.5
6 15 3 8 |[145]| 28 15 | 45 9 (65.5) | (74.5)| (78.5)|(101.5) — — — — 16 | 24 |165| 32 | M3x0.5
10 15 4 8 8 28 | 15 | 45 9 | 625 | 70 82 94 — = — — | 16 ] 24 |165| 32 | M4x0.7
16 15 5 8 8 28 | 23 | 55| 14 [ 665 | 75 87 99 | 105 | 129 | 147 | 159 | 2.3 | 33 |25 42 | M5x0.8
Bore S z
& NA|NB NN 5to [16to|31to|46to|61to| 76t0 [101to|126t0| X Y 5to [16to|31to|46to|61to| 76to |101to|126 to
15st| 30 st | 45 st | 60 st | 75 st | 100 st| 125 st| 150 st 15st| 30 st | 45 st| 60 st | 75 st |100st| 125 st| 150 st |[)-[]
46.5 | 55.5 | 59.5 | 73.5 86.5 | 95.5 | 99.5 |[113.5
6 63 M6 x 1.0 (51.5)((60.5)|(64.5)|(78.5)| - - - 5 7 (91.5)[(100.5)|(104.5)|(118.5)] B B - 'XD
10 [12.5/ 48| M8x1.0 | 485 | 56 68 80 = — = = 5 7 |885| 96 | 108 | 120 | — = = =
16 |12.5/ 4.8 |M10x1.0] 485 | 57 | 69 | 81 | 87 | 111 | 129 [ 141 | 6 | 9 |91.5] 100 | 112 | 124 | 130 | 154 | 172 | 184  [Technical

# ()in LS, S and Z dimensions: With auto switch | Dala

85



CJ2 Series

Single Acting, Spring Extend: Head Flange (G)

CJ2G6 - TZ

Rod end nut 2
MM NN % GA Piping port 2 x M5 x 0.8 % Mounting nut Cover surface
0 e
2 Q ¢l
o3 i L7 A [/ m| >
o HH -y = I\ ol i
B.os T FT FX 2xoFC
A F NA NB FZ Mounting
H + Stroke S + Stroke F hole
Z + 2 x Stroke
CJ26 | - [stroke| T2
16
Rod end nut NN ‘_.E_e Piping port M5 x 0.8 ¥ Mounting nut Cover surface
o, MM
J % Hii I
= (@ iy il el glz
o
2y o T
0 2xoFC
Bos A FT L2 Mounting
F | NA NB Fz hole
H + Stroke S + Stroke F
Z + 2 x Stroke
¥ For details of the mounting nut, refer to page 63.
[mm]
Iziozree A B o3 D F FB | FC FT FX FY FZ | GA H MM NA | NB NN
6 15 12 14 3 8 13 45 1.6 24 14 32 14.5 28 M3x0.5 | 16 3 M6 x 1.0
10 15 12 14 4 8 13 4.5 1.6 24 14 32 8 28 M4 x 0.7 12.5 4.8 M8 x 1.0
16 15 18.3 20 5 8 19 5.5 2.3 33 20 42 8 28 M5x0.8 | 12.5 4.8 M10x 1.0
S z
2?;: 5to 16to | 31to | 46to | 61to | 76to | 101to | 126to | 5to 16to | 31to | 46to | 61to | 76to | 101to | 126to
15 st 30 st 45 st 60 st 75st | 100st | 125st | 150st | 15st | 30st 45 st 60 st 75st | 100st | 125st | 150 st
6 465 | 555 | 595 | 735 | _ _ | 825 | 915 | 955 [ 1095 | _ _ _
(51.5) | (60.5) | (64.5) | (78.5) (87.5) | (96.5) | (100.5) | (114.5)
10 48.5 56 68 80 = = = = 84.5 92 104 116 — — — —
16 48.5 57 69 81 87 111 129 141 84.5 93 105 117 123 147 165 177

® 86

x: () in S and Z dimensions: With auto switch



Air Cylinder: Standard Type .
Single Acting, Spring Return/Extend CJ2 Series

Single Acting, Spring Extend: Rod Flange (F)

CJ2F6 - TZ

Rod end nut ¥ Mounting nut
Cover suface MM NN GA Piping port M5 x 0.8
o g o
S,
) m|> \ B .2 o3
& reE 7B ‘ L ;
FX A FT || NB B-os 893
FZ 2xoFC F_[T. NA
Mounting hole H + Stroke S + Stroke Rod cover side  Head cover side
Z + 2 x Stroke
cJ2F 19 _[stroke| TZ
16
Cover surface ¥ Mounting nut
MM Rod end nut NN GA  Piping port M5 x 0.8 o
| a i e

@ T - I o /

o
G
p=ry

(x]
C—
o

H <)

[=)
=
~

[=)
=
)

[}
D
-

[
D
w

e x i ! o3
& I y
EX A FT NB B
Fz 2xoFC F.|NA
Mounting hole H + Stroke S + Stroke

Z + 2 x Stroke

¥ For details of the mounting nut, refer to page 63.

[mm]

S 4
Zozr: A|B|C|D|F FB|FC|FTFX|FY|FZ|GA/H| MM [NA|NB| NN |T |5to|161to[31to|46 to|61 to| 7610 (101 to[126 o] 5 to 16 to|31 to|46 to|61 to| 760|101 to|126to
15 st|30 st |45 st[60 st|75 st|100 st|125 st|150 st| 15 st|30 st|45 st|60 st|75 st|100 st] 125 st|150 st

465555 |595( 735 745835 87.5| 1015
6 151 [14|3|8|13]45|16|24|14(32 15|28 |M3x05(16 [3 |M6x1.0|3 o1 005 64| res | — | — | | | s s e s | — | — | — | —
10 [15[f [14] 48 [13[45[16]24[14]32] 8 |28[M4x0.7[125]48|M8x1.0|—[485|56 |68 [80 | — | — [ —|—[765|84[96 [108]| — [ —| —|—

16 15[183]20| 5| 8 [19]55|23|33]20|42| 8 |28|M5x 0.8|125|4.8|M10x1.0{—|485|57 | 69 | 81 |87 |111]129|141]765| 85 | 97 | 109 | 115|139 | 157 | 169
#: () in S and Z dimensions: With auto switch

Single Acting, Spring Extend: Double Clevis (D)

10
CJ2D ;¢ - [Stroke| TZ SCDHO™

Clevis pin (ecding 828)

Rod end nut GA  Piping port M5 x 0.8 NB
o MM 9
o o . i %
- / S, [ i ] o
-3 | e Wi = 3 B2
o e I [3)
B, LA |NA | cxiet
H + Stroke S + Stroke U cz.0
-0.3
Z + 2 x Stroke R
ZZ + 2 x Stroke

=2 A clevis pin and retaining rings are included. (mm]

S
CX|CZ| D |[GA| H MM NA|NB| R | U |5t [16to|31to(46to|61to|76t0|101to|126t0

CcD
(cd) 15 st| 30 st | 45 st | 60 st | 75 st |100 st|125 st| 150 st

Bore size A B |C

10 15 |12 14 1 33[32 |12 4 8 |28 | M4x0.7 |[125]178| 5 8 1485|656 | 68 | 80 | — | — | — | —
16 15 /183|120 | 5 6.5 |183| 5 8 | 28 | M5x0.8 [125]228| 8 | 10 |485| 57 | 69 | 81 87 | 111129 | 141
r4 Y74

Bore size | 5to |16to|31to|46to|61to|76to [101to|126to| 5to |16to|31to|46t0|61to| 7610 |101to|126to
15 st| 30 st | 45 st | 60 st| 75 st [100 st|125 st| 150 st| 15 st | 30 st | 45 st | 60 st | 75 st | 100 st|125 st| 150 st
10 845| 92 | 104 | 116 | — | — — — |895| 97 [ 109 | 121 | — — — | —
16 86.5| 95 | 107 | 119 | 125 | 149 | 167 | 179 | 94.5 | 103 | 115 | 127 | 133 | 157 | 175 | 187




Air Cylinder: Non-rotating Rod Type
Double Acting, Single Rod

210, 216

B cJu2KB
MCDJZK

With auto switch (Built-in magnet)

How to Order

s

Z-
Z-

CJ2K series

F@!?

o Mounting 0 Bore size e Cylinder standard stroke [mm]
B Basic [10] 10 mm | Refer to “Standard Strokes” on page 89.
E Double-side bossed [16] 16 mm |
D#** Double clevis
L Single foot 0 Head cover port location e Pivot bracket @ Rod end bracket
M Double foot Pemendicular to Nil None Nil None
F Rod flange Nil P axis § - N | Pivotbracket is shipped Vv Single knuckle joint
G Head flange - together with the product. W Double knuckle joint
#: Foot/Flange brackets are shipped = Only for the double clevis type T Rod end cap (Flat type)
together with the product, but not R Axial § = #: Pivot bracket is shipped together V) Rod end cap (Round type)
assembled. . with the product, but not assembled. . Rod end bracket is shipped together

=i Refer to page 151-1 for the double
clevis (with one-touch connecting pin).

o Auto switch

Ni Without auto switch

= For applicable auto switches, refer

#: For double clevis, the product is
perpendicular to the cylinder axis.

#: For double-side bossed, the product
is perpendicular to the cylinder axis.

9 Number of auto switches

to the table below. Nil 2 pes.

* Enter the auto switch mounting S = 1" pC.
type (A or B) even when a built-in n n” pcs.
magnet cylinder without an auto
switch is required.

= Refer to “Ordering of Cylinder A y” on page 89.

9 Auto switch mounting type

[A]

Rail mounting

[B]

\
Band mounting \

*

For rail mounting, screws and

nuts for 2 auto switches come
with the rail.

*

Refer to page 148 for auto

switch mounting brackets.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

with the product, but not assembled.
= Refer to page 63 for the double knuckle
joint (with one-touch connecting pin).

@ Made to Order
Refer to page 89 for details.

Electical ? Wiring Load voltage Auto switch model Lead wire length [m] e | At
Type| Special function 2 Band mounting Rall mounting 05| 1| 3|5 [None
ey | §|©ueuy) DG AC Im in-ine | in-ine | (NI | (V)| (L) | 2) |y | oeer | lead
3-wire (NPN) 5V 12V MONV M9N M9NV M9N ® | ® ® O|—| O G cireut
£ - Grommet| | 3-wire (PNP) ! M9PV M9oP M9PV M9P ® @@ O0|—| O
'§ 2-wire 12V M9BV M9B M9BV M9B ® ® & O|—| O _
@ Connector — H7C J79C — o — 0o/ 0 —
g - S| [ MONWV | MINW [MINWV | MONW [ @ [@[@[O[—[ O [, . .l
|| Diagnostic indication Ves|zwie (PNP)[24 V[° V' —  [moPWV | M9PW [MOPWV| M9PW | @ @ |@|O|—| o | o™ Rely
@ | (2-color indicator) . PLC
s 2-wire 12V M9BWV | M9BW |M9BWV | M9BW | @ @ @ O |—| O —
g Water resistant Grommet 3-wire (NPN) 5V 12V MYNAV*1| MONA*! IMONAV*'| MONA*' | O |[O | @ |O|—| O G cireut
3 (2-color indicator) 3-wire (PNP) ! MYPAV*1| MOPA*! IMOPAV*!| MOPA*' | O |O | @ |O|—| O
L 2-wire 12V M9BAV*'| M9BA*' [M9BAV*'| M9BA*' | O |O | @ |O|—| O -
Wit dgnosicouput (el indiator 4-wire (NPN) 5V,12V — H7NF — F79F | @ |— @ |O|—| O |ICcircuit
5 | | 5V | — | A9V | A% | AdeV | A% | @ |— @ —|—| — |comi —
H Grommet|" — [ 200V — — A72 | A72H (@ [—[@|—[— _
o —_— L 100V | A93V*2 A93 A93V#2 A93 ® o 00 — | —
2 No 2-wire 12v 100 Vorless| A90V A90 A90V A90 ® |— | ®|—|—| — |Cciu Relay,
3 Connedorﬁ 24 V| — C73C A73C o — 0o/ 0 — — | PLC
2 No 24V orless — C80C A80C — ® | — ® ® ® — |Ccicu
Diagosic deaon (2<olorindealo] | Grommet |Yes — — — — A79W = o — 0| —|—| — —

«1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
#2: 1 m type lead wire is only applicable to D-A93.

#: Lead wire length symbols: 0.5 m-
im

3m-

Nil (Example) MONW
M (Example) MONWM
L (Example) MONWL

#: Since there are other applicable auto switches than listed, refer to page 149 for details.
+: Solid state auto switches marked with “O” are produced upon receipt of order.
#: The D-A90/MITI/A70/AB0CI/F70/70] auto switches are shipped together, but not assembled. (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

® 88

z
N

(Example) MONWZ
(Example) H7CN



Air Cylinder: Non-rotating Rod Type
Double Acting, Single Rod

A cylinder which rod does not
rotate because of the hexagonal
rod shape.

Non-rotating accuracy
210: £1.5°, 16: £1°
Can operate without
lubrication.

ﬁ\i////
P |

Symbol
Double acting, Single rod, Rubber bumper

to!
“"gﬁ’fer Made to Order: Individual Specifications

(For details, refer to page 150.)

CJ2K series

Specifications
Bore size [mm] 10 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1 MPa
operating pressure 0.7 MPa c'"
operating pressure 0.06 MPa CJP

Ambient and fluid temperature

Without auto switch: —10°C to 70°C

With auto switch: ~10°C to 60°C (N €Zing)

Symbol Specifications
-X446 | PTFE grease

-X2838 | Double clevis (With one-touch connecting pin)

Made to Order

Click here for details

Symbol

-XA[] | Change of rod end shape

-XC3 | Special port location

-XC9 | Adjustable stroke cylinder/Adjustable retraction type

-XC10 | Dual stroke cylinder/Double rod type

Cushion Rubber bumper m
Lubrication Not required (Non-lube)
Stroke length tolerance 10 JCM
Rod non-rotating accuracy +1.5° ‘ +1° CMZ
Piston speed 50 to 750 mm/s
Allowable kinetic energy 0.035J ‘ 0.090J
CM3
Standard Strokes Ca1
———————
(mml | CG3
Bore size Standard stroke
10 15, 30, 45, 60, 75, 100, 125, 150 JMB
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200
MB

#: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

=: Please consult with SMC for strokes which exceed the standard stroke length.

-XC22 | Fluororubber seal

-XC51 | With hose nipple

-XC85 | Grease for food processing equipment

A\ Precautions

1 Refer to page 152 before handling. 1

Ordering Example of Cylinder Assembly

Cylinder model: CDJ2KD16-60Z-NW-M9BW-B

Double clevis

Band mounting

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

#: Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

=: Applicable strokes should be confirmed according to the usage. For details, refer to “Air MB1
Cylinders Model Selection” on front matter pages. In addition, the products that exceed the
standard stroke might not be able to fulfill the specifications due to the deflection etc. CA2
. . CS1
Mountlng and AcCCeSSONieS o i telstlraceis and pae 1o cetas abut pat d
@--Mounted on the product. O-:-Can be ordered within the cylinder model. _A---Order separately. csz
. . Double  [Double clevis
Mounting Basic Foot Flange clevis | Tae)
g Mounting nut [ ] [ ] [ — —
g Rod end nut [J [ ] [ ] [
& | Clevis pin (including retaining rings) — — — [ [ J
Double clevis (With one-touch connecting pin) A A A O (-X2838) | O (-X2838)
Single knuckle joint O O O O o
& | Double knuckle joint (including a pin and retaining rings) O O O o o
8 Double knuckle joint (With one-touch connecting pin) A A A A A
Rod end cap (Flat/Round type) O O O O O
Pivot bracket (T-bracket) — — — O [ J
Mounting Brackets/Part No.
—
Bore size [mm]
Mounting bracket
10 16
Foot CJ-Lo16C CJK-LO16C
Flange CJ-Fo16C CJK-FO16C
Pivot bracket (T-bracket)*! CJ-T010C CJ-To16C
#1: The pivot bracket (T-bracket) is used with double clevis (D).
Refer to pages 142 to 149 for cylinders with auto switches. D_D
* Auto switch proper mounting position (detection at stroke end) and its mounting height
* Minimum stroke for auto switch mounting -XOd
* Operating range -
perating fange Technical
 Auto switch mounting brackets/Part no. Dita


http://www.smcworld.com/products/en/custom.do

CJ2K series

Weights
——
lal
Bore size [mm] 10 16
Basi ah Basic 25 47
(\E?]Ignv\ﬁlg s:roke Axial piping - - — 25 a7
is zero) Double .c\ews (including clevis pin) 27 55
Head-side bossed 29 50
Additional weight per 15 mm of stroke 4 7
Single foot 8 25
Mounting bracket | Double foot 16 50
weight Rod flange 5 13
Head flange 5 13
Clevis pin 1 3
One-touch connecting pin for
N 2 4
double clevis
Single knuckle joint 17 23
Double knuckle joint 25 21
Accessories (including knuckle pin)
Double knuckle joint 26 2
(With one-touch connecting pin)
Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
Pivot bracket (T-bracket) 32 50

#: Mounting nut and rod end nut are included in the basic weight.

#: Mounting nut is not included in the basic weight for the double clevis.

Calculation:

Example) CJ2KL10-45Z

® Basic weight -
© Additional weight
® Cylinder stroke -

©® Mounting bracket weight --- 8 (Single foot)

25+4/15x45+8=45¢g

Construction (Not able to disassemble)

<&

Rod section

AN/

g

\A

A1l

Component Parts

%W

-

With auto switch

No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy 9 | Rod seal NBR
2 | Head cover Aluminum alloy 10 | Piston seal NBR
3 | Cylinder tube Stainless steel 11 | Tube gasket NBR
4 | Piston rod Stainless steel 12 | Wear ring Resin
5 | Piston A Aluminum alloy 13 | Mounting nut Rolled steel
6 | PistonB Aluminum alloy 14 | Rod end nut Rolled steel
7 | Piston Aluminum alloy 15 | Magnet —
8 | Bumper Urethane

® 90



Basic (B)

Air Cylinder: Non-rotating Rod Type
Double Acting, Single Rod

CJ2KB }g - ‘Stroke‘ ‘Head cover port location| Z

CJ2K Series

5
[
—t

CJP
3¢ Mounting nut
v 2
Section Y detail NN GA  Piping port 2 x M5 x 0.8 GB_
QOV' Rod end nut 000 JCM
3 #gi 1 _: 3 cM2
o 4& m )
: s wf |\ cM3
BASs _ A | |F|NA NB BB.{s
Rod section H S + Stroke CG1
Z + Stroke
CG3
Piping port M5 x 0.8 |:
(] ; W
INS%
He mB_
Head cover port location MB1
Axial location (R)
#: The overall cylinder length does not change. CAZ
¥ Refer to page 63 for details of the mounting nut. (SNJ-016C for 210, SNKJ-016C for o16) (mm cs1
Boresize | A |BA| BB | CA | CB| F |[GA | GB| H | KA MM NA | NB NDh8 NN S r4
10 15 |15 |12 | 17 | 14 | 8 | 8 | 5 | 28 | 42 | M4x07 | 125| 95 | 1050w | M10x10 | 46 | 74 |CS2
16 15 [ 183 [ 183 20 | 20 | 8 8 5 | 28 | 52 | M5x08 | 125 | 95 | 125, | M12x1.0 | 47 | 75
Double-side Bossed (E)
cJ2ke 12 - z
Section Y detail - YY Section YY detail
% Mounting nut GA  Piping port 2 x M5 x 0.8 GB_ NN
Q(‘ Rodendnut NN
<3 y y
@ <
Y 4 MM/ ‘%u
B,D
= Rod section LA, [FINA INB|
H S + Stroke F
Z + Stroke
D-O
¥ Refer to page 63 for details of the mounting nut. (SNJ-016C for 810, SNKJ-016C for 016) fmmi
Boresize | A B C F GA | GB H KA MM NA | NB NDh8 NN S z -XO
10 15 15 17 8 8 5 28 4.2 M4 x 0.7 12.5 9.5 10_5 020 M10x 1.0 46 82 Technical
16 15 | 183 | 20 8 8 5 28 | 52 M5x0.8 | 125 | 95 128 007 M12x10 | 47 | 83 |l

91



CJ2K series

Double Clevis (D)

10
CJ2KD ¢ - [Stroke| Z

Piping port 2 x M5 x 0.8 NB WCDHQ*g 030
Rod end nut GA GB__| /Clevis pin (ocdd9 3%%)
% MM D
: $
@ /W T it
< ~ >
o // ; o
BAL A NA CX3t
-0.3 [e—! |——
Rod section H S + Stroke u BB.0s
Z + Stroke R
ZZ + Stroke
2 A clevis pin and retaining rings are included. {mm
Boresize | A | BA | BB | CA | CB |CD(cd)) CX | GA | GB | H | KA MM NA | NB | R S U Z | 2Z
10 15 15 12 17 14 3.3 3.2 8 18 28 4.2 M4 x 0.7 125 | 22.5 5 46 8 82 87
16 15 | 18.3 | 183 | 20 20 5 6.5 8 23 28 5.2 M5 x 0.8 12.5 | 27.5 8 47 10 85 93
Single Foot (L)
—————————
CJ2KL ]g - ‘Stroke‘ ‘Head cover port location| Z
View E
Rod end nut F_|GA v Mounting nut
Cover surface oc.end nu NN Piping port 2 x M5 x 0.8 GB -
Y MM 2,
, § $
K(} m| > ‘ﬁ // ) i 1k CEE /
a o
577 A8 Sy Y Yy
I I T
BA BB.)
LX ‘ = ] >
Lz Rod section A
View E T
X Y | NA NB
2xoLC =
Mounti H S + Stroke
ounting hole
C Z + Stroke
. ax
l
Head cover port location
Axial location (R)
#: The overall cylinder length does not change.
¥ Refer to page 63 for details of the mounting nut. (SNJ-016C for 810, SNKJ-016C for 616) (mm]
Boresize | A |[BA|BB|CA|CB| F |GA|GB| H |[KA|LB|LC|LH|LT|LX|LY|LZ| MM |NA/NB| NN S| X|Y|Z
10 15|15 |12 |17 |14 | 8 | 8 | 5 |28 (4.2|215|/55| 14 |2.3| 33 | 25 | 42 |[M4x 0.7 |125(9.5 [M10x1.0/ 46 | 6 | 9 | 74
16 15 (18.3|183| 20 |20 | 8 | 8 | 5 |28 |52|23 |55 | 14 |2.3| 33 |25 |42 |M5x0.8(125|9.5 M12x1.0|47 | 6 | 9 | 75

92



Air Cylinder: Non-rotating Rod Type .
Double Acting, Single Rod CJZK Series

Double Foot (M)

cJ2km 12 - [stroke| z

=
5
[
—t

Fla ¥ Mounting nut
Rod end nut Ly
Cover surface 7MM NN Piping port 2 x M5 x 0.8 GB_F ¥ Mounting nut CJP
, =\ N Lo O
-
¥\ 3 < Y J JCM
: + X i T
Lx 5 ]
Lz Rod section "T -'T oM2
A
v | NA NBlY| | X cm3
4x0FC S + Stroke
Mounting hole LS + Stroke CG1
{57, Z + Stroke

¥ Refer to page 63 for details of the mounting nut. (SNJ-016C for 810, SNKJ-016C for 616)

HUAL

[mm]
Bore size A | F |GA|IGB|H |[KA|LB|LC|LH|LS|LT |LX|LY |LZ MM NA | NB NN S Y4
10 15| 8 8 5 | 28 |42 |215/55| 14 | 64 |23 | 33 | 25 | 42 | M4x 0.7 |125| 95 |[M10x1.0| 46 | 6 9 | 89
16 15 | 8 8 5 | 28 |52|23 55| 14 | 65 23|33 | 25 | 42 | M5x0.8 |[125| 9.5 |M12x1.0| 47 | 6 9 | 90
CA2
Rod FIange (F)
CS$1
CJ2KF }g - ‘Stroke‘ ‘Head cover port location| Z
€S2
View E
¥ Mounting nut
Cover surface . Rod end nut NN |GA  Piping port 2 x M5 x 0.8 GB__ °
§ \ S
Doz G mials g
SR A s g 8, M
>4 MM/
EX BAS, BB.Gs
Fz 2xoFC ) Rod section T
Mounting hole Vjew E A F | NA EB,
H S + Stroke
Z + Stroke
Piping port M5 x 0.8
Head cover port location
Axial location (R)
«: The overall cylinder length does not change.
¥ Refer to page 63 for details of the mounting nut. (SNJ-016C for 810, SNKJ-016C for 616) i
mm.
Bore size A |BA|BB|CA|CB| F |FB|FC |FT |FX|FY |FZ |GA|GB| H |[KA MM NA |NB NN s | Z
10 15 |15 [12 17 | 14 | 8 |175/ 55|23 | 33 | 20 | 42 | 8 5 | 28 | 42| M4x0.7 |[125]| 9.5 |[M10x1.0| 46 | 74 D-D
16 15 1183|183/ 20 | 20 | 8 |19 | 55|23 |33 |20 |42 | 8 5 |28 |52| M5x0.8 |125| 9.5 |IM12x1.0| 47 | 75 XI:l



CJ2K series

Head Flange (G)

10
CJ2KG {g —[Stroke|Z

NN GA  Piping port 2 x M5 x 0.8 GB__ _ . Mounting nut Cover surface
0(, Rod end nut ‘\ NN
[ % L i |0
o3 % y ﬁ% o >
J < K/l {\ W
T >4 MM/ =
B, A F | NA NB FT FX 2 aFC
: Rod section H S + Stroke F FZ e
ounting
Z + Stroke hole
¥ Refer to page 63 for details of the mounting nut. (SNJ-016C for 810, SNKJ-016C for @16) i
Bore size A | B|C F |FB|FC | FT |FX |FY |FZ |GA |GB| H | KA MM NA | NB NN S 4
10 15 |15 17 8 |175| 55|23 | 33 | 20 | 42 8 5 28 | 42 | M4x0.7 |125| 95 | M10Ox1.0 | 46 | 82
16 15 |18.3] 20 8 |19 55|23 | 33 | 20 | 42 8 5 28 | 52 | M5x0.8 |125| 9.5 | M12x1.0 | 47 | 83

94



Air Cylinder: Non-rotating Rod Type
Single Acting, Spring Return/Extend

CJ2K series

210, 216

B cKE
(LN CDJ2K(B

With auto switch (Built-in magnet

How to Order

T

AN

E

«=: Refer to page 151-1 for the double
clevis (with one-touch connecting

#: For double clevis, the product is
perpendicular to the cylinder axis.

not assembled.

with the product, but not assembled.
=+ Refer to page 63 for the double knuckle

MB1

0 Mounting 9 Bore size e Cylinder standard stroke [mm)] Q Action
B Basic ‘ 10 ‘ 10 mm ‘ Refer to “Standard Strokes” on ‘ S ‘ Single acting, Spring return ‘ CM3
E Double-side bossed [16] 16 mm | Page 9. T [ Single acting, Spring extend |
D** Double clevis CG1
L Single foot e Head cover port location 6 Pivot bracket 0 Rod end bracket
M Double foot p dicul Nil None Nil None CG3
F Rod flange Ni | Perpendicularto 8. Pivot bracket is shipped v Single knuckle joint
G Head flange axis > N together with the product. Wik Double knuckle joint JMB
«: Foot/Flange brackets are shipped «: Only for the double clevis type T Rod end cap (Flat type)
together with the product, but not R Axial § Y o +: Pivot bracket is shipped U Rod end cap (Round type)
assembled. . together with the product, but + Rod end bracket is shipped together MB

pin).

#: For double-side bossed, the product

joint (with one-touch connecting pin).

is perpendicular to the cylinder axis.
e Auto switch *: Not applicable to single acting, @ Auto switch mounting type m Made to Order CA2
Nil Without auto switch spring extend (T). [A] Rail mounting | Referto page 96 for details.
«: For applicable auto switches, 9 Number of auto switches [B] : Band‘mounting | Cs1
refer to the table below. - =: For rail mounting, screws
* Enter the auto switch mounting type (A or Nil 2 pes. and nuts for 2 auto switches csz
B) even when a built-in magnet cylinder S 1pc. come with the rail.
without an auto switch is required. n “n” pcs. «: Refer to page 148 for auto
switch mounting brackets.
+: Refer to “Ordering of Cylinder A y” on page 96.
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
5| Load volta Auto switch model Lead wire length [m
Type| Special function B E pinng . % Band mounl:ings i Radllemoummg 0,e5 1 eae g5 No:e Preuired)| Applicable
entry § (Output) DC AC ; Indine |7 indine 1 (NIl [(M)| ©) | @ [(N) connector load
3-wire (NPN) 5V12V MONV M9N MINV M9N ® /@ O|—| O 1C cireut]
£ - Grommet|  |3-wire (PNP) ’ M9PV M9P M9PV M9P ® ® @ O —| O
= . M9BV M9B M9BV M9B ® | ® 0 O —| O
2 2-wire 12V —
13 Connector — H7C J79C = e — o0 0 —
.g Diagnostic indication 3-wire (NPN) 5Vi2V MONWV | MONW |MONWV | MONW | @ (@ | ®@ O |—| O 1C cireut| Rel
5 (2?colov indicator) Ves|3-ire (PNP) [24 V| — M9PWV | M9PW [M9PWV | MOPW | @ (@@ |O[—| © F?Lacy'
k] 2-wire 12V M9BWV | M9BW |M9BWV | M9BW © @ @ O | —| O —
g Water resistant Grommet|  |3-wire (NPN) 5V12V MINAV*'| MONA*' |MINAV*'| MONA*' | O |O | @ |O|—| O 1C circuit
5| (2-color indicator) Sire (PNP) ' MOPAV*| MOPA*' [MGPAV*'| MOPA*' | O |O |@|O[—| O
) 2-wire 12V M9BAV*'| M9BA*! IM9BAV*'| MOBA*' | O |O |@ O |—| O —
Wih iagnostic output (-l indictor) 4-wire (NPN) 5V,12V — H7NF F79F ® | —|®| 0 |— O |[ICcircut
£ 3”:’""/ |5V | — | A%V | A9 | A%V | A% | @ |—|®@| —|—| — [Comi| —
H Grommet| '~ — [ 200v — — A72 | A72H (@ [—|@®|—|— _
o —_— L | 100V | A93V*2 A93 A93V+#2 A93 ® o0 0 — —
‘é No 2-wire 12v 100 Vorless| A90V A90 A90vV A90 ® |— @ |—|—| — |Cciu Relay,
3 comector € 24V — C73C | A73C o —|ejej®| — | — |[PC
& N 24V orless — c80C A80C — ® | —|® ® ® — |Ccirut
Diagnosic indieation (2o0ior ndieao) | Grommet |Yes| — — — — A79W — e — e —|—| — —
+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
#2: 1 m type lead wire is only applicable to D-A93. D'I:l
*: Lead wire length symbols: 0.5 m-- - Nil (Example) MONW -~ Z (Example) MONWZ
1 - M (Example) MONWM - N (Example) H7CN 'XD
3m- - L (Example) MONWL
*: Since there are other applicable auto sxlw}(:hes than listed, refer to page 149 for details. Technical
olid state auto switches marked with “O” are produced upon receipt of order. lala

*: The D-A90/M9LI/A7CI/AB0LI/F701/J70] auto switches are shipped together, but not assembled. (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

95 ®



CJ2K series

- g Specifications
A cylinder which rod does not =
rotate because of the hexagonal Bore size [mm] 10 16
rod shape. Action Single acting, Spring return/Single acting, Spring extend
Fluid Air
Non-rotating accuracy Proof pressure 1 MPa
210: +1.5°, 616: £1° Maximum operating pressure 0.7 MPa
Can operate without Minimum operating pressure 0.15 MPa
Iubrication. Ambentand i tomperatre | o el 100 20 S o reezng
:;';zgd Cushion Rubber bumper (standard equipment)
Lubrication Not required (Non-lube)
A Stroke length tolerance 10
"3)’ - Rod non-rotating accuracy +1.5° ‘ +1°
A= Piston speed 50 to 750 mm/s
Spring return Allowable kinetic energy 0.035 J [ 0.090 J
Symbol
oI e 2hge g Spingexend Standard Strokes Spring Reaction Force
4] I [mm}
[ = V‘ M W Bore size Standard stroke Refer to page 1899 (Table (2): Spring
‘ ‘ 10 15, 30, 45, 60 Reaction Force).

Made 10| . _—

order | Made to Order: Individual Specifications
(For details, refer to page 150.)

Symbol Specifications

-X446 | PTFE grease

-X2838 | Double clevis (With one-touch connecting pin)

Made to Order

Click here for details

Symbol Specifications

-XA[ | Change of rod end shape

-XC51 | With hose nipple

-XC85 | Grease for food processing equipment

16 15, 30, 45, 60, 75, 100, 125, 150

5

: Manufacture of intermediate strokes in 1 mm
increments is possible. (Spacers are not used.)

: Please consult with SMC for strokes which
exceed the standard stroke length.

: Applicable strokes should be confirmed
according to the usage. For details, refer to
“Air Cylinders Model Selection” on front matter
pages. In addition, the products that exceed
the standard stroke might not be able to fulfill
the specifications due to the deflection etc.

*

%

i i /Refer to page 42 for the st of brackets and page 83 for detalls about part 1 d
Mounting and Accessories

A Precautions

1 Refer to page 152 before handling. 1

Ordering Example of Cylinder Assembly

Cylinder model: CDJ2KD16-45SZ-NW-M9BW-B

Double clevis

Auto switch
Band mounting

Pivot bracket

Double knuckle joint

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

= Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

© 96

@:--Mounted on the product. O---Can be ordered within the cylinder model. A---Order separately.

. . Double | Double clevis
Mounting Basic Foot Flange clevis | g Hrace)

2 |Mounting nut [ ] [ ) [ ] — —

2 |Rod end nut [ ] [ ] [ ] [ ] [ ]

@ | Clevis pin (including retaining rings) — — — [ ] [ ]
Double clevis (With one-touch ing pin) A A A O (-X2838) | O (-X2838)
Single knuckle joint O O O [©) [©)

é Double knuckle joint (including a pin and retaining rings) O @) [©) o o

8— Double knuckle joint (With one-touch connecting pin) A A A A A
Rod end cap (Flat/Round type) O O O O @)
Pivot bracket (T-bracket) — — — O [ ]

Mounting Brackets/Part No.
—
Bore size [mm]
Mounting bracket
10 16

Foot CJ-L016C CJK-LO16C
Flange CJ-Fo16C CJK-FO16C
Pivot bracket (T-bracket)*! CJ-To10C CJ-T016C

#1: The pivot bracket (T-bracket) is used with double clevis (D).

Refer to pages 142 to 149 for cylinders with auto switches.

* Auto switch proper mounting position (detection at stroke end) and its mounting height
* Minimum stroke for auto switch mounting

* Operating range

* Auto switch mounting brackets/Part no.



http://www.smcworld.com/products/en/custom.do

Air Cylinder: Non-rotating Rod Type
Single Acting, Spring Return/Extend

CJ2K series

Weights
——
Spring Return [g] Spring Extend [g]
Bore size [mm] 10 16 Bore size [mm] 10 16
DUl e | Do e, DUl e | DO e,
. . | Axial | clevis . | Axial | clevis : . | Axial | clevis . | Axial | clevis
Mounting Basic| . . side |Basic| .. |. ide Mounting Basic| . . side |Basic| .. |. side
piping | (including bossed piping | (including bossed piping | (including bossed piping | (including bossed
clevis pin) clevis pin) clevis pin) clevis pin)
15 stroke 30 | 30 30 31 | 64 | 64 70 66 15 stroke 29 | 29 31 31 | 64 | 64 72 69
30 stroke 38 | 38 38 39 | 79 | 79 86 81 30 stroke 35 | 35 37 38 | 79 | 79 86 83
% 45 stroke 48 | 48 48 49 | 97 | 97 | 104 | 99 % 45 stroke 44 | 44 46 46 | 95 | 95 | 103 | 99
K] 60stroke | 58 | 58 | 58 | 59 | 116|116 | 122 | 118 2 60stroke | 52 | 52 | 54 | 55 [ 111|111 | 119 [ 115
2 75 stroke 138 | 138 | 144 | 140 -2 75 stroke 133|133 | 140 | 137
S 100 stroke 171|171 | 178 | 173 S 100 stroke 163|163 | 170 | 167
125 stroke 209|209 | 215 | 211 125 stroke 198 | 198 | 206 | 202
150 stroke 232|232 | 238 | 234 150 stroke 219|219 | 227 | 223
mg, Single foot 8 25 mg, Single foot 8 25
-§ 2| Double foot 16 50 § 2| Double foot 16 50
=i =
3 % Rod flange 5 13 3 % Rod flange 5 13
& | Head flange 5 13 & | Head flange 5 13
Clevis pin - | — 1 — | = | = 3 — Clevis pin o 1 — | = | = 3 .
One-touch connecting One-touch connecting
! Cl— =] 2 | === 4 | = == 2 | === 4 | =
pin for double clevis pin for double clevis
Single knuckle joint 17 23 Single knuckle joint 17 23
Double knuckle joint Double knuckle joint
@ |(including knuckle pin) 25 21 @ |(including knuckle pin) 25 21
5 : 5 "
2 Double knuckle joint (With 26 2 2 Double knuckle joint (With 26 2
@ |one-touch connecting in) @ |one-touch connecting in)
< Rod end cap 1 > < Rod end cap 1 >
(Flat type) (Flat type)
Rod end cap 1 > Rod end cap 1 >
(Round type) (Round type)
Pivot Bracket 32 50 Pivot Bracket 32 50

(T-bracket)

(T-bracket)

«- Mounting nut and rod end nut are included in the basic weight.

=2 Mounting nut is not included in the basic weight for the double clevis.

Calculation:

Example) CJ2KL10-45SZ

*Basic weight

*Cylinder stroke
*Mounting bracket weight-

.48 (010)
-45 stroke
-8 (Single foot)

48+8=569

#: Mounting nut and rod end nut are included in the basic weight.
=2 Mounting nut is not included in the basic weight for the double clevis.

Calculation:

Example) CJ2KL10-45TZ

*Basic weight

*Cylinder stroke-
*Mounting bracket weigh

---8 (Single foot)

44+8=52g

o
G
pry

(x]
C—
-}

H <)

[=)
=
~

o
=
)

[}
D
-

[
D
wW

ollolloll=zll=ls
IR S =
RN||=|(|R||R|P| =



CJ2K series

Construction (Not able to disassemble)

] fmf

& SETTEN
Rod section \

Single acting, Spring return

With auto switch

Single acting, Spring extend

[l G | . [
Rod section t 4 H

With auto switch

Component Parts

No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy 10 | Tube gasket NBR
2 | Head cover Aluminum alloy 11 | Wear ring Resin
3 | Cylinder tube Stainless steel 12 | Return spring Piano wire
4 | Piston rod Stainless steel 13 | Spring seat Aluminum alloy
5 | Piston A Aluminum alloy 14 | Mounting nut Rolled steel
6 | Piston B Aluminum alloy 15 | Rod end nut Rolled steel
7 | Piston Aluminum alloy 16 | Magnet —
8 | Bumper Urethane 17 | Rod seal NBR
9 | Piston seal NBR

98



Air Cylinder: Non-rotating Rod Type .
Single Acting, Spring Return/Extend CJZK Series

Single Acting, Spring Return: Basic (B)

CJ2KB }g - ‘Stroke‘ S ‘Head cover port Iocation‘ 4

Piping port M5 x 0.8

Head cover port location
Axial location (R)
#: The overall cylinder length does not change.

Section Y detail ) GB__
Y ¥« Mounting nut Piping port M5 x 0.8
Rodendnut  \\ &

MM 1 ) -+ 7 p
< q
@ < L‘ o /

T X \,
BA S, . NB BB.S
Rod section A F | | .NA INB| 03
H S + Stroke
Z + Stroke

¥ For details of the mounting nut, refer to page 63.

HSEHBE B

[mm]
Bore S z MB1
- A BABB|CAICB| F |GB|H KA| MM |[NANB|NDh8| NN |5to [16t0|31to|46to(61to|76t0(101to| 126t | 5to [16t0|31to(46t0|61to| 7610 10110 126t
15st| 30t |45st|60st|75st| 100st | 125st| 150st | 15t |30 st| 45 st |60 st|75 st | 100st| 125st | 160st
10 [15]15 [12 [17]14] 8 | 5 [28]4.2|M4x0.7[4.8]9.5[ 100, [M10x10[455] 53 |65 | 77 | — | — | — | — [735| 81|93 [105| — | — | — [ — CA2
16 15[183[183[20|20] 8 | 5 |28[5.2|M5x0.8]4.8]9.5[ 12,3, [M12x1.0[455] 54 | 66 | 78 | 84 [108]126]138]735] 82 | 94 [106]112]136]154] 166
CS1
Single Acting, Spring Return: Double-side Bossed (E) Cs2
— — —
10
CJ2KE ;¢ — [Stroke| SZ
Section Y detail Y GB__ _ YY Section YY detail
Rodend nut NN % Mounting nut Piping port M5 x 0.8 NN o
Y MM
& &
T@ < =il 1@
o j < ‘k ) @ /
o * \/ o
BAos Rod section [L A | |F||NA NB|F BBy
H S + Stroke
Z + Stroke
¥ For details of the mounting nut, refer to page 63. fmm
Bore S z D-D
size | A BABB|CACB| F (GB|H [KA| MM |[NAINB/NDh8| NN |5t |16to|31to|46to|61to|76to| 1010|126t | 5to |16t0|31to|46t0|61to|76t0| 10110 1260
15t | 305t |45t |60 st| 75 st | 100st | 125t | 150st | 155t |30 st |45 st | 60 st | 75t | 100t | 125t | 1505t _XI:l
10 15[15 |15 [17]17] 8 | 5 |28[4.2|M4x0.7|4.8[9.5[ 1050, [M10x1.0{455( 53 [ 65 | 77 | — | — | — [ — [815] 89 [101[113]| — [ — [ — [ —

16 [15]18.3]183/20]20| 8 [ 5 |28 5.2|M5x0.8]4.8]9.5]12.9 407 [M12x1.0[455]| 54 | 66 | 78 | 84 [108]126138[81.5] 90 [102] 114|120 144]162|174 |Technical
(]

99 ®



CJ2K series

Single Acting, Spring Return: Double Clevis (D)

10
CJ2KD 1 - [Stroke| SZ

Piping port M5 x 0.8 NB oCDHg"*3 %
° MM Rod end nut GB Clevis pin (acdd9-00e0)
) ®
)
o / ¥ © %
o3 A - o3 - A
< @ <= i a
o ~ ) ﬁ o
BAS A NA | lexigd
=% Rod section H S + Stroke (U BB,
Z + Stroke R
ZZ + Stroke
2 A clevis pin and retaining rings are included. {mm]
S
Boresize | A |[BA|BB|CA|CB|CD|CX|GB| H KA| MM |[NA(NB| R | U |5t |16to|31to|46to|61to|76to |101to(126t0
(cd) 15t | 30t | 455t | 60t | 755t | 100 st| 125 st| 150 st
10 15 (12 |12 |14 [ 14 |33|32| 18 |20 |42 | M4x0.7 |48 |225| 5 8 |455| 53 | 65 | 77
16 15 [18.3|18.3] 20 | 20 | 5 65] 23|20 52| M5x0.8 |48|275| 8 |10 |455| 54 | 66 | 78 | 84 | 108 | 126 | 138
z Y74
Bore size 5to | 16to | 31to | 46to | 61to | 76to |101t0|126t0| 5to | 16to | 31to | 46to | 6110 | 76to [101to|126 to
15st | 30st | 45st | 60st | 75st [100st|125st| 150 st| 15st | 30st | 45st | 60 st | 75 st | 100 st| 125 st| 150 st
10 735 81 93 |105| — | — — — |785]| 86 98 | 110 | — — — —
16 755| 84 | 96 | 108 | 114 | 138 | 156 | 168 | 83.5| 92 | 104 | 116 | 122 | 146 | 164 | 176
Single Acting, Spring Return: Single Foot (L)
— — — —
CJ2KL }g —[stroke| S [Head cover port location|
View E
Rod end nut F ¥ Mounting nut GB -
Cover ] Piping port M5 x 0.8
surface v NN D
& um $
- B o
©>—q- @ <= sadl i
|4
AT s ¢y Y 8 171
. - | A
o
M 22221 Rod section 5 NB BB.3
Lz . A
View E F T
2x0oLC X Y NA
Mounting hole H S + Stroke
@ | Z + Stroke
""""""""""""" Piping port M5 x 0.8
2
‘A
Head cover port location
Axial location (R)
#: The overall cylinder length does not change.
¥ For details of the mounting nut, refer to page 63.
[mm]
Bsic;': A BA|BB|CA|CB| F |IGB|H |[KA|LB|LC|LH|LT | LX|LY|LZ MM NA | NB NN
10 15 |15 |12 17 | 14 8 5 28 [ 42 |215)/55 | 14 |23 | 33 | 25 | 42 | M4x0.7 | 48 | 9.5 | M10x 1.0
16 15 |18.3|18.3| 20 | 20 8 S 28 | 5.2 |23 55| 14 |23 | 33 | 25 | 42 | M5x0.8 | 48 | 9.5 | M12x1.0
Bore S| 2
" 5to |16t0 31to|46to |61to|76t0 [101to|126t0| X Y |5to [16to|31to(46to|61to| 76t0 |101to(126t0
15t [ 30st| 45t | 60st | 75t [100 st| 125 st | 150 st 15st | 30t | 45st| 60st | 75st | 100st | 1255t | 150 st
10 455/ 53 |65 |77 | — | — | — | — | 6 9 [735)/81 |98 |105| — | — | — | —
16 455| 54 | 66 | 78 | 84 | 108|126 |138| 6 9 |735)| 82 | 94 | 106 | 112|136 | 154 | 166

100



Air Cylinder: Non-rotating Rod Type
Single Acting, Spring Return/Extend

Single Acting, Spring Return: Double Foot (M)

cJ2kM 19 - [stroke| sz

m

GB_

CJ2K series

Rod end nut ¥ Mounting nut 7 Mounting nut
Piping port M5 x 0.8
Cover surface MM pIng p CJ1
[
> M CJP
o <
S E : C2_
1
LX Rod secti NB 5l
od section |
Lz JCM
NA Y X
4x0oLC
Mounting hole S + Stroke cm2
LS + Stroke
Z + Stroke cM3
% For details of the mounting nut, refer to page 63. ] CG1
E_I"Z': A|F|GB|H LB LH [5t0 [1610] 3110 7ot [foroi60] LT |LX [LY Lz |KA| MM |nA[nB| ~N o |CG3

15st|30st| 45st

100 st 125 st | 150 st

10 [15] 8 | 5 |28 215 635] 71 — [ =] —=]28[33 |25 |42 [42|Max07]|48]95 miox1.0 |JVMB
16 [ 15[ 8 | 5 [ 2823 635] 72 126144 [156 | 2.3 [ 33 [ 25 [ 42 [ 52 [M5x 0.8 [ 4.8 9.5 [M12x 1.0
E?Zr: 5to |16to | 31to |46t0 | 61to 101t0|126t0| X 3110|4610 | 61to| 760 |101to| 12610
155t | 30st |45t | 60t | 75 st 1255t | 150t 45t | 60st | 755t | 100st| 125t | 150t MB1
10 [455[53 |65 |77 | — — =1 108120 — | — [ — | —
16 [455| 54 | 66 | 78 | 84 126138 | 6 109 [ 121[127] 151 [ 169 | 181 CA2
CS1
Single Acting, Spring Return: Rod Flange (F) CS2
CJ2KF }g - ‘Stroke‘ S ‘Head cover port Iocation‘ 4
Rod end nut i GB, .
ocend nu % Mounting nut Piping port M5 x 0.8
Cover surface Y
& Mm 9
| o o
[l Hi A @
©) | 1 & | 4 £
SO &F 2 8 %5 2l W
‘ 2xoFC x FT 0
X0
. NB BB_
FX Mounting hole Rod section NA <= 03,
Fz View E S + Stroke
Z + Stroke
Piping port M5 x 0.8
‘
;
N
\
Head cover port location
Axial location (R)
x: The overall cylinder length does not change.
¥ For details of the mounting nut, refer to page 63. (mm]
S 4
E:Zr: A |BA|BB|CA|CB| F |FB|FC|FT FZ|GB| H [KA| MM NN | 5to [16t0|31to|46t0|61to(76t0|101to[12610| 5to [16t0|31 to|46 o |61t0| 76 to|101to| 12610
155t | 30 st|45st| 60 st| 75 st | 100st | 125st| 150 st| 15 st |30 st | 45 st |60 st| 75 st | 100 st| 125t 150 st D |:|
10[15]15 |12 [17]14] 8 |175]55]2.3 42| 5 |28]42|M4x07 Mi0x10[455[ 53 [ 65 [ 77 [ — | —[—[—[735[81[93 105 —[—|—[— 3
16 [15]183]183[20]20] 8 |19 [55]2.3 42] 5 |28[52[M5x08 Mi2x10[455] 54 | 66 | 78 | 84 [ 108[126] 138735 82 [ 94 [ 106 [112]136] 154 | 166 X

1

Technical
Data
01



CJ2K series

Single Acting, Spring Return: Head Flange (G)

10
CJ2KG {g —[Stroke|SZ

Rod end nut ﬁ = Piping port M5 x 0.8
¥ Mounting nut Cover surface
ol % \ ‘
ML“W O ez
o
\/ g {\
B . |LA | |ELINA FT FX 2xoFC
Rod section H S + Stroke F Fz Mounting
hol
Z + Stroke ole

% For details of the mounting nut, refer to page 63. fmm]

Bore

size A|B|C | F |FB|FC|FT |FX | FY|FZ | GB| H KA MM NA | NB NN

10 15 |15 17 | 8 [175| 55|23 | 33 | 20 | 42 28 | 42 | M4x0.7 | 48 | 9.5 | M10x 1.0
16 15 [183] 20 | 8 |19 | 55|23 |33 | 20 | 42 | 5 | 28 |52 | M5x0.8 | 48 | 9.5 | M12x1.0

3

S z

5to |16to|31to|46to|61to|76to 101to[126t0| 5to [16to|31to|46to|61to | 76t0 |101to (12610
15t | 30st | 45st | 60 st | 75 st [100 st| 125 st | 150st] 155t | 30 st | 45st | 60 st | 75 st | 100 st | 125 st | 150 st
10 455|583 |65 |77 | — | — | — | — |815/89 [101 |118| — | — | — | —

16 [455| 54 | 66 | 78 | 84 | 108|126 138 |81.5| 90 | 102 | 114 | 120 | 144 | 162 | 174

Bore
size

102



Air Cylinder: Non-rotating Rod Type .
Single Acting, Spring Return/Extend CJZK Series

Single Acting, Spring Extend: Basic (B)

CJ2KB ]2 - [Stroke| TZ

¥ Mounting nut

Section Y detail

o
P
c2_
on_
o
BOR i =
et
o3
e
e

NN Y
GA  Piping port M5 x 0.8
7 MM Rod end nut ™ 52

&
&

BA 3, BB,

 (

Rod section | A | NA NB
H + Stroke S + Stroke

Z + 2 x Stroke

¥ For details of the mounting nut, refer to page 63.

[mm]

Bore S 2 MB1
e A BABB|CA|ICB| F |GA|H [KA| MM |NA|NB| NDh8 | NN |5t |16to|31to|46t0|61to(76t0|101to|126t0| 5to |16t0|31to|46t0|61to|76t0| 10110 |126t0
15st| 30t |45t 60 st| 75 st| 100st| 25t | 150st | 15st| 30 st |45 st |60 st| 75 st | 100st] 125st | 150st

10 1515 [12 [17[14 ] 8 | 8 |28]4.2|Max0.7 [125]4.8]10.5 0, [M10x1.0]485] 56 | 68 | 80 | — | — | — | — |765] 84 | 96 [108]| — | — | — |— |CA2
16 [15]183]183[20[20] 8 [ 8 |28 [5.2|M5x0.8[125[4.8[12.9,,|M12x1.0[485[ 57 | 69 | 81 | 87 [111]129]141[765] 85 | 97 [109]115]139]157 169

CS1

CS2

Single Acting, Spring Extend: Double-side Bossed (E)

10
CJ2KE ;¢ — [Stroke|TZ

¥ Mounting nut

Section Y detail nn Y
GA  Piping port M5 x 0.8
oov. MM Rod end nut NN “)(,0
C’j ﬁg/ : il Cf G %
@ j g @ 2
N
BAZ, BB
Rod section [ A _| F|NA NB| |F,
H + Stroke S + Stroke
Z + 2 x Stroke
¥ For details of the mounting nut, refer to page 63.
[mm]
Bore S| z D-D
size | A|BABB CA|CB| F |GA| H [KA| MM |NAINB| NDh8 | NN |5t |16to|31to|46t0|61to|76t0|101to|126%0| 5to |16t0|31t0|46t0 (61t0|76t0 1010|126t
155t |30t |45t |60 st| 75 st|100st | 125st | 150st | 15 st| 30 st|45st| 60 st |75 st| 100st | 125st| 150st _xl:l
10 [15[15 |15 [17[17| 8 | 8 |28 |4.2|M4x 0.7 [125|4.8 10,8022 M10x1.0/485| 56 |68 |80 | — | — | — | — |845]| 92 |104|116| — | — | — | —

16 | 15]183[183]20] 20 8 | 8 [28 |52 M5x0.8]125[4.8][12.5,,[M12x1.0[485| 57 [ 69 | 81 [ 87 [111]129]141]84.5] 93 [105][117[123]147]165[177 [Technical
(]

103 ®



CJ2K series

Single Acting, Spring Extend: Double Clevis (D)

10
CJ2KD ¢ - [Stroke| TZ

GA  Piping port M5 x 0.8

oCDHg"$™
Clevis pin (2cdd9-03%0)

NB
¥ MM Rod end nut F—’
9 t
<} T T e
<| = | T
o j s I [
. A NA & CXio?
BA5;3 | Rod secti H + Stroke S + Stroke U R BB_Js
Z + 2 x Stroke R
ZZ + 2 x Stroke
= A clevis pin and retaining rings are included. (mm]
S
Boresize | A |[BA|BB|CA|CB|CD|CX|GA| H [KA| MM |NA|NB| R | U | 5t |16to|31to|46to | 61to | 76to [101to|126t0
(cd) 155t | 30st | 45t | 60t | 755t | 100st| 125 st| 150t
10 15 |15 |12 |17 |14 |33|32| 8 | 28 | 42| M4x0.7 [125(17.8] 5 8485|656 | 68 | 80 | — | — | — | —
16 15 |18.3/18.3] 20 | 20 | 5 65| 8 |28 |52 |M5x0.8|125(22.8| 8 | 10 [485| 57 | 69 | 81 87 | 111 | 129 | 141
r4 zz
Bore size 5to | 1610 [ 31to | 46t0 | 61to | 7610 |101to|126t0| 5to | 16to | 31to | 46to | 61to | 76t0 [101to | 12610
15t | 30st | 45st | 60st | 75st | 100st | 125 st | 150st| 15st | 30st | 45st | 60st | 75t | 100st] 125 st | 150 st
10 84.5| 92 | 104 | 116 | — — — — |895]| 97109 | 121 | — — — —
16 86.5| 95 | 107 | 119 | 125 | 149 | 167 | 179 | 94.5| 103 | 115 | 127 | 133 | 157 | 175 | 187
Single Acting, Spring Extend: Single Foot (L)
16 - [stroke]
CJ2KL {g —[Stroke| TZ
View E ¥ Mounting nut
NN f,% Piping port M5 x 0.8
Cover surface oov. MM Rodend nut \ &Q
SNEPRE 7 A A7
> < o
/ E] - [ <T [
T T BASs = BB
LX l——>= Rod 'J 23]
Lz section| A X_| |Y|NA NB | |
View E H + Stroke S + Stroke
2xoLC Z + 2 x Stroke
Mounting hole
¥ For details of the mounting nut, refer to page 63.
[mm]
Bore size A ([BA|BB|CA|CB| F |GA|H |KA|LB|LC|LH|LT | LX|LY|LZ MM NA | NB NN
10 15 [15 |12 17 | 14 8 8 28 |42 |215| 55| 14 | 23| 33 | 25 | 42 M4 x0.7 |125| 48 | M10x 1.0
16 15 [18.3]18.3| 20 | 20 8 8 28 | 52 |23 55| 14 | 23| 33 | 25 | 42 | M5x0.8 |125] 4.8 | M12x 1.0
Bore size S| X Y z
5to15st [161030st|31to45st| 461060 st| 610 75t | 76t 100st |101 to 125 st| 126 10 160t 5to15st |161030st|31t045st|46t0 60t | 61to 75t | 76t 100st |101 to 125 st| 12610 160t
10 48.5 56 68 80 — — — — 6 9 76.5 84 96 108 — — — —
16 48.5 57 69 81 87 111 129 141 6 9 76.5 85 97 109 115 139 157 169

104



Air Cylinder: Non-rotating Rod Type
Single Acting, Spring Return/Extend

Single Acting, Spring Extend: Double Foot (M)

cJ2km 12 - [stroke| TZ

CJ2K series

H + Stroke +# Mounting nut
n EGA 7 . CJ1
Cover surface Piping port M5 x 0.8 F % Mounting nut
MM Rod end nut \ ERARORIOXBS e P
) > 4 }T T
|- U
7B 5[ N i v, m
= i X smma| i T
- : 5w
Lz Rod section | x| |y.|NA NB| Y| | X c
4x0LC S + Stroke M2
Mounting hole LS + Stroke
6; Z + 2 x Stroke CM3
¥ For details of the mounting nut, refer to page 63. mmi CG3
o JMB
Boresizel A | F [GA| H ([KA|LB |LC|LH |5t |16to|31to(46to(61to|76t0|101to|126to| LT |LX |[LY|LZ| MM |NA|NB NN
15t | 30t | 45st| 60st | 75 st [100 st| 125st| 150 st
10 15| 8 8 |28 |42 |215(55( 14 |665| 74 {86 |98 | — | — | — | — |2.3|33 |25 | 42 | M4x0.7 |125]| 4.8 | M10x 1.0 MB
16 15| 8 8 |28 |52 |23 [55| 14 |[665| 75 | 87 | 99 | 105|129 |147 159 | 2.3 | 33 | 25 | 42 | M5x 0.8 |125]| 4.8 | M12x1.0
S 2 MB1
Bore size| 5to [16to|31to (46t |61to |76t [101to(126to| X | Y | 5to [16to|31to|46to|61to| 76t0 [101to] 12610
155t | 30st|45st | 60st | 75t [100 st| 125 st| 150 st 15t [ 30st|45st| 60st | 75t | 100st | 125st| 150 st CAZ
10 |485/56 |68 |80 | — | — | —|— |6 9 |915] 99| 111|123 — | — | — | —
16 485| 57 | 69 | 81 | 87 |[111[129|141]| 6 9 |91.5/100 112|124 130 | 154 | 172 | 184 cs1
Single Acting, Spring Extend: Rod Flange (F)
— — — —
10
CJ2KF 1¢ - TZ
i !
View E ¥ Mounting nut
Cover surface NN Piping port M5 x 0.8
ov. MM Rod end nut . 0@
. o S
(A o3 y i =y
m| > 2| (7 6{[ | 7
wi <« i o
I B g 1 @ )]
EX 2xoFC BA{s Rod LHLFT BB,
Fz Mounting section A F |NA NB
hole View E H + Stroke S + Stroke
Z + 2 x Stroke
% For details of the mounting nut, refer to page 63.
[mm]
Bore size A |BA BB|CA|CB| F |[FB|FC | FT ([FX|FY |FZ |GA| H | KA MM NA | NB NN
10 15 |15 12 17 14 8 |175] 55 | 23| 33 | 20 | 42 8 28 | 4.2 M4x0.7 |125| 4.8 | M10x1.0
16 15 [ 18.3|18.3| 20 | 20 8 |19 55 | 23 | 33 | 20 | 42 8 28 | 52 M5x0.8 |125| 4.8 | M12x1.0
Bore size 3 Z D-0
5to15st | 16t030st|31to45st|46t0 60 st | 611075t | 7610 100st |101to 125 st| 12610 150st| 5to 155t | 16t030st|31to 45t | 461060 st |61to75st| 7610 100st | 10110 125t | 126 to 150 st
10 48.5 56 68 80 — — — — 76.5 84 96 108 — — — —
16 485 | 57 | 69 | 81 | 87 | 111 | 120 | 141 | 765 | 85 | 97 | 109 | 115 | 139 | 157 | 169  |-X[J

105

Technical
Data



CJ2K series

Single Acting, Spring Extend: Head FIange (G)
CJ2KG 12 - [Stroke| TZ

NN GA  piping port M5 x 0.8 # Mounting nut

Cover surface
Qo MM Rod end nut
o
} g u A
b4
2xeoFC
BJSs FT
Rod section FX Mounting
A F | NA NB Fz hole
H + Stroke S + Stroke F
Z + 2 x Stroke
% For details of the mounting nut, refer to page 63.
[mm]

Bore size A B C F FB | FC | FT | FX | FY | FZ | GA | H KA MM NA | NB NN

10 15 15 17 8 175 | 55 23 33 20 42 8 28 4.2 M4 x0.7 125 | 48 M10x 1.0

16 15 183 | 20 8 19 55 23 33 20 42 8 28 5.2 M5 x 0.8 125 | 48 M12x 1.0
Bore size S| Z

5to15st | 16t030st | 31to45st|46t060st|61to75st| 7610 100st 10101255t 12610 150st] 5to 15t [16t030st|31to45st|46t060st|61to75st| 7610 100st [ 10110125 st] 12610 150t
10 48.5 56 68 80 — — — — 84.5 92 104 116 — — — —
16 48.5 57 69 81 87 111 129 141 84.5 93 105 117 123 147 165 177

106



Air Cylinder: Built-in Speed Controller Type
Double Acting, Single Rod

CJ2Z series

210, 216

B cJ2zB
With auto swith| codzz

With auto switch (Built-in magnet)

How to Order

ik

Z-

.

s
>

¥

o
G
pry

(x]
C—
-}

Z-

éﬂ

H <)

0 Mounting 9 Bore size e Cylinder standard stroke [mm]
B Basic [10] 10 mm | Refer to “Standard Strokes” on page 108. CM3
E Double-side bossed [16] 16 mm |
D Double clevis CG1
L Single foot 0 Head cover port location 6 Pivot bracket 6 Rod end bracket
M Double foot Perpendicular to Nil None Nil None CG3
F Rod flange Nil P axis § > N | Pivotbracket is shipped v Single knuckle joint
G Head flange - together with the product. Wik Double knuckle joint

+: Foot/Flange brackets are shipped = Only for the double clevis type T Rod end cap (Flat type)
together with the product, but not R Axial § A +: Pivot bracket is shipped U Rod end cap (Round type)
assembled. . together with the product, but +: Rod end bracket is shipped together

#: For double clevis, the product is
perpendicular to the cylinder axis.
#: For double-side bossed, the

not assembled.

with the product, but not assembled.
= Refer to page 63 for the double knuckle
joint (with one-touch connecting pin).

MB1

HOE

roduct is perpendicular to the
0 Auto switch gylinder ax’i)s. " 9 Auto switch mounting type @ Made to Order CAZ
[ Nil | Without auto switch | . [A] Rail mounting | Refer to page 108 for details.
«: For applicable auto switches, 9 .Number of auto switches [B] Band mounting | CS1
refer to the table below. Nil 2 pes. «: For rail mounting, screws and
* Enter the auto switch mounting type (A or B) S . 1” pC. nuts for 2 auto switches come cS2
even when a built-in magnet cylinder without n n” pes. with the rail.
an auto switch is required. = Refer to page 148 for auto
switch mounting brackets.
= Refer to “Ordering Example of Cylinder Assembly” on page 108.
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
ol y I Ezm Wiring Load voltage _ Au:o switch r;oc:el - Lead wire length [m] Presited Aoaticable load
ype| Special function 2 an mounting a| mounting 05| 1| 3| 5 [None| pplicable loa
Gy ||| (e pe AC In-line_|J In-line_| (Nil) | (V)| L) | @) [y | ™"
3-wire (NPN) 5V 12V M9NV MON | MONV | M9N ® /0 O —| O (C circut
£ - Grommet 3-wire (PNP) ! M9PV M9P M9PV M9P ® /0 O|—| O
'§ 2.wire 12V M9BV | M9B | M9BV | M9B ® /0 O/ —| O _
13 Connector — H7C J79C — o —|0o 0 0o —
g ) _ 3-wire (NPN) 5V.12V MONWV| MONW MONWV| MONW @ @ (@ O |—| O (G circuit | Rel
& |Diagnostic Ves|3ire (PNP) |24 V|° " — [MoPWV| M9PW [MOPWV| M9PW | @ (@ |@ | O|—| O | o] Relay,
@ | (2-color indicator) - PLC
& 2-wire 12V M9BWV| M9BW M9BWV| M9BW @ @ | @ O |—| O —
_g Water resistant Grommet| | 3-wire (NPN) 5V 12V M9NAV*!| MONA*! |[MINAV*![MONA*'| O |O |@|O|—| O (G circuit
5 (2-color indicator) 3-wire (PNP) ! MYPAV*!| MOPA*' | MIPAV*'|M9PA*'| O |O | @ |O|—| O
@ 2-wire 12V M9BAV*'| MOBA*! MIBAV*'|M9BA*'| O |O | @ |O|—| O —
4-wire (NPN) 5V,12V — H7NF — F79F | @ |—| @ | O |—| O |ICgcircuit
5 (Npﬁ'em;jem) | sv | — | moev | Ass | Assv | A% | @ |—|@|—|—| — [iComut| —
= Grommet | — [200v [ — — A72 | A72H | @ [—|@|—[— _
o —_— [ | 100V | A93V*2| A93 | A93V*2| A93 ® 0 0o 0 —
‘é No 2-wire 12V 100Vorless| A90V A90 A90V A90 ® |—|®|—|—| — |[ICcircuit| Relay,
2 Comector & 24V — — C73C | A73C = o —o 06 0 — — PLC
2 o 24Vorless] — C80C | A80C — ® —|® @ @& — |(Ccircu
Dianosic nicaon (2o indezior) | Grommet | Yess — — — — A79W — e — e — | —| — —
+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
#2: 1 m type lead wire is only applicable to D-A93. D'I:l
: Lead wire length symbols: 0.5 m-. - Nil (Example) MONW - Z (Example) MONWZ
1m- M (Example) MONWM - N (Example) H7CN 'XD
3m- - L (Example) MONWL
*: Since there are other applicable auto syw}ches than listed, refer to page 149 for details. Technical
olid state auto switches marked with “O” are produced upon receipt of order. lala

*: The D-A90/M9LI/A7CI/AB0LI/F701/J700 auto switches are shipped together, but not assembled. (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

107 ®



CJ2Z series

Space-saving air cylinder with
speed controller built-in cylinder
cover

Symbol
Double acting, Single rod, Rubber bumper

O

Made 10 - __—
‘Order | Made to Order: Individual Specifications
(For details, refer to page 150.)

Specifications
Bore size [mm] 10 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1 MPa
operating pressure 0.7 MPa
operating pressure 0.06 MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C

With auto switch: —10°C to 60°G (N freezing)

Cushion Rubber bumper
Lubrication Not required (Non-lube)
Stroke length tolerance 30

Speed controller Built-in

Piston speed

50 to 750 mm/s

Allowable kinetic energy 0.035J 0.090J
Standard Strokes
————————
[mm]
Bore size Standard stroke Maximum stroke
10 15, 30, 45, 60, 75, 100, 125, 150 400
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400

+: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

5

: Applicable strokes should be confirmed according to the usage. For details, refer to “Air

— linders Model Selection” on front matter pages. In addition, the products that exceed the
‘ Symbol ‘ Specifications ‘ Cy! N " I N
X446 ‘ PTFE grease ‘ standard stroke might not be able to fulfill the specifications due to the deflection etc.
Made to Order
Click here for details . .
Seh TS Mounting and ACCeSSOries g ixteistasesaiap i s s
-XA[C] | Change of rod end shape @---Mounted on the product. O---Can be ordered within the cylinder model. A---Order separately.
-XC51 | With hose nipple Double | Double dlevis
-XC85 | Grease for food processing equipment Mounting Basic Foot Flange clevis | ficuding Tocke)
- g |Mounting nut [ ] [ ] [ ] — —
A Precautions £ [Rod end nut ° ° ° ° °
& | Clevis pin (including retaining rings) — — — [ ] [ ]
pEEmEmEmmm—_mm—_—mEmmEmEmEA Single knuckle joint @) @) @) @) @)
L Refer to page 152 before handling. .: H Double knuckle joint (including a pin and retaining rings) ] @] @] o O
sEEEEEEEEEEEEEE %5 | Double knuckle joint (With one-fouch connecting pin) A A A A O
O [Rod end cap (Flat/Round type) @] @] @] ] ]
Ordering Example of Cylinder Assembly Pivot bracket (T-bracket) — — — o L]
+: Stainless steel mounting brackets and accessories are also available.
Refer to page 63-1 for details.
Cylinder model: CDJ2ZD16-60Z-NW-M9BW-B
Double clevis .
Mountlng Brackets/Part No.
< Bore size [mm]
Mounting bracket
") 10 16
3 Foot CJ-Lo10C CJ-L016C
-/ Flange CJ-Fo10C CJ-F016C
Pivot bracket (T-bracket)*’ CJ-To10C CJ-T016C
Pivot bracket

Band mounting

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

#: Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

© 108

#1: The pivot bracket (T-bracket) is used with double clevis (D).

Refer to pages 142 to 149 for cylinders with auto switches.

* Auto switch proper mounting position (detection at stroke end) and its mounting height

* Minimum stroke for auto switch mounting
* Operating range

* Auto switch mounting brackets/Part no.



http://www.smcworld.com/products/en/custom.do

Air Cylinder: Built-in Speed Controller Type
Double Acting, Single Rod

Weights
——
lal
Bore size [mm] 10 16
Basi iah Basic 36 61
(Vzilznvﬁlg s:roke Axial piping. - " — 36 61
is zero) Double.clews (including clevis pin) 40 68
Head-side bossed 37 63
Additional weight per 15 mm of stroke 4 7
Single foot 8 25
Mounting bracket | Double foot 16 50
weight Rod flange 5 13
Head flange 5 13
Single knuckle joint 17 23
Double knuckle joint
(including knuokle pin) 25 21
. Double knuckle joint

Accessories (With one-touchjconnecting pin) 26 22
Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
Pivot bracket (T-bracket) 32 50

#: Mounting nut and rod end nut are included in the basic weight.

#: Mounting nut is not included in the basic weight for the double clevis.

Calculation:
Example) CJ2ZL10-45Z
® Basic weight -

® Additional weight

® Cylinder stroke -

® Mounting bracket weight --- 8 (Single foot)

36 +4/15x 45 +

8=569

Construction (Not able to disassemble)

\

pawa

i

@

CJ2Z series

%M%Am

&

Component Parts

With auto switch

No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy 12 | Rod end nut Rolled steel

2 | Head cover Aluminum alloy 13 | Piston seal NBR

3 | Cylinder tube Stainless steel 14 | Rod seal NBR

4 | Piston rod Stainless steel 15 | Check seal A NBR

5 | Piston A Aluminum alloy 16 | Check seal B NBR

6 | Piston B Aluminum alloy 17 | Tube gasket NBR

7 | Piston Aluminum alloy 18 | Needle seal NBR

8 | Bumper A Urethane 19 | Wear ring Resin

9 | Bumper B Urethane 20 | Check seal sleeve Aluminum alloy
10 | Speed controller needle Carbon steel 21 | Retaining ring Carbon tool steel
11 | Mounting nut Rolled steel 22 | Magnet —

[x NN x]
€= || C=
0 || =

ool
DIDIN=S(=|Q
W= || D|N|=

QIO |=
DRI 2|
N || = ([N ||



CJ2Z series

Basic (B)
CcJ2zB }g - ‘Stroke‘ ‘Head cover port Iocation‘ 4

] I ] I
=7, S é A\
[ = S < s
\
WA WB
¥ Mounting nut
Section Y detail
Rod end nut
wy. NN GA " piping port 2 x M5 x 0.8 GB Piping port M5 x 0.8
& MM &)
Q a [
. > SO [T e | [efl] . [
A o A ]
o o
§ — v Pl
B3, N o | ;
A F|_NA NB BJs lead cover port location
T H S + Stroke Axial location (R)
= The overall cylinder
Z + Stroke length does not change.
¥ For details of the mounting nut, refer to page 63.
[mm]
Bore size A B [ D F |[GA|GB| H MM NA | NB NDh8 NN WA |WB |WW| S Y4
10 15 |15 | 17 | 4 8 | 75|65| 28 | Max07 | 21 | 18 85022 M8x1.0 |14.4|135| 45 | 63 | 91
16 15 |183| 20 | 5 8 |75|65| 28 | M5x0.8 | 21 | 18 1050 | M10Xx1.0 [14.4 (135 45 | 64 | 92
Double-side Bossed (E)
10
CJ2ZE 1¢ - z
] | S é N
=< =G
| 45 < [& 1
Section Y detail WA wB
Rod end nut Y ¥ Mounting nut vy ) ]
Wy, NN\ GA Piping port 2 x M5 x 0.8 GB @ Section YY detail
e ~ NN ©
% MM =
a e =
o % °, N ie | [& 1], I
o & =1l
=l \§ [
B3s A_| |F|_NA NB
H S + Stroke F
Z + Stroke
¥ For details of the mounting nut, refer to page 63.
[mm]
Bore size A B C D F |GA|GB| H MM NA | NB NDh8 NN WA |WB |WW| s Z
10 15 |15 17 4 8 75 | 65 | 28 M4 x 0.7 21 18 80022 M8x1.0 | 144|135 45 63 99
16 15 [ 18.3| 20 5 8 75 | 65 | 28 M5 x 0.8 21 18 103020 M10x 1.0 | 14.4 | 135 | 45 64 | 100

110



Air Cylinder: Built-in Speed Controller Type .
Double Acting, Single Rod CJZZ Series

Double Clevis (D)

CJ2zD ]2 - [Stroke|z

] 1
o —| ci1
I~
[ [ 45
Rod end nut M rzCDHQ*g 030 CJP
NB Clevis pin (9Cdd933%) m
GA  Piping port 2 x M5 x 0.8 GB
MM
o |- L & JCMm
3 | Gl 3
a = N
@ \ \ I [ N 5} [om2
LA NA . CM3
H S + Stroke 1) (283
Z + Stroke R CZ35s CG1
ZZ + Stroke

=1 A clevis pin and retaining rings are included.

[mm]
Bore size A | B |C|CD|CX|CZ| D |GA|GB| H MM NA/NB| R | U WA/WB/WW| S | Z |2ZZ
10 15 |15 17 | 33| 82 |15 4 75 |19.5| 28 M4 x 0.7 21 31 5 8 |14.4|26.5| 45 63 99 | 104
16 15 |183| 20 | 5 6.5 | 183| 5 75 |245| 28 M5x0.8 | 21 36 8 10 | 14.4|315| 45 | 64 | 102 | 110
Single Foot (L)
CJ2zL }g - ‘Stroke‘ ‘Head cover port Iocation‘ 4
] | § é ] I
ﬁ l o] ]
I~
g Rk { .
Rod end nut M» <W_B>
¥+ Mounting nut
Cover surface MM NN F.GA Piping port 2 x M5 x 0.8 GB \N\ND Piping port M5 x 0.8
‘ o ¢
= el [eiii] b 7 )
O S {0
- Y o
& 3[-‘ ‘H \ \ \ \ v \
0
[ B0z _| Head cover port location
LX A Axial location (R)
LZ ~~T #: The overall cylinder length
X Y NA NB does not change.
H S + Stroke
Z + Stroke
2xoLC

¥ For details of the mounting nut, refer to page 63.

Boresize | A|B|C|D|F|GAGB| H |[LB|LC|LH|LT |LX|LY|LZ] MM |[NA/NB| NN WAWBWW| S X |Y | Z

QIO |=
DRI >|wm
N || = ([N || =

10 15|15 |17 | 4 | 8 |75|65|28 |15 |45| 9 16|24 |165|32 | M4x0.7 |21 | 18 | M8x 1.0 |144|135/45|63| 5 | 7 | 91

16 15(183|/ 20| 5 | 8 |75|6.5]|28 |23 |55|14 |2.3|33 |25 |42 |M5x0.8 |21 | 18 |MI0x 1.0 |144|135)/ 45|64 | 6 | 9 | 92




CJ2Z series

Double Foot (M)

cJ2zM ]2 - [stroke| Z

] | ] [
I~
[ | 45 I |
WA WB
Rod end nut e——>s ¥ Mounting nut
G ¥ Mounting nut
F GA o
Covrsutass Piping port 2 x M5 x 0.8 GBF / NN o
< | g
<
R [Tie | | o B
fAis] A B
o
H— — Z
- - B.0s
| |
Y NA NB |Y X
H S + Stroke
4xoLC LS + Stroke
Mounting hole Z + Stroke
¥ For details of the mounting nut, refer to page 63. fmm]
Boresize |A|B|C|D H |[LB|LC|LH|LS|LT|LX|LY|LZ NN WAWBWW| S [ X |Y|Z
10 1515 |17 | 4 28 |15|45| 9|77 |1.6]|24 [165| 32 |[M4x0.7 M8 x 1.0|14.4|135| 45|63 | 5 | 7 103
16 15]183]/20| 5 28 |23 55|14 |82 |2.3|33 (25 |42 |[M5x0.8 M10x 1.0|14.4|135(45 |64 | 6 | 9 |[107
Rod Flange (F)
———
CJ2ZF }g - ‘Stroke‘ ‘Head cover port Iocation‘ V4
| g [
= e
I~
| |
¥ Mounting nut
Rod end nut <W_B>
; GB A
Cover surface MM Piping port 2 x M5 x 0.8 ™ \N( o Piping port M5 x 0.8
)
L | 2 of R S
() az /< 5 ?{g
o
& \ \ o
]
2x0oFC NA B-os | Head cover port location
FX Mounting hole Axial location (R)
S + Stroke R
FZ «: The overall cylinder length
Z + Stroke does not change.
¥ For details of the mounting nut, refer to page 63. fmm]
Boresize | A| B | C FC | FT |FX |FY |FZ |GA|GB| H NB| NN |WAWBWW| S | Z
10 15 |15 17 45116 |24 |14 | 32 |75|65 | 28 18 | M8x 1.0 |14.4|135| 45 | 63 | 91
16 15 | 18.3| 20 55|283|33 |20 |42 |75|65]| 28 18 |M10x 1.0 |14.4|135| 45 | 64 | 92

112



Air Cylinder: Built-in Speed Controller Type .
Double Acting, Single Rod CJZZ Series

Head Flange (G)

CJ22G 12 - [stroke| Z

o
G
pry

3
k.2 { \

(x]
C—
-}

H
>
=
@

Rod end nut ¢+ Mounting nut

[
()
=

%

oD

FB
FY
o
=
)

y==|

] =
a) 18 |

Wy, NN S8 Piping port2 x M5 x 0.8 GB NN Cover surface
% ? MM I S
RN £l
3 7
T

B, A F|._NA NB |FT FX CG1
H S + Stroke F FZ 2xeoFC
Z + Stroke Mounting hole css
¥ For details of the mounting nut, refer to page 63. fmm]
Bore size A|B|C|D|F |FB|FC|FT | FX|FY|FZ|GA|GB| H MM | NA |NB NN |WA/WBWW| S | Z
10 15 |15 17 | 4 8 |13 |45|16 |24 |14 |32 |75|65| 28 | M4x07 |21 | 18 | M8x 1.0 [14.4(135| 45 | 63 | 99
16 15 [183| 20 | 5 8 |19 55|23 |33 |20 |42 |75|65|28 | M5x0.8 | 21 | 18 |M10x1.0|14.4(13.5| 45 | 64 | 100 B

(5]
n
N



Air Cylinder: Built-in Speed Controller Type
Double Acting, Double Rod

CJ2ZW series

210, 216

How to Order

B cu2zw B|[16]-(60]Z-]

WC?JZZW 1f|—|fj:|z—| MQBWIE T [E
With auto switch (Built-in magnet)

0 Mounting 6 Bore size 9 Cylinder standard stroke [mm]
B Basic [10] 10 mm | Refer to “Standard Strokes” on page 115.
L Foot \ 16 \ 16 mm \
F Flange

#: Foot/Flange brackets are shipped
together with the product, but not

assembled.
o Auto switch e Number of auto switches 6 Auto switch mounting type o Made to Order

Nil |  Without auto switch | Nil 2 pes. [A] Rail mounting | Referto page 115 for details.
«: For applicable auto switches, refer S 1pc. [B] Band mounting |

to the table below. n “n” pes. «: For rail mounting, screws and nuts
* Enter the auto switch mounting for 2 auto switches come with the

type (A or B) even when a built-in rail.

magnet cylinder without an auto . Refer to page 148 for auto switch

switch is required. mounting brackets.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

=y Wiring Load voltage Auto switch model Lead wire length [m] S| Asestie
Type| Special function B Band mountin: Rail mountin 1 -
" ey | §|(©uteut)] DO A iniine |7 i () (| 0| @ (| neer| ol
3-wire (NPN) 5V12V] M9INV M9N MONV M9N ®  ® 0 O —| O | it
5 Grommet| | 3-wire (PNP) ! M9PV M9P M9PV M9P e elelO0|—| o |v™™
g 2-wire 12V M9BV M9B M9BV M9B ® ® 0 O —| O _
® Connector — H7C J79C = o — 0o/ 0 —
£ ! ’ 3wire (NPN) MONWV | MONW | MONWV | MONW | @ (@ | @ |O|—| O |
& |Piagnostio indication Vesjgieene 24 v° " ™2Y|  — [ ‘MoPWV | MoPW | MOPWV | MoPW | @ [@ | @ O|—| o | ™Ry
@ | (2-color indicator) ; PLC
s 2-wire 12V M9BWV | M9BW | M9BWV | MBW @ @ @ O |—| O —
g Water resistant Grommet| | 3-wire (NPN) 5V12V] MONAV*!| MNA*! IMINAV*!| MGNA*!' | O |O | @ |O|—| O | it
= -wi ’ 1 *1 1 w1 — !
S| (2-colorincicator) 3wire 1fNP) M9PAV*!| MOPA ‘ M9PAV ‘ M9PA O |O0|@]|O o
2-wire 12V M9BAV*'| M9BA*' [M9BAV*'| MO9BA*' | O |O | @ |O|—| O —
Wi dagnost upu 2-olr el 4-wire (NPN) 5V,12V — H7NF = F79F ® |—| ® O|—| O |Ccircuit
3-wire
§ ’ VPN equient)| — 5V — A96V A96 A96V A96 ®  — | ®|—|—| — |Ccieut] —
H Grommet| — | 200V — — A72 A72H (@ [—|@[—[— _
° —_— L 100V | A93V*2 A93 A93V*#2 A93 ® |0 0 0 —
= No 2.wire 12V 100 Vorless| A90V A90 A90V A90 ® |— ®|—|—| — |Ccicul|Relay,
B ConnectorE 24 V| — = C73C A73C = o — 0o/ 0 — — | PLC
2 No| 24 Vorless = csoC A80C = ® | — ®©/® ® — |Cciu
(2<okr ndeator) | Grommet | Yes| — — = = A79W = o | —0|—|—| — —

+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

Please contact SMC regarding water resistant types with the above model numbers.
#2: 1 m type lead wire is only applicable to D-A93.
+: Lead wire length symbols: 0.5 m- Nil (Example) MONW

1 M (Example) MONWM
L (Example) MONWL
Z (Example) MONWZ
. N (Example) H7CN

*: Since there are other applicable auto switches than listed, refer to page 149 for details.
+: Solid state auto switches marked with “O” are produced upon receipt of order.
+: The D-A90/MILI/A70/A80CI/F70/J70 auto switches are shipped together, but not assembled. (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

® 114




Air Cylinder: Built-in Speed Controller Type
Double Acting, Double Rod

Specifications

Space-saving air cylinder with

speed controller built-in cylinder

cover

Symbol
Double acting, Double rod, Rubber bumper

i Ao

CJ2ZW series

Bore size [mm]

10

16

Action Double acting, Double rod
Fluid Air

Proof pressure 1 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.1 MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C
With auto switch: —10°C to 60°C

(No freezing)

[z NN x]
= || C=
0 || =

H <)

Cushion Rubber bumper
Lubrication Not required (Non-lube)
Stroke length tolerance 10

Speed controller Built-in

Piston speed

50 to 750 mm/s

Allowable kinetic energy

0.035J

0.090J

Standard Strokes

[mm]
Bore size Standard stroke
10 15, 30, 45, 60, 75, 100, 125, 150
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200

+: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)
: Please consult with SMC for strokes which exceed the standard stroke length.

+: Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” on front matter pages. In addition, the products that exceed the

Vade 10! standard stroke might not be able to fulfill the specifications due to the deflection etc.
‘Order | Made to Order: Individual Specifications
(For details, refer to page 150.)
‘ Symbol ‘ Specifications ‘ . . X
X446 ‘ PTFE grease ‘ Mountlng and Accessories et page 42 for the st of brackets and page 63 for detais about part numbers and dimensions.
Made to Order @:-Mounted on the product. O---Please order separately.
Click here for details Mounting Basic Foot Flange
Symbol Specifications Mounting nut [ [ [
-XAL | Change of rod end shape Standard Rod end nut ° ° °
';g:; \(;Vith hoTe nfipptl’e Single knuckle joint O O (¢]
- ease for food processing equipment
rea rfood processing equipment Option Double knuckle joint (including a pin and retaining rings) O O O
Double knuckle joint (With one-touch connecting pin) O O O
! Stainless steel mounting brackets and accessories are also available.
A P recautions Refer to page 63-1 for details.
el |
1 Refer to page 152 before handling. 1
b================4 Mounting Brackets/Part No.
—
Mounting bracket Bore size [mm]
. 10 16
Foot CJ-Lo10C CJ-L016C
Flange CJ-FO10C CJ-FO16C

Refer to pages 142 to 149 for cylinders with auto switches.

« Operating range

 Auto switch proper mounting position (detection at stroke end) and its mounting height
* Minimum stroke for auto switch mounting

 Auto switch mounting brackets/Part no.

ollolalle
DD =
QW || =[N

QIO |=
DRI >|wm
N || = [N || =


http://www.smcworld.com/products/en/custom.do

CJ2ZW series

Weights
——
]
Bore size [mm] 10 16
Basic weight .
(When the stroke is zero) Basic 36 61
Additional weight per 15 mm of stroke 4.5 7.5
Mounting bracket | Double foot 16 50
weight Head flange 5 13
Single knuckle joint 17 23
Double knuckle joint
(including knuckle pin) 25 21
Accessories Double knuckle joint 26 20
(With one-touch connecting pin)
Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2

#: Mounting nut and rod end nut are included in the basic weight.

Calculation:

Example) CJ2ZWL10-45Z

® Basic weight -
© Additional weight
® Cylinder stroke:---
©® Mounting bracket weight---

36 (210)

16 (Double foot)

36 +4.5/15x45+16=65.5¢

Construction (Not able to disassemble)

TR

With auto switch
Component Parts
No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy 9 ing nut Rolled steel
2 | Cylinder tube Stainless steel 10 | Rod end nut Rolled steel
3 | Piston rod Stainless steel 11 | Piston seal NBR
4 | Piston A Aluminum alloy 12 | Rod seal NBR
5 | Piston B Aluminum alloy 13 | Check seal NBR
6 | Piston Aluminum alloy 14 | Tube gasket NBR
7 | Bumper Urethane 15 | Needle seal NBR
8 | Speed controller needle Carbon steel 16 | Magnet —

® 116




Basic (B)

10
CJ2ZWB 1 - [Stroke|Z

Air Cylinder: Built-in Speed Controller Type
Double Acting, Double Rod

CJ2ZW series

I I I [
<5 3 ? ~ e\ cd1
H\\‘/V { S ( \‘/ \ﬁk‘/m
WA WA CJP
Rod end nut Y s Mounting nut m
- . wy. NN\ /G2 Piping port 2 x M5 x 0.8 GA NN vm | JCM
Section Y detail o MM /
= 9 2 cm2
oo T T
m‘ % T T I T cM3
B,O
8 A |lE[ na NA | F A CG1
H S + Stroke H + Stroke
Z + 2 x Stroke CG3
JMB
¥ For details of the ting nut, refer to page 63.
or details of mounting pag i MB
Bore size A B C D F GA H MM NA NDh8 NN WA |WW | s 4
10 15 | 15 17 4 8 75 | 28 M4 x 0.7 21 85002 M8 x 1.0 14.4 | 45 66 | 122 |MB1
16 15 | 183 | 20 5 8 75 | 28 M5 x 0.8 21 10 Bz M10x1.0 | 144 | 45 | 67 | 123
CA2
CS1
Foot (L) CS2
10
CJ2ZWL {¢ - z
== 1 =& j
[ 9 [P ]
WA WA
¥ Mounting nut
Cover surface Rod end nut F.GA  piping port 2 xM5 x 0.8 GAF NN MM W
MM (¢)
X - a ©
((}) @) - bﬁ L < (B 5
- o
NS 5]-‘ 5 J
‘ BSs
-
LX -
Lz LA
X Y NA NA Y ‘X‘ A
4x0oLC H S + Stroke H + Stroke
Mounting hole Z + 2 x Stroke
D-O
¥ For details of the mounting nut, refer to page 63. fmm]
Boresize | A| B | C | D|F |GA| H |LB|LC|LH|LT | LX|LY|LZ NN |NA| NN |WAWW/ S X |Y | Z -XO
10 15 |15 17 | 4 8 |75|28 |15 |45| 9|16 |24 |165| 32 | M4x0.7 | 21 | M8x1.0|144| 45 | 66 | 5 7 | 122 Technical
16 15 (18.3| 20 | 5 8 |75| 28|23 55|14 |23 |33 |25 |42 | M5x0.8 |21 |[MI0x1.0|14.4| 45 | 67 | 6 9 123 |Data

117



CJ2ZW series

Flange (F)

cJ2zwr ]2 - z

] | 3 E | |
~—] N
AN S ( AN |
\ | \ |
WA | | WA |
¥ Mounting nut
Rod end nut A GA o
Cover surface MM == Piping port 2 x M5 x 0.8 _— NN - % o
\ it c|s ®
) m|> . I 1 4 o3| |
&g EE H EEE
2 xoFC ALFT B.0
FX ";’"?U""”Q A F | NA NA |F A
FZ ole H S + Stroke H + Stroke
Z + 2 x Stroke
¥ For details of the mounting nut, refer to page 63. {mm]
Bore size A|B|C|D F |FB|FC | FT |[FX | FY |FZ |GA| H MM NA NN WA |WW| s Y4
10 15 |15 17 4 8 13 | 45 | 16 | 24 14 32 | 75| 28 M4 x 0.7 21 M8x1.0 |14.4| 45 66 | 122
16 15 |18.3] 20 5 8 19 | 55|23 | 33 | 20 | 42 | 75 | 28 M5x0.8 | 21 | M10x1.0 [14.4| 45 | 67 | 128

118



Air Cylinder: Direct Mount Type
Double Acting, Single Rod

CJ2R series

210, 216

How to Order

B cJ2RARE
Mcwzm [§m Z-

ﬁ,a»w 4

".'
ﬂg
H <)

* C
With auto switch (Built-in magnet) IE E cM2
0 Mounting 0 Bore size o Cylinder standard stroke [mm)] CM3
‘ A ‘ Bottom mounting ‘ ‘ 10 ‘ 10 mm ‘ Refer to “Standard Strokes” on page 120. CG1
[16] 16 mm |
e Head cover port location e Rod end bracket 0 Auto switch CG3
Perpendicular to Nil None Nil | Without auto switch |
Nil axis §"; v Single knuckle joint = For applicable auto switches, refer to the table below. JMB
W Double knuckle joint * Enter the auto switch mounting type (A or B) even when a
T Rod end cap (Flat type) built-in magnet cylinder without an auto switch is required. MB
R Axial § v o 1) Rod end cap (Round type)
. od end bracket is shipped together with the product, but not as_sembled‘ MB1
Refer to page 63 for the double knuckle joint (with one-
touch connecting pin). CAZ
o Number of auto switches 0 Auto switch mounting type 9 Made to Order
Nil 2 pcs. [A] Rail mounting | Refer to page 120 for details. cs1
S 1 pc. B ] Band mounting |
n “n” pes. «+: For rail mounting, screws and nuts for 2 auto switches CS2
come with the rail.
+: Refer to page 148 for auto switch mounting brackets.
+: Refer to “Ordering Example of Cylinder Assembly” on page 120. ‘
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
L )  |Eectical f Wit Load voltage Auto switch mod.el i Lead wire length [m] plewied [NApplicable
ype| Special function enty | 8 |(Output) DC AC Band mounting Rail mounting 05| 1| 3|5 [None e load
2 F In-line [P In-line | (Nil) |(M)| (L) [ (2) |(N)
3-wire (NPN) 5V 12V M9NV MON MONV M9N ® ® 0 O —| O 1C circuit
5 o Grommet 3-wire (PNP) ! M9PV M9P M9PV M9P ® | ®e|0 O — o
r; o-wire 12V M9BV M9B M9BV M9B ® ® @ O —| O _
® Connector — H7C J79C = e — 0|00 —
'g D tic indicati 3-wire (NPN) 5V.12V] MONWV | MONW |[MONWV | MONW | @ (@ |® (O |—| O | et Rel
= Egé‘;f”‘fn'gm‘gz"‘)’” Yes|3-ire (PNP) |24 v|° — [M9PWV | M9PW [M9PWV | M9PW | @ |@ (@ |O|—| O | Y
kt 2-wire 12V MO9BWV | M9BW |M9BWV | M9BW @ (@ | @ O | —| O —
g Water resistant Grommet| ~ |3-wire (NPN) 5V 12V M9INAV*'| MONA*" [MONAV*'| MONA*' | O |[O | @ |O|—| O 1C circuit
S (2-color indicator) 3-wire (PNP) ' M9PAV*'| M9PA*! IMOPAV*!'| M9PA*' | O |O | @ |O|—| O
() 2-wire 12V M9BAV*'| M9BA*' [M9BAV*'| MOBA*' | O |O | @ |O |—| O —
Wih dagnostic ovput (2-colr indiator) 4-wire (NPN) 5V,12V — H7NF — F79F ® | —|® /0 |— O [ICcircuit
5 (NPSN'E‘QVU";”” _ | sv — A%V | A% | A%V | A% | @ |—|@|—|—| — |Coioi| —
H Grommet| — [ 200v — — A72 | A72H (@ [—|@|—|— _
o —_— L 100V | A93V*2 A93 A93V*#2 A93 o 0 00— —
E No| 2-wire 12v 100V or less| A90V A90 A90V A90 ® |— | ®|—|—| — |Ccicu Relay,
B comector € 24V — — C73C | A73C — e —ej0oj@0| — | — [PC
& No 24V or less — c80C A80C = ® | — ® ® ® — |Cimui
g0l indiaor) | Grommet | Ye — — — — A79W = e — 0 —|—| — —
+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
#2: 1 m type lead wire is only applicable to D-A93. D'I:l
*: Lead wire length symbols: 0.5 m- - Nil (Example) MONW #: Since there are other applicable auto switches than listed, refer to page 149 for
1m- M (Example) MONWM details. 'XD
L (Example) MONWL

~ Z (Example) MONWZ -
#: Solid state auto switches marked with “O” are produced upon receipt of order. Technical
*: The D-A9C)/MILI/A70/ABOLI/F70IA700 auto switches are shipped together, but not assembled. (For band mounting, only auto switch mounting brackets are assembled before being shipped.) Data

119 ®



CJ2R series

Specifications

The CJ2R direct mount cylinder

can be installed directly through Bore size [mm] 10 16
the use of a square rod cover. Act'lon Double actmg, Single rod
Fluid Air
Proof pressure 1 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.06 MPa
amint ana i omperatre | "SI0 0G0 106 1 s
Cushion Rubber bumper
Lubrication Not required (Non-lube)
Stroke length tolerance 10

Piston speed 50 to 750 mm/s

Allowable kinetic energy 0.035J ‘ 0.090 J
Symbol
Double acting, Single rod, Rubber bumper Standard Strokes
—————————
[mm]
Bore size Standard stroke Maximum siroke
10 15, 30, 45, 60, 75, 100, 125, 150 400
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400

Made 10 o -
‘Order | Made to Order: Individual Specifications
(For details, refer to page 150.)

‘ Symbol ‘ Specifications ‘
-X446 | PTFE grease |

Made to Order
Click here for details

= Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

+: Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” on front matter pages. In addition, the products that exceed the
standard stroke might not be able to fulfill the specifications due to the deflection etc.

Accessories rerto page 42 for the list of brackets and page 63 for details about part numbers and dimensions.
—

Symbol Specifications

-XALO | Change of rod end shape Standard Rod end nut

-XC9 | Adjustable stroke cylinder/Adjustable retraction type N . - ) ) - 3

-XC22 | Fluororubber seal OptionNete 1) Single knuckle joint, Double knuckle joint (including a pin and retaining rings), Rod
- end cap (Flat/Round type), Double knuckle joint (With one-touch connecting pin)

-XC51 | With hose nipple

-XC85 | Grease for food processing equipment Note 1) Can be ordered within the cylinder model. Except for the double knuckle joint (with one-

touch connecting pin).
Note 2) Stainless steel accessories are also available. Refer to page 63-1 for details.

A\ Precautions

1 Refer to page 152 before handling. 1 Welghts
L e e e e e
gl
Bore size [mm] 10 16
Ordering Example of Cylinder Assembly Basic weight [Basic 36 61
(When the stroke is zero) \ Axial piping 36 61
Additional weight per 15 mm of stroke 4 7
Cylinder model: CDJ2RA16-60Z-W-M9IBW-B Single knuckle joint 17 23
Double knuckle joint 25 29
(including knuckle pin)
Accessories Double knuckle joint (With
N . 26 22
one-touch connecting pin)
Double knuckle joint Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
#: Mounting nut and rod end nut are included in the basic weight.
Calculation:

Example) CJ2RA10-45Z
*Basic weight ----------- 36 (210)
*Additional weight ---- 4/15 stroke
*Cylinder stroke-------- 45 stroke
36+4/15x45=48¢g

Auto switch
Band mounting

Mounting A: Bottom mounting

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

Refer to pages 142 to 149 for cylinders with auto switches.

 Auto switch proper mounting position (detection at stroke end) and its mounting height
* Minimum stroke for auto switch mounting

« Operating range

 Auto switch mounting brackets/Part no.

+: Double knuckle joint and auto switch are shipped
together with the product, but not assembled.

© 120



http://www.smcworld.com/products/en/custom.do

Air Cylinder: Direct Mount Type

Clean Series

Double Acting, Single Rod

10-CJ2RA 13 - ‘Stroke‘ ‘Head cover port location| Z

Clean Series

Air cylinder which is applicable for the system which
discharges leakage from the rod section directly into the
outside of clean room by relief port and making an
actuator’s rod section having a double seal construction.

Specifications

CJ2R series

Action

Double acting, Single rod

Bore size [mm] 10, 16
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.08 MPa
Cushion Rubber bumper

[x NN x]
€= || C=
0 || =

H <)

Standard stroke [mm] Same as standard type. (Refer to page 120.) CMZ
For the detailed specifications, refer to the “Pneumatic Clean Series” Auto switch Mountable (Band mounting)
(CAT.E02-23). Mounting Bottom mounting CM3

Construction (Not able to disassemble)

| =1
—
 —

ned

MB1

o
>
N

(BN ¥]
(7 BIN 7]
N || =



CJ2R series

Construction (Not able to disassemble)

” ?? | Wﬁ

With auto switch

Component Parts

No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy 8 | Bumper Urethane
2 | Head cover Aluminum alloy 9 | Rod seal NBR
3 | Cylinder tube Stainless steel 10 | Piston seal NBR
4 | Piston rod Stainless steel 11 | Tube gasket NBR
5 | Piston A Aluminum alloy 12 | Wear ring Resin
6 | Piston B Aluminum alloy 13 | Rod end nut Rolled steel
7 | Piston Aluminum alloy 14 | Magnet —
Bottom Mounting
————————
CJ2RA }g - ‘Stroke‘ ‘Head cover port location| Z
GA
Y
Rod end nut X Piping port 2 x M5 x 0.8 GB
M\ & Piping port
2 &
Q
CE.-: & 2 - JE

W

0
B.os

Head cover port location
A NA NB B.S. g ;
|LH| 2xolD T S+ Stoke == = Axial location (R)
LB )
Z+ Stroke Head cover shape ™ Zgzs"":;’"‘c'gf;de’ length
[mm]
Bore size] A B [+ D |GA|GB| H L |LB LD LH | LX MM NA |[NB | X S z
10 15 |12 14 4 16 5 20 | 23 16 |035through, 06.5 counterbore depth 4| 8 12 | M4x0.7 | 20.5| 9.5 | 28 54 74
16 15 |18.3| 20 5 16 5 20 | 26 | 20 |o45through, o8 counterbore depth5| 10 | 16 | M5x 0.8 | 20.5 | 9.5 | 28 55 75

122



Air Cylinder: Direct Mount Type
Single Acting, Spring Return/Extend

CJ2R series

210, 016

How to Order

BN cJ2rA[E -
Wit auto switc| C[T)JZRA EE Z- ’%
With auto switch (Built-in magnet) 9

&E \
H <)

cM2
o Mounting 9 Bore size 9 Cylinder standard stroke [mm] o Action CM3
[A] Bottom mounting | [10] 10 mm | Refer to “Standard Strokes” on [ 'S | Ssingle acting, Spring return | ‘CG.I
[16] 16 mm | pagei24. [T [ single acting, Spring extend |
e Head cover port location 6 Rod end bracket o Auto switch 0 Number of auto switches 063
Perpendicular to Nil None Nil |  Without auto switch | Nil 2 pcs.
Nil axis \f Vv Single knuckle joint =: For applicable auto switches, refer S 1 pc. JMB
- Wi Double knuckle joint to the table below. n “n” pcs.
T Rod end cap (Flat type) * Enter the auto switch mounting MB
R Axial \,. U Rod end cap (Round type) type (A or IB)deven_‘whhe? a buil‘t-in
- #: Rod end bracket is shipped together magnet cylinder without an auto
#: Not applicable to single acting, with the product, but ngtpasser%b\ed switch is required. MB1
spring extend (T). : Refer to page 63 for the double knuckle
joint (with one-touch connecting pin). CA2
9 Auto switch mounting type @ Made to Order cS1
‘ A ‘ Rail mounting ‘ Refer to page 124 for details.
B Band mounting |
«: For rail mounting, screws and nuts for 2 auto switch- csz
es come with the rail.
«: Refer to page 148 for auto switch mounting brackets. + Refer to “Ordering of Cylinder A y” on page 124. ‘
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
s y Electrical Ezm Wiring Load voltage . Auto switch mRod:eI Lead wire length [m] Presvied| Applicable
yoe| Special function 2 an mounting ail mounting 05| 1|3 |5 [None|
ety | §|(Outeuty)  DC AC T In-line_[pi Inine | (Nih | (V)| (L) | @) |y | toad
3-wire (NPN) 5V 12V MONV M9N MONV MON ® | ® 0 O —| O G cicuit
5 - Grommet 3-wire (PNP) ! M9PV M9oP M9PV M9oP ® @@ O0|—| O
.E 2-wire 12V M9BV M9B M9BV M9B ® ® 0 O —| O _
@ Connector — H7C J79C = o —0o/0 0 —
-g Diagnostic indication 3wire (NPN) 5Vi2V MONWV | MONW |[MONWV | MONW | @ (@ | ®@ O |—| O IC circu| Rel
= (2?co\or nicaton Yes|3ire (PNP)[24 V|° — | M9PWV | M9PW | M9PWV | M9PW | @ @@ |O|—| O e
k] 2-wire 12V M9BWV | M9BW |M9BWV | M9BW ® @ | ®@ O |—| O —
_g Water resistant Grommet| | 3-wire (NPN) 5V12V] MONAV*!| MONA*! IMONAV*'| MONA*' | O |O |@ |[O|—| O G ciaut
5 (2-color indicator) 3-wire (PNP) ’ M9PAV*!| M9PA*! IMOPAV*!'| MOPA*' | O |O | @ |O|—| O
@ 2-wire 12V M9BAV*'| M9BA*' [M9BAV*'| MO9BA*' | O |O | @ |O|—| O —
Wi dagnosti upu 2-oolr el 4-wire (NPN) 5V,12V — H7NF = F79F ® |—| ® O|—| O |Ccircuit
< Svire 5V | — | A%V | A% | A%V | A% |® |—|@|—|—| — |Comil —
s (NPN equivalent)| —
E Grommet |~ — | 200V — — A72 | A72H (@ |—|@®|—[— _
o —_ [ | 100V | A93V*#2 A93 | A93V*2 | A93 ® |0 0 0 —
E No| 2-wire 12V 100 Vorless| A90V A90 A9oV A90 ® |— ®|—|—| — |CcicuRelay,
B Comector |Yes| 24 V| — — C73C A73C = o —0o/00 — — | PLC
2 No| 24V or less — Cc80C A80C = ® | — ® ® ® — |Cciu
(2eoorindcator) | Grommet |Yes — — — — A7T9W — o —\ 0 —|—| — —
#1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
#2: 1 m type lead wire is only applicable to D-A93. D'D
#: Lead wire length symbols: 0.5 m- - Nil (Example) MONW x: Since there are other applicable auto switches than listed, refer to page 149 for
1m- M (Example) MONWM details.
L (Example) MONWL =X
Z (Example) MONWZ
- N (Example) H7CN

#: Solid state auto switches marked with “O” are produced upon receipt of order. Technical
x: The D-A90/MILI/A70/AB0/F70/700 auto switches are shipped together, but not assembled. (For band mounting, only auto switch mounting brackets are assembled before being shipped.) Data

123 ®



CJ2R series

The CJ2R direct mount cylinder

can be installed directly through
the use of a square rod cover.

-
'ﬁ?u"‘

Symbol

Single acting, Spring return,  Single acting, Spring extend,
Rubber bumper Rubber bumper

=l

Specifications
Bore size [mm] 10 16
Action Single acting, Spring return/Single acting, Spring extend
Fluid Air
Proof pressure 1 MPa
operating pressure 0.7 MPa
Minimum operating pressure 0.15 MPa

Ambient and fluid

Without auto switch: —10°C to 70°C

With auto switch: —10°C to 60°C (N© €eZing)

Cushion

Rubber bumper

Lubrication

Not required (Non-lube)

Stroke length tolerance

+1.0
0

Piston speed

50 to 750 mm/s

Allowable kinetic energy

0.035J \ 0.090 J

Standard Strokes

made t0 . I
order | Made to Order: Individual Specifications
(For details, refer to page 150.)

‘ Symbol ‘ Specifications ‘
-X446 ‘ PTFE grease ‘
Made to Order

Click here for details

Symbol Specifications
-XAL[] | Change of rod end shape
-XC51 | With hose nipple

[mm]
Bore size Standard stroke
10 15, 30, 45, 60
16 15, 30, 45, 60, 75, 100, 125, 150

+: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)
Please consult with SMC for strokes which exceed the standard stroke length.

+: Applicable strokes should be confirmed according to the usage. For details, refer to “Air Cylinders
Model Selection” on front matter pages. In addition, the products that exceed the standard stroke
might not be able to fulfill the specifications due to the deflection etc.

ACCeSSOIies fReferto page 42 for the list of brackets and page 63 for details about part numbers and dimensions.

-XC85 | Grease for food processing equipment

1 Refer to page 152 before handling. 1

Ordering Example of Cylinder Assembly

Cylinder model: CDJ2RA16-45SZ-W-M9BW-B

Auto switch
Band mounting

Double knuckle joint

Mounting A: Bottom mounting

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

+: Double knuckle joint and auto switch are shipped
together with the product, but not assembled.

© 124

Standard Rod end nut
A Precautions OptionNote 1) Single knuckle joint, Double knuckle joint (including a pin and retaining rings), Rod
P end cap (Flat type, Round type), Double knuckle joint (With one-touch connecting pin)

Note 1) Can be ordered within the cylinder model. Except for the double knuckle joint (with one-touch

connecting pin).

Note 2) Stainless steel accessories are also available. Refer to page 63-1 for details.

Spring Reaction Force

Reaction Force).

Refer to page 1899 (Table (2): Spring

Refer to pages 142 to 149 for cylinders with auto switches.

* Operating range

« Auto switch proper mounting position (detection at stroke end) and its mounting height
* Minimum stroke for auto switch mounting

* Auto switch mounting brackets/Part no.



http://www.smcworld.com/products/en/custom.do

Air Cylinder: Direct Mount Type
Single Acting, Spring Return/Extend

CJ2R series

Weights
——
Spring Return [g] Spring Extend [g]
Bore size [mm] 10 16 Bore size [mm] 10 16
Mounting Basic |Axial piping| Basic |Axial piping Mounting Basic Basic
15 stroke 42 42 81 81 15 stroke 41 78
30 stroke 49 49 97 97 30 stroke 47 92 ‘c J1
45 stroke 59 59 114 114 45 stroke 55 108
Basic 60 stroke 68 68 132 132 Basic 60 stroke 64 123
weight 75 stroke 154 154 weight 75 stroke 144 CJP
100 stroke 187 187 100 stroke 173
125 stroke 224 224 125 stroke 208 m
150 stroke 246 246 150 stroke 228
Single knuckle joint 17 23 Single knuckle joint 17 23 JCM
Double knuckle joint Double knuckle joint
. . . 25 21 . . N 25 21
(including knuckle pin) (including knuckle pin) c
Accessories | Double knuckle joint (With Accessories | Double knuckle joint (With M2
P 26 22 P 26 22
one-touch connecting pin) one-touch connecting pin)
Rod end cap (Flat type) 1 2 Rod end cap (Flat type) 1 2 cM3
Rod end cap (Round type) 1 2 Rod end cap (Round type) 1 2
*: Rod end nut is included in the basic weight. CG1
Construction (Not able to disassemble) JVB
Single acting,
Spring return 1 13 8) (0 mB
MB1
- 13
M H ﬂ HJ_V\A CA2
e - cs1
With auto switch
Single acting,
With auto switch
Component Parts
No. Description Material Note No Description Material Note
1 | Rod cover Aluminum alloy 9 | Piston seal NBR
2 | Head cover Aluminum alloy 10 | Tube gasket NBR
3 | Cylinder tube Stainless steel 11 | Wear ring Resin
4 | Piston rod Stainless steel 12 | Return spring Piano wire
5 | Piston A Aluminum alloy 13 | Spring seat Aluminum alloy
6 | Piston B Aluminum alloy 14 | Rod end nut Rolled steel
7 | Piston Aluminum alloy 15 | Magnet —
8 | Bumper Urethane 16 | Rod seal NBR
D-O

125

Technical
Data

®



CJ2R series

Single Acting_;: Bottom Mounting

Spring return: CJ2RA }g - ‘Stroke‘ S ‘Head cover port location| Z

X
Piping port M5 x 0.8
Rod end nut <Y> —_— Piping port
MM Breather hole - .GB o
\ )
=]
9
%= ! ut 4 =3 - > —E——
K :
B Head cover port location
LH 2xoLD LA | |NA] INB| 03 Axial location (R)
LB H S + Stroke : The overall cylinder length
Z + Stroke Head cover shape does not change.
[mm]
Bore size A B C D |[GB| H L LB LD LH | LX MM NA | NB | X Y
10 15 12 14 4 5 20 23 16 |03.5 through, 06.5 counterbore depth 4|~ 8 12 M4 x 0.7 128 | 9.5 28 8
16 15 [ 183 | 20 5 5 20 26 20  |o45through, 08 counterbore depth 5| 10 16 M5 x 0.8 128 | 9.5 28 8
Dimensions by Stroke: Spring Return [mm]
Bore size = z
51015t {16t 30 t|31 to 45 st|46 to 60 st |61 to 75 st| 7610 100t | 10110 125st| 12610 150st] 5to 16 st |16t 30 st|31 to 45 st] 46 to 60 st to 75 st| 7610 100t 1010 126t 1260 160t
10 53.5 | 61 73 85 — | 735 81 93 | 105 | — —
16 535 | 62 74 86 92 | 116 | 134 | 146 | 735 | 82 94 | 106 | 112 | 136 | 154 | 166
. . 10
Spring extend: CJ2RA 1 ¢ — [Stroke| TZ
X + Stroke
Rod end nut GA
Y Piping port M5 x 0.8
MM Breather hole q)o
\ [=] @
Q,
x| R 4 o3 /
I f i [ J
A NA NB .
D B.os
LH 2xolD H + Stroke S + Stroke
LB Z +2 x Stroke Head cover shape
[mm]
Bore size A B C D |[GA| H L LB LD LH | LX MM NA | NB | X Y
10 15 |12 14 4 16 20 23 16 |035through, 06.5 counterbore depth 4|~ 8 12 M4 x 0.7 20.5 | 4.8 28 8
16 15 | 183 | 20 5 16 20 26 20  |o45through, 08 counterbore depth 5| 10 16 M5 x 0.8 20.5 | 4.8 28 8
Dimensions by Stroke: Spring Extend [mm]
Bore size S z
5t 15 st| 161030 st 31 to 45 st |60 60 st 61 to 75 st 7610 100 st|101to 125 sf| 126 to 1501] § to 15 st | 16 to 30 t|31 to 45 st|46 to 60 st 61 to 75 st |76 10 100 101 fo 125 st} 126 10 150 st
10 56.5 | 64 76 88 — — — — | 765 | 84 9 | 108 | — — — —
16 56.5 | 65 77 89 95 | 119 | 137 | 149 | 765 | 85 97 | 109 | 115 | 139 | 157 | 169

126



Air Cylinder: Direct Mount, Non-rotating Rod Type
Double Acting, Single Rod

210, 016

BN CJ2RKA[iE
Withautosuith C?JZRKA

How to Order

CJ2RK series

ek

H <)

With auto switch (Built-in magnet) CMZ
o Mounting 9 Bore size 9 Cylinder standard stroke [mm] CM3
‘ A ‘ Bottom mounting ‘ [10] 10 mm | Refer to “Standard Strokes” on page 128. CG1
[16] 16 mm |
e Head cover port location e Rod end bracket 0 Auto switch o Number of auto switches 063
Perpendicular to Nil None Nil [ Without auto switch | Nil 2 pcs.
Nil axis §f Vv Single knuckle joint =: For applicable auto switches, refer S 1 pc. JMB
- Wi Double knuckle joint to the table below. n “n” pcs.
T Rod end cap (Flat type) * Enter the auto switch mounting MB
R Axial § - U Rod end cap (Round type) type (A or B) even when a built-in
- #: Rod end bracket is shipped together ?&?Q;itscgn&z:nmom an auto MB1
with the product, but not assembled. q .
Refer to page 63 for the double knuckle
joint (with one-touch connecting pin). CA2
e Auto switch mounting type 9 Made to Order cS1
‘ A ‘ Rail mounting ‘ Refer to page 128 for details.
B Band mounting | 2
«: For rail mounting, screws and nuts for 2 auto switches cs
come with the rail.
«: Refer to page 148 for auto switch mounting brackets. + Refer to “Ordering of Cylinder A bly” on page 128. ‘
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
5 Load voltage Auto switch model Lead wire length [m] "
. . Electrical| 5 | Wiring 3 Pre-wired | Applicable
Type| Special function § Band mounting Rail mounting 05| 1| 3|5 |None|
ey | §|(Outeuty) DS A in-line P indine | (Nih | (V)| (L) | @) |y e toad
3-wire (NPN) 5V12V] MONV M9N MINV MIN © @/ ®@/O|—| O | dircu
5 Grommet| ~ [3-wire (PNP) ' MOPV [ MOP | MoPV | MoP | e [@[@|O|—| O [
g 2-wire 12V M9BV M9B M9BV MB @ /@ O|—| O o
[ Connector — H7C J79C = o — 0o/ 0 —
g Diagnostic indication 3-wire (NPN) 5Vi2V MONWV | MONW |MONWV | MONW | @ (@ | @ O|—| O IC circut] Rel
o (2?00‘0, indicator) Yes|3-wire (PNP)[24 V|° — [M9PWV | M9PW [M9PWV | M9PW (@ @ (@ |O|—| O | ey,
s 2-wire 12V M9BWV | M9BW |M9BWV | M9BW | @ (@ | ® | O|—| O —
% Wat istant Grommet| | 3-wire (NPN) 5V12V] MONAV*!| MNA*! IMINAV*!| MONA*' | O |O | @ |O|—| O | dirat
2| o c‘; ;’r"iz‘sc;g) 3vire (PNP) ' M9PAV*1| MOPA*' [MOPAV*'| M9PA*' | O [O|@|O[—| O |~
@ 2-wire 12V M9BAV*'| M9BA*' [M9BAV*'| MOBA*' | O |O | @ |O|—| O —
Wit diagnosic ouput el indiaor 4-wire (NPN) 5V,12V — H7NF = F79F ® |— @ O|—| O |Cecircuit
3-wire
S (Plepien)| — | 5V - Ag6V A96 A6V A% (@ | — @ — — |iCcireut| —
H Grommet |~ — [ 200V — — A72 | A72H (@ [—[@[—[—| — [ _
° —_— L | 100V | A93V*2 | A93 | A93V*2 | A93 o 0 00— —
3 — [
o No| e 1oy [100Vorless| A9OV A90 A90V A90 [ ] ° IC circuit| Relay,
2 Connectorﬁ 24 V| — = C73C A73C = o — 0o/ 0 — —
& No| 24Vorless = Cc80C A80C — ® | — ® ® ® — |Cciu
(2o indeator)| Grommet |Yes — — = = A79W = o —\0/—\—| — —

*#1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
#2: 1 m type lead wire is only applicable to D-A93.

#: Lead wire length symbols: 0.5 m-
1m-

- Nil (Example) MONW
M (Example) MONWM
L (Example) MONWL
Z (Example) MONWZ
- N (Example) H7CN

+: Solid state auto switches marked with “O” are produced upon receipt of order.

*: The D-A90)/MILI/A70/ABOLI/F70IA700 auto switches are shipped together, but not assembled. (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

#: Since there are other applicable auto switches than listed, refer to page 149 for D'D

details.

-XO

Technical
Data

127 ®



CJ2RK series

Specifications
A cylinder which rod does not
rotate because of the hexagonal Bore size [mm] 10 16
rod shape. Act.lon Double actlng, Single rod
Fluid Air
Non-rotating accuracy ;""?f pressure - 017""’:;
laximum operating pressure . a
- + o - 4 o]
210: +1.5%, 016: +1 Minimum operating pressure 0.06 MPa
PR . Without auto switch: —10°C to 70°C .
- and fluid temperature With auto switch: ~10°C to 60°C (N e€Zn%)
- ~ Cushion Rubber bumper
o “’o!‘ Lubrication Not required (Non-lube)
Stroke length tolerance 10
K Rod non-rotating accuracy +1.5° ‘ +1°
@\‘,ﬁ} — Piston speed 50 to 750 mm/s
"N Allowable kinetic energy 0.035 J [ 0.090 J

Symbol
Double acting, Single rod, Rubber bumper

Made 10 - _—
order | Made to Order: Individual Specifications
(For details, refer to page 150.)

\ Symbol \ Specifications \
‘ -X446 ‘ PTFE grease ‘
Made to Order

Click here for details

Symbol Specifications

-XAL | Change of rod end shape

-XC9 | Adjustable stroke cylinder/Adjustable retraction type

Standard Strokes

[mm]
Bore size Standard stroke
10 15, 30, 45, 60, 75, 100, 125, 150
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200

: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)
Please consult with SMC for strokes which exceed the standard stroke length.

+: Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” on front matter pages. In addition, the products that exceed the
standard stroke might not be able to fulfill the specifications due to the deflection etc.

A CCeSSOIie S Referto page 42 for the list of brackets and page 63 for details about part numbers and dimensions.
—

Standard Rod end nut

Single knuckle joint, Double knuckle joint (including a pin and retaining rings), Rod

OptionNote 1) L . M
end cap (Flat/Round type), Double knuckle joint (With one-touch connecting pin)

-XC51 | With hose nipple
-XC85 | Grease for food processing equipment

A\ Precautions

1 Refer to page 152 before handling. 1

Ordering Example of Cylinder Assembly

Cylinder model: CDJ2RKA16-60Z-W-M9BW-B

Double knuckle joint

Auto switch
Band mounting

Mounting A: Bottom mounting

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

+: Double knuckle joint and auto switch are shipped
together with the product, but not assembled.

© 128

Note 1) Can be ordered within the cylinder model. Except for the double knuckle joint (with
one-touch connecting pin).
Note 2) Stainless steel accessories are also available. Refer to page 63-1 for details.

Weights
——
9]
Bore size [mm] 10 16
Basic weight [ Basic 36 62
(When the stroke is zero) | Axial piping 36 62
Additional weight per 15 mm of stroke 4 7
Single knuckle joint 17 23
Double knuckle joint
(including knuckle pin) 25 21
Accessories Double knuckle joint (With
. . 26 22
one-touch connecting pin)
Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
#: Rod end nut is included in the basic weight.
Calculation:

Example) CJ2RKA10-45Z
*Basic weight -
*Additional weight ----

Refer to pages 142 to 149 for cylinders with auto switches.

 Auto switch proper mounting position (detection at stroke end) and its mounting height
* Minimum stroke for auto switch mounting
« Operating range

 Auto switch mounting brackets/Part no.



http://www.smcworld.com/products/en/custom.do

Air Cylinder: Direct Mount, Non-rotating Rod Type
Double Acting, Single Rod

Construction (Not able to disassemble)

Rod section

= 5
Sz 2o

Paull >
il

CJ2RK series

With auto switch

[x NN x]
€= || C=
0 || =

H <)

Component Parts CM2
No. Description Material Note No Description Material Note
1 | Rod cover Aluminum alloy 8 | Bumper Urethane CM3
2 | Head cover Aluminum alloy 9 | Rod seal NBR
3 | Cylinder tube Stainless steel 10 | Piston seal NBR CG1
4 | Piston rod Stainless steel 11 | Tube gasket NBR
5 | Piston A Aluminum alloy 12 | Wear ring Resin css
6 | Piston B Aluminum alloy 13 | Rod end nut Rolled steel
7 | Piston Aluminum alloy 14 | Magnet — JMB
. MB1
Bottom Mountlng
o : CA2
CJ2RKA 16~ ‘Stroke‘ ‘Head cover port Iocatlon‘ z
CS1
X, CS2
Rod end nut GA
Y Piping port 2 x M5 x 0.8 GB
MM
&
ﬁ y D 5 e
¥ m‘ /
KA @
B3s
LB Rod section LA L NA |NB|
H S + Stroke Head cover shape
Z + Stroke
Piping port
Head cover port location
Axial location (R)
«: The overall cylinder length does not change.
[mm]
Boresize | A | B | C |GA|GB| H |KA| L |LB LD LH | LX MM NA|NB| X | Y |[S | Z
10 15 |12 14 | 16 5 20 | 42 | 23 16 |035through, 06.5 counterbore depth 4|~ 8 12 | M4x0.7 |205| 95 | 28 8 54 | 74
16 15 [18.3| 20 | 16 5 20 | 5.2 | 26 | 20 |o45through, 08 counterbore depth5| 10 | 16 | M5x 0.8 |20.5| 9.5 | 28 8 55 | 75 D.|:|



Air Cylinder: Direct Mount, Non-rotating Rod Type
Single Acting, Spring Return/Extend

CJ2RK series

210, 016 .

= |
How to Order )
A -
[ ] CJ2RKA -] e
With auto switch (Built-in magnet)—l_ ! E ! ii;
o Mounting 9 Bore size 9 Cylinder standard stroke [mm] o Action
[A] Bottom mounting | [10] 10 mm | Refer to “Standard Strokes” on [ 'S | Ssingle acting, Spring return |
[16] 16 mm | page13t. [T [ single acting, Spring extend |
e Head cover port location 6 Rod end bracket o Auto switch 0 Number of auto switches
" Nil None Nil [ Without auto switch | Nil 2 pcs.
e Perpendicular to - - —
Nil P axis §f v Single knuckle joint =: For applicable auto switches, refer S 1 pc.
Wi Double knuckle joint to the table below. n “n” pcs.
T Rod end cap (Flat type) * Enter the auto switch mounting
R Axial §/ . U Rod end cap (Round type) type (A or B) even when a built-in
#: Rod end bracket is shipped together magnet cylinder without an auto

«#: Not applicable to single acting, with the product, but not assembled. switch is required.

spring extend (T). : Refer to page 63 for the double knuck-
le joint (with one-touch connecting pin).

9 Auto switch mounting type @ Made to Order
[A] Rail mounting | Referto page 131 for details.

B Band mounting |

«: For rail mounting, screws and nuts for 2 auto switch-
es come with the rail.
«: Refer to page 148 for auto switch mounting brackets.

= Refer to “Ordering Example of Cylinder Assembly” on page 131.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

o g., Wiring Load voltage Auto switch model Lead wire length [m] provied | Applicable
Type| Special function 8 Band mounting Rall mounting 05| 1|3 |5 |None| o
em”’ £|©@utput)) DO AC In-line_| inine | (Nil [v)| L) | @) | | ™| oad
3-wire (NPN) 5Vi2V MONV M9N MINV M9N ® /0 O|—| O 1C circuit
£ o Grommet 3-wire (PNP) ! M9PV M9P M9PV M9P ®  ®0/0 O — O
.-; 2-wire 12V M9BV M9B M9BV M9B ® /0 O|—| O _
13 Connector — H7C J79C = o —| o006 —
‘g DI ic indicati 3-wire (NPN) 5VA2V MONWV | MONW |MONWV | MONW | @ (@ | ® O | —| O |.. i
& |Diagnostic indication Ves{3vire NP [24 V| —  [M9PWV | MSPW [M9PWV | MPW | @ (@@ O [—| O |~ Rl
2| (2-color indicator) - PLC
s 2-wire 12V MOBWV | M9BW |M9BWV | M9BW | @ (@ | ® O |—| O —
g Water resistant Grommet 3-wire (NPN) 5Vi2V MONAV*!| MONA*' IMONAV#'| MONA*' | O |O | @ | O |— O 1C circuit
3 (2-color indicator) 3-wire (PNP) ! M9PAV*1| MOPA*! IMOPAV*'| MOPA*' | O |O | @ |O|—| O
@ 2-wire 12V M9BAV*'| M9BA*' [M9BAV*'| MO9BA*' | O |O | @ |O|—| O —
Wit dagnosi iput 2olor el 4-wire (NPN) 5V,12V — H7NF = F79F | @ |—|®|O|—| O |Ccircui
5 3‘:“"9/ |5V | — | A%V | A9 | A%V | A% |® |—|®@|—|—| — [Comul| —
H Grommet|' | — [ 200V — — A72 | A72H (@ [—[@[—|—] — [
° —_— L | 100V | A93V*2 A93 A93V*#2 A93 ® o 0 0 —
g No 2-wire 12v 100 Vorless| A90V A90 A90V A90 ® |— | ®|—|—| — |Ccircu|Relay,
3 Comector |Yes| 24V — — C73C A73C = o — o006 — — | PLC
£ No 24V orless — C80C A80C = ® | —|®/®|/® — |Ciu
Diagnosicndcaion (2ol indicar) | Grommet |Yes| — — — — A79W — o —|0 | —|—| — —
#1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
#2: 1 m type lead wire is only applicable to D-A93.
Nil (Example) MONW #: Since there are other applicable auto switches than listed, refer to page 149 for

= Lead wire length symbols: 0.5 m-
1m- M (Example) MONWM details.
L (Example) MONWL
Z (Example) MONWZ
- N (Example) H7CN
+: Solid state auto switches marked with “O” are produced upon receipt of order.
+: The D-A9C)/MOCI/A7CI/AB0CI/F701/J700 auto switches are shipped together, but not assembled. (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

® 130



Air Cylinder: Direct Mount, Non-rotating Rod Type
Single Acting, Spring Return/Extend

A cylinder which rod does not

CJ2RK series

rotate because of the hexagonal
rod shape.

Non-rotating accuracy

210: £1.5°, 16: £1°

Can operate without
lubrication. -

-

» &

-
55

Symbol

Single acting, Spring return,
Rubber bumper

+] \M

Single acting, Spring extend,
Rubber bumper

=

Made to| ST P

‘Order | Made to Order: Individual Specifications
(For details, refer to page 150.)

‘ Symbol ‘ Specifications ‘

-X446 | PTFE grease |

Made to Order

Click here for details

Symbol Specifications

-XA[] | Change of rod end shape

-XC51 | With hose nipple

-XC85 | Grease for food processing equipment

A Precautions

1 Refer to page 152 before handling. 1

Ordering Example of Cylinder Assembly

Cylinder model: CDJ2RKA16-45SZ-W-M9BW-B

Specifications
Bore size [mm] 10 16
Action Single acting, Spring return/Single acting, Spring extend
Fluid Air
Proof pressure 1 MPa CJ1
operating pressure 0.7 MPa
Minimum operating pressure 0.15 MPa CJP

Ambient and fluid temperature

Without auto switch: —10°C to 70°C

With auto switch: —10°C to 60°C (N© €eZing)

H <)

Standard Strokes

Cushion Rubber bumper
Lubrication Not required (Non-lube)
Stroke length tolerance +10 cMm2
Rod non-rotating accuracy +1.5° ‘ +1°
Piston speed 50 to 750 mm/s CM3
Allowable kinetic energy 0.035J \ 0.090 J
CG1
CG3

[mm]
Bore size Standard stroke
10 15, 30, 45, 60
16 15, 30, 45, 60, 75, 100, 125, 150

*: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)
=: Please consult with SMC for strokes which exceed the standard stroke length.
=: Applicable strokes should be confirmed according to the usage. For details, refer to “Air

Cylinders Model Selection” on front matter pages. In addition, the products that exceed the

standard stroke might not be able to fulfill the specifications due to the deflection etc.

A CCeSSOYieS/Referto page 42 for the list of brackets and page 63 for details about part numbers and dimensions.
—

Standard

Rod end nut

OptionNote 1)

Single knuckle joint, Double knuckle joint (including a pin and retaining rings), Rod
end cap (Flat/Round type), Double knuckle joint (With one-touch connecting pin)

Note 1) Can be ordered within the cylinder model. Except for the double knuckle joint (with one-

touch connecting pin).

Note 2) Stainless steel accessories are also available. Refer to page 63-1 for details.

Spring Reaction Force

Bore size

Spring reaction force [N]

C

(5]
(7]
—

c

A2

N

S

Auto switch
Band mounting

Mounting A: Bottom mounting

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

+: Double knuckle joint and auto switch are shipped
together with the product, but not assembled.

[mm] Primary
10 3.53

16 6.86

Secondary
6.86
14.2

Spring with primary  Spring with secondary
mounting load mounting load

s i =L va |

vV i |

When the spring is set  When the spring is
in the cylinder contracted by applying air

Refer to pages 142 to 149 for cylinders with auto switches.

* Auto switch proper mounting position (detection at stroke end) and its mounting height

* Minimum stroke for auto switch mounting
* Operating range
 Auto switch mounting brackets/Part no.



http://www.smcworld.com/products/en/custom.do

CJ2RK series

Weights
——
Spring Return lgl Spring Extend l9]
Bore size [mm] 10 16 Bore size [mm] 10 16
Mounting Basic |Axial piping| Basic |Axial piping Mounting Basic Basic
15 stroke 44 44 83 83 15 stroke 42 79
30 stroke 52 52 99 99 30 stroke 48 93
45 stroke 62 62 117 117 45 stroke 57 110
Basic 60 stroke 72 72 135 135 Basic 60 stroke 66 126
weight 75 stroke 157 157 weight 75 stroke 147
100 stroke 191 191 100 stroke 177
125 stroke 228 228 125 stroke 213
150 stroke 251 251 150 stroke 234
Single knuckle joint 17 23 Single knuckle joint 17 23
Double knuckle joint Double knuckle joint
(including knuckle pin) 25 21 (including knuckle pin) 25 21
Accessories | Double knuckle joint (With Accessories | Double knuckle joint (With
P 26 22 A 26 22
one-touch connecting pin) one-touch connecting pin)
Rod end cap (Flat type) 1 2 Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2 Rod end cap (Round type) 1 2
*: Rod end nut is included in the basic weight.
Construction (Not able to disassemble)
Single acting, Spring return
\ %@i \ \(i ? f /
D G N =
o
Rod section @
Single acting, ~
: 0®
Spring extend
& LT T ]
Nz
Rod section With auto switch
Component Parts
No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy 9 | Piston seal NBR
2 | Head cover Aluminum alloy 10 | Tube gasket NBR
3 | Cylinder tube Stainless steel 11 | Wear ring Resin
4 | Piston rod Stainless steel 12 | Return spring Piano wire
5 | Piston A Aluminum alloy 13 | Spring seat Aluminum alloy
6 | Piston B Aluminum alloy 14 | Rod end nut Rolled steel
7 | Piston Aluminum alloy 15 | Magnet —
8 | Bumper Urethane 16 | Rod seal NBR

® 132




Air Cylinder: Direct Mount, Non-rotating Rod Type
Single Acting, Spring Return/Extend

Single Acting: Bottom Mounting

Spring return: CJ2RK }g - ‘Stroke‘ S ‘Head cover port location| Z

CJ2RK series

Piping port M5 x 0.8
Rod end nut % GB
MM [~ Breather hole o Piping port
‘\ §
. % i€
o
Ha © 3 &
BJSs Head cover port location
LB Rod section A_| LNA] NE| Axial location (R)
H S + stroke Head h #: The overall cylinder length
ead cover shape ™
Z + Stroke P does not change.
[mm]
Bore size A B C |GB| H KA L LB LD LH | LX MM NA | NB X Y
10 15 12 14 5 20 4.2 23 16 |035through, 085 counterbore depth 4|~ 8 12 M4 x 0.7 128 | 95 28 8
16 15 | 183 | 20 5 20 5.2 26 20  |o45through, o8 counterbore depth 5| 10 16 M5 x 0.8 128 | 9.5 28 8
Dimensions by Stroke: Spring Return [mm]
’ S z
Bore size
510 15(16 10 30|31 t0 45(46 to 60|61t0 75| 7610 100 | 10110125 1260150 |5 to 15|16 t0 30|31 to 45|46 to 60|61 to 75| 7610 100 10110125 | 12610 150
10 535 | 61 73 85 — — — — | 735 81 93 105 | — — — —
16 53.5 | 62 74 86 92 116 | 134 | 146 | 735 | 82 94 106 | 112 | 136 | 154 | 166
Spring extend: CJ2RK }g - TZ
X + Stroke
GA Piping port M5 x 0.8
Y
Rod end nut | en:n:nm “‘ Breather hole
© 3
%= i ] € o% /
(1]
KA ) L/
LH 2xLD A NA NB
‘-[B H + Stroke S + Stroke B3
Rod section Z + 2 x Stroke
Head cover shape
[mm]
Bore size A B C |[GA| H KA L LB LD LH | LX MM NA | NB X Y
10 15 12 14 16 20 4.2 23 16 |035through, 06,5 counterbore depth 4 8 12 M4 x 0.7 205 | 4.8 28 8
16 15 | 183 | 20 16 20 5.2 26 20  |o45through, o8 counterbore depth 5| 10 16 M5 x 0.8 205 | 4.8 28 8
Dimensions by Stroke: Spring Extend (Dimensions not mentioned in the below table are the same as the above table.) [mm]
) S 4
Bore size
510 15(1610 30|31 t0 45|46 to 60|611t0 75| 7610 100 | 10110125| 12610150 |5 to 15|16 t0 30|31 to 45|46 to 60|61 to 75| 7610 100 10110 125 | 12610 150
10 56.5 | 64 76 88 — — — — | 765 | 84 96 108 | — — — —
16 56.5 | 65 77 89 95 | 119 | 137 | 149 | 76.5 | 85 97 109 | 115 | 139 | 157 | 169

USHHEE B

QIO |=
[Z BRIk
- N || -

(2]
N



[EETETE) CDBJ2

Air Cylinder: With End Lock

CBJ2 series

216

How to Order

CBJ2|L|16

1

o e

With auto switch—l_
(Built-in magnet)
0 Mounting 0 Cylinder standard stroke [mm] 9 Lock position o Manual release
B Basic Refer to “Standard Strokes” on page 135. [H] Headendlock | [N ] Non-locking type J
L Axial foot [R] Rod end lock
F Rod flange
D Double clevisi e Auto switch
«: Foot/Flange brackets are shipped Nil_] Without auto switch ‘
together with the product, but not «: For applicable auto switches, refer to the
assembled. table below.

= Rod end lock only.

@ Number of auto switches

* Enter the auto switch mounting type (A or
B) even when a built-in magnet cylinder
without an auto switch is required.

0 Auto switch mounting bracket

#: This symbol is indicated when the D-A90]

or M9 type auto switch is specified. This

Nil 2pcs.
S 1 pe.
n “n” pcs.

mounting bracket does not apply to other

auto switches (D-C70 and H7L, etc.) (Nil)

Built-in Magnet Cylinder Model

Suffix the symbol “-A” (Rail mounting) or “-B” (Band mounting)

to the end of part number for cylinder with auto switch.

[ Rail mounting | CDBJ2B16-45-HN-A

Example

| Band mounting | CDBJ2B16-60-HN-B

«: For rail mounting, screws and nuts for 2 auto switches

come with the rail.

+: Refer to page 148 for auto switch mounting brackets.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

I 5 Wiring Load voltage Auto switch model Lead wire length [m] Presied
Type| Special function entry (Output) DC AC Baqd mot:zt:::i L Rail mou::lr:ige (?\iﬁ) (JA) (ﬁ) é) I\:,o\;w)e sl Applicable load
3-wire (NPN) 5V12V MONV M9N M9NV M9N ® ®/ @& O|—| O IC circut
£ - Grommet|  |3-wire (PNP) | M9PV M9P M9PV M9P ® /0 0 —| O
'§ 2-wire 12V M9BV M9B M9BV M9B ® /00 —| O _
13 Connector — H7C J79C — o —|o 00 —
-g Di i 3-wire (NPN) 5V 12V MONWV| MONW MONWV|  MONW @ @ @ O |—| O G circuit| Rel
a I(chnﬁrlcm ioaton Yes|3-wire (PNP)|24 V|° V" — [M9PWV| M9PW [M9PWV| M9PW | @ (@ |@|O|—| O F?L"’(‘:y'
s 2-wire 12V M9BWV| M9BW M9BWV| M9BW @ @ @ O | —| O —
g Water resi 3-wire (NPN) 5V12V MINAV*T| MONA*! |[MINAV*1|[MONA*'| O O | @ | O|—| O IC circut
2 (Q_Color'; d:c;t‘tljlrl) 3-wire (PNP) ' M9PAV*'| MOPA*T|M9PAV* [MOPA*'| O |[O @ |O[—| O
@ 2-wire 12V M9YBAV*'| MOBA*' MIBAV*'|M9BA*'| O |O | @ |O|—| O -
4-wire (NPN) 5V,12V — H7NF — F79F ® —|(® O|—| O |[ICcircuit
< S-wire 5V | — | A9V | A% | A9V | A% | ® |—|®|—|—| — |Corout| —
s v (NPN equivalent)] —
5 — 200V — — A72 A72H ® — 0| — | —| — _
o —_— L 100V | A93V*2 | A93 | A93V*2| A93 ® o0 o —
é No 2-wire 12v 100 Vorless| A90V A90 A90V A90 ® |—|®|—|—| — |[I[Ccircuit| Relay,
] comector 24V — — C73C | A73C = o —0o/0|0 — — PLC
£ No 24Vorless) — C80C | A80C — ® —|® @ @& — |(Ccircui
Dot ncaon t|Yes — — — — A79W — o —|®|——| — —

*1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
%2: 1 m type lead wire is only applicable to D-A93.

*: Lead wire length symbols: 0.5 m-
1im

3m-
5m-
None-

MONW
MONWM
MONWL
MONWZ
H7CN

Nil (Example,
M (Example;

- N (Example,

*: Solid state auto switches marked with “O” are produced upon receipt of order.
*: The D-A9C)/MOLI/A7(I/A80L1/F700/J700 auto switches are shipped together, (but not assembled). (However, when the D-A9CJ/M9] types are selected, only auto

switch mounting brackets are assembled before being shipped.)
*: When the D-A90J/M90] types are mounted on a rail, order auto switch mounting brackets separately. Refer to page 148 for details.

® 134

#: Since there are other applicable auto switches than listed, refer to page 149
for details.



Air Cylinder: With End Lock CBJ2 Series

The CJ2 air cylinder is

equipped with end lock function.

&

Symbol
Rubber bumper

Moisture e

Control Tube

IDK Series =
When operating an actuator with a small diameter
and a short stroke at a high frequency, the dew
condensation (water droplet) may occur inside the
piping depending on the conditions.
Simply connecting the moisture control tube to the
actuator will prevent dew condensation from oc-
curring. For details, refer to the IDK series in the
Best Pneumatics No. 6.

Specifications
Bore size [mm] 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1 MPa CJ1
{ p ing pressure 0.7 MPa
Minimum operating pressure 0.15 MPa*

Ambient and fluid temperature

Without auto switch: =10°C to 70°C
With auto switch: —10°C to 60°C

(No freezing)

(x]
C—
-}

Cushion

Rubber bumper

Lubrication

Not required (Non-lube)

Stroke length tolerance

+1.0
0

H <)

Piston speed

50 to 750 mm/s

[=)
=
~

Allowable kinetic energy

0.090J

#:0.06 MPa for parts other than the lock unit.

Lock Specifications

ollo|a
OID|(=
LW (| =k || O

Lock position

Head end, Rod end

—
=
™

Holding force (Max.) 98 N
Lock release pressure 0.15 MPa or less
1 mm or less MB

Manual release

Non-locking type

Standard Strokes

0=
=
~| =2

[mm]

(5]
(7]
—

Bore size ‘

Standard stroke

16 \

15, 30, 45, 60, 75, 100, 125, 150, 175, 200

(5]
n
N

+: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

=: Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” on front matter pages. In addition, the products that exceed the
standard stroke might not be able to fulfill the specifications due to the deflection etc.

Mounting Brackets/Part No.

. Bore size [mm]
Mounting bracket
16
Foot CJ-Lo16B
Flange CJ-FO16B
Pivot bracket (T-bracket)Note 1) CJ-T016B

Note 1) The pivot bracket (T-bracket) is used with double clevis (D).
Note 2) Stainless steel mounting brackets and accessories are also available.

Refer to page 63-1 for details.

Refer to pages 142 to 149 for cylinders with auto switches.

* Operating range

« Auto switch proper mounting position (detection at stroke end) and its mounting height
* Minimum stroke for auto switch mounting

* Auto switch mounting brackets/Part no.



http://www.smcworld.com/products/en/s.do?ca_id=495#se_1351

CBJ2 series

Construction (Not able to disassemble)

Head end lock

N=

L

- /
0 ®
Rod end lock
(&)
= n ;

Component Parts

With auto switch

No. Description Material Note No. Description Material Note
1A | Rod cover Aluminum alloy 11 | Hexagon socket head cap screw Alloy steel
1B | Rod cover Stainless steel 12 | Cap Aluminum alloy
2 | Head cover Aluminum alloy 13 | Rubber cap Synthetic rubber
3 | Cylinder tube Stainless steel 14 | Bumper Urethane
4A | Piston Aluminum alloy 15 | Rod seal NBR
4B | Piston B Aluminum alloy 16 | Piston seal NBR
5 | Piston rod Carbon steel 17 | Tube gasket NBR
6 | Locking piston Carbon steel 18 | Locking piston seal NBR
7 | Locking bushing Copper alloy 19 | Mounting nut Brass
8 | Lock spring Spring steel 20 | Rod end nut Rolled steel
9 | Bumper Urethane 21 | Magnet —
10 | Hexagon socket head cap screw Alloy steel

136



Dimensions

Basic

With rod end lock: CLIBJ2B16-C_1-RN

20.3

N
o

18.3.405

M10x 1

M5x0.8

Air Cylinder: With End Lock CBJ2 Series

0

010hs-0.022

=
o

F

Piping port 2 x M5 x 0.8

With head end lock: COOBJ2B16-1-HN

P

18.3.04

8 21 9.5
28 55.5 + Stroke
83.5 + Stroke
g L
2xmiox1 °3 8 Piping port 2 x M5 x 0.8
M5 x 0.8 2
s i
©
M N iy
f I
m==ant L1
0|
3
15 8|25 125
28 50 + Stroke 8
86 + Stroke

137

USHHBE B



CBJ2 series

Dimensions
Flange

With rod end lock: CLIBJ2F16-C1-RN

145,
Cover side (Head side) M10 x 1

Piping port 2 x M5 x 0.8
M5 x0.8

06

AN
&y
N

L

—=fr

-

[

18.3.03

2x055 2.3
Mounting hole 21

95 18.3.4
123
28 55.5 + Stroke

83.5 + Stroke

[~}
@

N

S
[
o

Cover outside diameter

With head end lock: COBJ2F16-C1-HN

Cover side (Rod side)

6
2xM10x 1 4§> Piping port 2 x M5 x 0.8
[fe]
Fﬁ% M5 x 0.8 S - . imm )
Vo & s
2 P » -
©r<t s By = ol =
i TP :
7 Hi :
2x05.5 2.3
33 Mounting hole 15 8 | 125 125 18.3.05
42 28 50 + Stroke 8
86 + Stroke Cover outside diameter

138



Air Cylinder: With End Lock CBJ2 Series

Dimensions

Axial foot
With rod end lock: CCIBJ2L16-C1-RN

Enn
— || &=
U || -

14.5
Cover side (Head side) M10x 1 8. Piping port 2 x M5 x 0.8 5
©
I - I M5 x 0.8 N ’E I o [ &/Q
= *\%FFF {/ s S - JCM
1 o 9 | ﬁ 2 CMZ
:I — @
ST cM3
33 6,9
42 15 21 95 18.3.05 CG1
28 55.5 + Stroke
2%05.5 83.5 + Stroke cﬁs
Mounting hole |:
JMB
rrrrrrrrrrrrr MB
MB1
CA2
CS$1
€S2
With head end lock: COOBJ2L16-C1-HN
Piping port 2 x M5 x 0.8 6
Cover side (Rod side) 2xM10x 1 8 8
)
ﬁ | M\ N ] © 1] — 0;79
N 7 P =
o 8 reenid I e
ik z A e
o ,
33 89
42 15 125 125 1830
28 50 + Stroke 8,
2x05.5 86 + Stroke
Mounting hole
D-O
-Xtd

139



CBJ2 series

Dimensions

Double clevis

With rod end lock: CLIBJ2D16-C1-RN

20.3

140

18.3.05

18.3 05

M5x0.8

+0.030

27.5 @5H9 o
14.5_ Piping port 2 x M5 x 0.8 23 Clevis pin (2549-5060)
<145,
S
S \ \ %
H I~ &
| = e H
| o P
15 21 6.5.0%
28 55.5 + Stroke 10 18304
93.5 + Stroke 8

101.5 + Stroke




Ak

CBJ2 series

Specific Product Precautions

Be sure to read this before handling the products. Please consult with SMC for

products outside these specifications.

Use Recommended Air Pressure Circuit. \

\ Operating Pressure \

A\ Caution

« It is necessary for proper locking and unlocking.

12

=3
WLQJ N
Al
With head end lock With rod end lock

A\ Caution

Supply air pressure of 0.15 MPa or higher to the port on the
side that has the lock mechanism, as it is necessary for
disengaging the lock.

\ Exhaust Air Speed \

A\ Caution

The lock will engage automatically if the air pressure at the port
on the side that has the lock mechanism becomes 0.05 MPa or
less. Be aware that if the piping on the side that has the lock
mechanism is narrow and long, or if the speed controller is
located far from the cylinder port, the exhaust air speed could
become slower, involving a longer time for the lock to engage.
A similar result will ensure if the silencer that is installed on the
exhaust port of the solenoid valve becomes clogged.

Selection \

\ Lock Disengagement \

A\ Caution

1.

Do not use a 3-position solenoid valve.

Avoid using this cylinder in combination with a 3-position solenoid
valve (particularly the closed center metal seal type). If air pressure
becomes sealed inside the port on the side that contains the lock
mechanism, the lock will not engage. Even if the lock is engaged
at first, the air that leaks from the solenoid valve could enter the
cylinder and cause the lock to disengage as time elapses.

. Back pressure is necessary for unlocking.

Before starting, make sure that air is supplied to the side that
is not equipped with a lock mechanism as shown in the
diagram above. Otherwise, the lock may not disengage.

(Refer to “Lock Disengagement.”)

. Disengage the lock before installing or

adjusting the cylinder.
The lock could become damaged if the cylinder is installed
with its lock engaged.

. Operate the cylinder at a load ratio of 50% or less.

The lock might not disengage or might become damaged if a
load ratio of 50% is exceeded.

. Do not synchronize multiple cylinders.

Do not operate two or more end lock cylinders synchronized to
move a single workpiece because one of the cylinder locks
may not be able to disengage when required.

. Operate the speed controller under meter-

out control.
If operated under meter-in control, the lock might not disengage.

. On the side that has a lock, make sure to

operate at the stroke end of the cylinder.
The lock might not engage or disengage if the piston of the
cylinder has not reached the stroke end.

. The position adjustment of the auto switch

should be performed at two positions; a po-
sition determined by the stroke and a posi-
tion after the backlash movement (by 1 mm).
When a 2-color indicator switch is adjusted to show green at
the stroke end, the indication may turn red when the cylinder
returns by the backlash. This, however, is not an error.

/AWarning

To disengage the lock, make sure to supply air pressure to the
port on the side without a lock mechanism, thus preventing the
load from being applied to the lock mechanism. (Refer to the
recommended air pressure circuit.) If the lock is disengaged
when the port on the side that does not contain a lock
mechanism is in the exhausted state and the load is being
applied to the lock mechanism, undue force will be applied to
the lock mechanism, and it may damage the lock mechanism.
Also, it could be extremely dangerous, because the piston rod
could move suddenly.

\ Manual Disengagement

A\ Caution

Non-locking type manual release

Insert the bolt, which is provided as an accessory part, through
the rubber cap (it is not necessary to remove the rubber cap).
Screw the bolt into the lock piston and pull the bolt to
disengage the lock. Releasing the bolt will re-engage the lock.

The bolt size, pulling force, and the stroke are listed below.

Bore size Thread size Pulling force Stroke
[mm] [N] [mm]
16 M2 x 0.4 x 20 L or more 4.9 2

Bolt should be detached under normal operation,
otherwise it may cause malfunction of the locking
feature.

Rubber cap

141

5
-
—

ol s (x]
DQI=E(=2 =
- N= o

QIO |=
DRI >|wm
N || = ([N || =



CJ2 Series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch
<Band mounting>

D-M9O
D-M9OW
D-M9OA
Auto switch
ol e

== i

A 22 l B

A =
(24)

( ): Dimension of the D-M9JA.

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-M9IV
D-M9CIMV
D-M9IAV
Auto switch
NI o
e
allal L

(22)
( ): Dimension of the D-M9JAV.
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

Auto switch
| !
[ [Ep— ]
I — |
S T
A B
Al >l

142

Reed auto switch
<Band mounting>

D-A90

Auto switch

! . pan !

[i==

S P
allas] s

(22

( ): Dimension of the D-A96.
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-A9CIV

Auto switch
o .
== S
sl Ll

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-C701/C80
D-C73CLI/C80C
_Hs @ Auto switch
I
SaRtyl == ==
AllL LB




Auto Switch Mounting CJ2 Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Rail mounting>
D-M9C]
D-M9CIW

Auto switch
.

D-M901V
D-M9COWV
D-M9CIAV

=

235 || B
(25.5)

( ): Dimension of the D-M9CJIA.

Auto switch
|

=

EbJ 215|| B

(23.5)
( ): Dimension of the D-M9JAV.

D-F70/J79
D-F7O0W/J79W
D-F79F/F7BA Auto switch
"tt"“‘t’l% ﬁd
A»E B
D-F70OV/F7TOOWV
D-F7BAV
D-J79C Auto switch
® e
A .B

<Rail mounting>

D-A90]
Auto switch cJ"
CJP
(23.5) m
( ): Dimension of the D-A96. JCM
D-A9CIV |:
cM2
Auto switch CM3
7! 5 61
235 || B |:
‘ CG3
JMB
D-A7C1/A80
D-A73C/A80C
D-A79W Auto switch B

=Iﬁ %ﬁ?ﬁ
AllL 1B

€S2
D-A7CIH/A80H
Auto switch
wﬁ% X @
A.L ;fﬁ
DO
-XO



CJ2 Sseries

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (Single acting type excluded) [mm

Auto switch Band mounting
model D-M9Cl DHTD
D-M9OV D-H7C D-C70
D-M9OW D-A90] D-H7NF D-C80
D-M9OWV D-A90V D-H7OW D-C73C
D-M9CIA D-H7BA D-C80C
D-M9TIAV
Bore size A B A B A B A B
6 5.5(4.5) | 5.5(4.5) | 1.5(0.5) | 1.5(0.5) 1 1 2 2
[12] [4] (8] [0] (7.5) (0) (8.5) (0.5)
10 (5) 6 (5) 6 (1)2 (1)2 1.5 1.5 2.5 25
16 (5.5)6.5 | (5.5)6.5 | (1.5)2.5 | (1.5)25 2 2 3 3
#: The values in () are measured from the end of the auto switch mounting bracket.
«: The values in [ ] for bore size @6 are for the double rod type (CJ2W series).
[mm]
Auto switch Rail mounting
model D-F70/J79
D-F7O0WN79W
gl D-F7OV/F7OWV
Doy D-F79F
D-M9OW D-A90 D-A70]
D-MOCIWV D-A9CIV D-J79C D-F7NT D-A80 D-A79W
D-F7BA
Dy oL D-F7BAV
D-M9CJAV %
D-A700H/A80H
D-A73C/A80C
Bore size A B A B A B A B A B A B
6 — — — — — — — — — — — —
10 4.5 4.5 0.5 0.5 3.5 3.5 8.5 8.5 3 3 0.5 0.5
16 5 5 1 1 4 4 9 9 3.5 3.5 1 1
= Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height [mm]
Auto switch Band mounting
model
D-M9O D-M9OIV D-H7O/MH70W
D-M9OW D-M9OWV D-H7NF D-H7C D-C73C
D-M9TIA D-M9TIAV D-H7BA D-C80C
D-A90 D-A90V D-C701/C80
Bore size Hs Hs Hs Hs Hs
6 15 16 15 18 175
10 17 18 17 20 19.5
16 20.5 21 20.5 23.5 23
[mm]
Auto switch Rail mounting
model
D-M9O
W | DF7ow79
D-F7O0W/J79W D-F70V
DMWY | p.F7BA/F79F D-F7O0WV D-J79C Dia7H DiAz3q) D-A79W
D-M9OA D-F7NT D-F7BAV D-A80 D-A80C
D-MIDAV | b p70H/ABOH ’
D-A90 :
D-A90V
Bore size Hs Hs Hs Hs Hs Hs Hs
6 — — — — — — —
10 17.5 17.5 20 23 16.5 23.5 19
16 21 20.5 23 26 19.5 26.5 22

144



Auto Switch Mounting CJ2 Series

Auto Switch Proper Mounting Position (Detection at stroke end)
and Its Mounting Height/SingIe Acting, Spring_; Return Type (S)

Auto Switch Proper Mounting Position: Spring Return Type (S)
- Standard Type (CDJ20O00-(1SZ)
- Non-rotating Rod Type (CDJ2KOOO-0SZ)
- Direct Mount Type (CDJ2ROOO-1SZ)
- Direct Mount, Non-rotating Rod Type (CDJ2RKOOOI-[ISZ)

[mm]
ANeTael
Auto switch model BF”E dimensions B
size | 5t09st | 10t015st | 161030 st | 311045t | 461060 st | 6110 75 st | 76 to 100 st[ 101 to 125 st | 126 to 150 st
D-M9C) 6 — 12 21 25 39 — — — — 55
D-M9OIW/M9CIWV 10 — 13 20.5 325 44.5 — — — — 6
D-MOTIA/MOTIAV 16 — 12,5 21 33 45 51 75 93 105 6.5
6 12 12 21 25 39 — — — — 55
D-M9CIV 10 13 13 205 325 445 — — — — 6
16 125 125 21 33 45 51 75 93 105 6.5
6 — 8 17 21 35 — — — — 15
2| p-a90 10 — 9 165 285 405 — — — — 2
5 16 — 85 17 29 41 47 71 89 101 25
E 6 8 8 17 21 35 — — — — 15
&| D-AeOV 10 9 9 16.5 285 405 — — — — 2
16 85 85 17 29 41 47 71 89 101 25
D-H7C/H7C 6 75 16.5 205 345 — — — — 1
D-H7C0W/H7BA 10 — 85 16 28 40 — — — — 1.5
D-H7NF 16 — 8 16.5 285 405 465 705 88.5 100.5 2
D-C70C1/C80 6 —_ 8.5 175 215 35.5 —_ —_ —_ —_ 2
D-C73C 10 — 95 17 29 4 — — — — 25
D-C80C 16 — 9 175 295 M5 475 715 89.5 101.5 3
D-M9C] 10 — 115 19 31 43 — — — — 45
D-M9CIW/M9CIWV
D-MOTIA/MOCIAV | 16 — 11 19.5 315 435 495 735 915 1035 | 5
10 15 15 19 31 43 — — — — 45
D-MoCIV
16 1 1 19.5 315 435 49.5 735 915 1035 | 5
10 — 75 15 27 39 — — — — 05
D-A90]
16 — 7 15.5 275 39.5 455 69.5 87.5 99.5 1
10 75 75 15 27 39 — — — — 05
D-A90IV
16 7 7 15.5 275 39.5 455 69.5 87.5 99.5 1
o
£ | D-F7O/F70V 10 105 105 18 30 42 — — - - 35
2| D-J79/J79C
= D-A7JH/A80H
3| D-A73C/ABOC 16 10 10 185 305 425 485 725 905 1025 | 4
D-F7O0WN79W 10 — 10.5 18 30 42 — — — — 35
D-F7OOWV/F79F
D-F7BA/F7TBAV 16 — 10 185 305 425 485 725 905 1025 | 4
10 — 15.5 23 35 47 — — — — 85
D-F7NT
16 — 15 235 355 475 535 775 955 1075 | 9
10 10 10 17.5 295 415 — — — — 3
D-A7C1/A80
16 95 95 18 30 42 48 72 90 102 35
10 — 75 15 27 39 — — — — 05
D-A79W
16 — 7 155 275 39.5 45.5 69.5 87.5 99.5 1

«: In the actual setting, adjust them after confirming the auto switch performance.

5 (5[2[z/z[EE@EE

QIO |=
DRI 2|
N || = ([N ||



CJ2 Sseries

Auto Switch Proper Mounting Position (Detection at stroke end)
and Its Mounting Height/SingIe Acting, Spring_; Extend Type (T)

Auto Switch Proper Mounting Position: Spring Extend Type (T)
- Standard Type (CDJ20O00-0TZ)

- Non-rotating Rod Type (CDJ2KOOO-OTZ)

- Direct Mount Type (CDJ2ROOO-0ITZ)

- Direct Mount, Non-rotating Rod Type (CDJ2RKOOOI-OITZ) {mmi
B dimension
Auto switch model BQre A dimensions
size 5t09st | 10to15st | 161030 st | 31to45st | 461060 st | 61 to 75 st | 76 to 100 st | 101 to 125 st] 126 to 150 st
D-MorI 6 | 55 — 12 21 25 39 — — — —
D-MOCIW/MOCIWV | 10 | 6 — 13 205 325 445 — — — —
D-MOTIA/MSTIAV 16 | 65 — 12.5 21 33 45 51 75 93 105
6 | 55 12 12 21 25 39 — — — —
D-M9CIV 10 |6 13 13 205 32.5 445 — — — —
16 | 65 12.5 12.5 21 33 45 51 75 93 105
6 1.5 — 8 17 21 35 — — — —
2| p-A90 0 | 2 — 9 165 285 405 — — — —
=
3 16 | 25 — 85 17 29 41 47 71 89 101
E 6 | 15 8 8 17 21 35 — — — —
&| D-AoCIV 0 | 2 9 9 16.5 28.5 405 — — — —
16 | 25 85 8.5 17 29 41 47 71 89 101
D-H7CUH7C 6 1 — 75 16.5 205 345 — — — —
D-H7OW/H7BA 10 1.5 — 85 16 28 40 — — — —
D-H7NF 16 | 2 — 8 16.5 285 405 465 705 88.5 100.5
D-C70C1/C80 6 2 — 8.5 175 215 35.5 — — — —
D-C73C 10 25 — 9.5 17 29 41 — — — —
D-C80C 6 | 3 — 9 17.5 295 M5 475 715 89.5 1015
D-M9C] 10 | 45 — 115 19 31 43 — — - -
D-M9CIW/M9CIWV
D-MOLIA/MOCIAV | 16 | 5 — 11 195 315 435 495 735 915 1035
10 | 45 11.5 11.5 19 31 43 — — — —
D-MoCIV
16 | 5 11 11 19.5 315 435 495 735 915 103.5
10 | 05 — 75 15 27 39 — — — —
D-A90]
16 | 1 — 7 15.5 275 39.5 455 69.5 87.5 99.5
10 | 05 75 75 15 27 39 — — — —
D-A9C1V
16 | 1 7 7 15.5 275 39.5 455 69.5 87.5 99.5
o
£| D-F70/F70V 10 | 35 105 105 18 30 42 — — — —
2| D-J79/J79C
€| D-A7CJH/A80H
= | D-A73C/A80C 16 | 4 10 10 18.5 305 425 485 725 905 1025
o
D-F7TOWN79W 10 3.5 — 10.5 18 30 42 — — — —
D-F7OWV/F79F
D-F7BA/F7BAV 16 | 4 — 10 185 305 425 485 725 90.5 1025
10 | 85 — 15.5 23 35 47 — — — —
D-F7NT
16 | 9 — 15 235 355 475 535 775 95.5 107.5
10 |3 10 10 175 295 45 — — — —
D-A7C1/A80
16 | 35 95 9.5 18 30 42 48 72 90 102
10 | 05 — 75 15 27 39 — — — —
D-A79W
16 | 1 — 7 15.5 275 39.5 455 69.5 87.5 99.5

=2 In the actual setting, adjust them after confirming the auto switch performance.

146



Minimum Stroke for Auto Switch Mounting

Auto Switch Mounting CJ2 Series

[mm]
A itch Number of auto switches
Wi Sv‘.mc Auto switch model § With 2 pcs. With n pcs. (n: Number of auto switches)
mounting With 1 pc. - 5
Different surfaces| Same surface Different surfaces Same surface
D-M9C -
D-M9CIW 10 15+ a5 154 35(”2—2> 45 +15 (n—2) cJ1
D-M9CIA #3 (n=2,3,4,5..)
D-A90] (n=2,4,6...)
1 3 0-2) 35+25 2 CJP
D-M9CIV 5 15%1 35 5+3875 +25(n-2)
(n=2,4,6.)% (n=2,3,4,5..) m
D-MICIWV 10 15+ a5 15+ 35(”;—2) 354+ 25 (n-2)
D-M9UIAV (=24,6.)* (n=2,3,4,5..) JCM
n-2
Band mounting | p-agr1V 5 10 a5 10 + 35! 5 ) 35+25(n-2) CM2
(n=2,4,6.)" (n=2,3,4,5.)
D-H70/H7O0W (n=-2) -
D-H7BA 10 15 60 15+4577 00+2250 -2 CM3
D-H7NF (n=2,4,6..)% (n=2,3,4,5..)
D-C70 10 15 50 15+40(";—2) 50 +20 (n—2) CG1
D-C80 (n=2,4,6..)* (n=2,3,4,5..) 63
D-H7C (n—-2) -
D-C73C 10 15 65 15+507 fo_* 227555" : 2
D-C80C (n=2,4,6..)3 n=23,4,5..) JMB
! _ _ 10+10 (n—2)
D-mMoOIV 5 5 (n=4,6.)4 MB
D-A9CIV 5 - 10 - oA
D-M90] 10 (5)" _ 10 _ 15+15 (n—2) MB1
D-A90 (n=4,6..)"
D-M9CIWV 10 B 15 B 15+ 15 (n—2) CA2
D-M9CIAV (n=46.)%
" 5 _ _ 20 +15 (n—2)
D-M9CIW 15 (10) 15 o4 6y ‘CS1
i 5 _ 5 _ 20 +15(n-2)
D-M9CIA 15 (10) 0 (15) (n=4,6..)" cS2
D-F70 5 B 5 . 15+ 15 (N-2)
Rail mounting | D-J79 (n=4,6...)*
D-F700V 5 _ 5 _ 10 +10 (n-2)
D-J79C (n=4,6..)"
D-F70W/J79W 10 _ 15 _ 15+20 (n-2)
D-F7BA/F79F/F7NT (n=4,6...)*
D-F70WV 10 _ 15 _ 10 +15 (n-2)
D-F7BAV (n=4,6...)*
D-A7C1/A80
D-A7CH/AS0H 5 — 10 — ‘(i tiom ’)5)
D-A73C/A80C -
D-A700H B . 15+ 15 (n-2)
D-ABOH 5 10 (n=4,6..)"
. _ _ 10 +15 (n-2)
D-A79W 10 15 (4 6 )
+3: When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
+4: When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
However, the minimum even number is 4. So, 4 is used for the calculation when “n” is 1 to 3.
#5: The dimension stated in (') shows the minimum mountable stroke when the auto switch does not project from
. X the end face of the cylinder body and the lead wire bending space is not hindered.
#1: Auto switch mounting
With 2 auto switches
Different surfaces™! Same surface*!
Auto switch model .
Auto switch
D-MoCI(V
D-M9CIW(V)
D-M9TIA(V)
The proper auto switch mounting position is 5.5 mm inward | The auto switch is mounted by slightly displacing it in a direction D'D
from the switch holder edge. The above A and B indicate values (cylinder tube circumferential exterior) so that the auto switch
for band mounting in the table of page 144. and lead wire do not interfere with each other. XO

D-M9CJ/M9LIW/M9LIA

Less than 20 stroke*?

Less than 55 stroke*2

D-A90

Less than 50 stroke*?

#2: Minimum stroke for auto switch mounting in types other than those mentioned in *1.

147



CJ2 Sseries

Operating Range

Auto Switch Mounting Brackets/Part No.

[mm
Auto switch model Borelsize Auto ) Bore size [mm]
6 |10 | 16 switch | Auto switch model
D-M9L/MOLIV 6 10 16
o D-MOCIW/MICIWV 2 25| 3 D-MoCI
.% D-M9TIA/MSLIAV D-MOCIV
3 |D-A90 45| 6 7 D-M9CIW BJ6-006 BJ6-010 BJ6-016
_E D-H7O/H7OW 3 4 4 D-M9CIWV (Asetofa,b,d,f) (Asetofa,b,c,d) (Asetofa,b,c,d)
S| D-H7BA/H7NF D-A90
®|p-H7C 5 [8 ]9 D-A90IV
D-C701/C80/C73C/C80C | 6 7 7 D-M9OA *? BJ6-006S BJ6-010S BJ6-016S
D-M9OCI/M9OCIV D-M9LIAV*2 (Asetofa, b, d, g) (Asetofa, b, d,e) (Asetofa,b,d,e)
D-M9CIW/M9IWV — | 3 35 - -
D-MOA/MITIAV Band o oih bracket (Rosi) > /
fing ransparent (Nylon)
E’ D-A9C/A9CIV — 1|6 6.5 moun | Transparent blue (Nylon)*! /
€| D-F70/J79/F70IW/J79W e | White (PBT)
2 D-F70V/F70O0WV/F79F _|s 5 g |Black (PBT)
= |D-J79C/F7BA/F7BAV
& |D-F7NT d
D-A7C1/A80/A7TH/A80H 8 9
D-A73C/A80C
D-A79W — |1 13
#: Values which include hysteresis are for guideline
purposes only, they are not a guarantee 7
(assuming approximately +30% dispersion) and D-H70/H70W
may change substantially depending on the Band | D-H7BA/H7NF BJ2-006 BJ2-010 BJ2-016
ambient environment. mounting| D-C7C1/C80 (A set of band and (A set of band and (A set of band and
9 D-C73C/C80C screw) screw) screw)
BQ2-012 (S) BQ2-012 (S)
(A set of a and b) (A set of a and b)
a
D-M9C] Set screw
D-MoCIV (Accessory)
o | D-MOOIW -4
Rail | D-MOOIWV _ BQ2-012
mounting| D-M9CIA *¢ BQ2:0128™ I P
D-M9LIAV*4 S
D-A90 b
mounting screw
Nut (Cylinder accessory)

148

#1: Since the switch bracket (made from nylon) are affected in an environment where alcohol,
chloroform, methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot be
used. Please contact SMC regarding other chemicals.

#2: As the indicator LED is projected from the auto switch unit, indicator LED may be damaged if

the switch bracket is fixed on the indicator LED.

=3: When the cylinder is shipped, the auto switch mounting bracket and the auto switch will be

included.

=4: For D-M9UA(V), order the BQ2-012S, which uses stainless steel mounting screws.

Band Mounting Brackets Set Part No.

Set part no. Contents = Eaig 51'25 [mm] -
BU2-000 |\l Swich mouning erow &) BJ2006 | BJ2010 | BL2016
e “ e | e
SO e - -
T e R
BJ5-2 : gmzr; zggl;?t(g'l;ransparent blue/Nylon) (f)*! N . _

[Stainless Steel Mounting Screw]

The following stainless steel mounting screw kit is available. Use it in accordance with the operating
environment. (Since the auto switch mounting bracket is not included, order it separately.)

BBA4: For D-C7/C8/H7 types
=5 Refer to page 1682 for details on the BBA4.

When the D-H7BA type auto switch is shipped independently, the BBA4 is attached.



Auto Switch Mounting CJ2 Series

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.

Refer to pages 1575 to 1701 for the detailed specifications.

. . Applicable
Type Mounting Model Electrical entry Features -
D-H7A1/H7A2/H7B —
Band g - ——— — 0610016
D-H7NW/H7PW/H7BW Grommet Diagnostic indication (2-color indicator)
D-F79/F7P/J79 (In-line) —
Sold state " PET——— —
Rail mountin D-F79W/F7PW/J79W Diagnostic indication (2-color indicator) 210. 916
g D-F7NV/F7PV/F7BV Grommet - '
D-F7NWV/F7BWV (Perpendicular) Diagnostic indication (2-color indicator)
Band D-C73/C76 — 06t0 016
~ | D-C80 Grommet Without indicator light
D-A73H/A76H (In-line) —
Reed " — -
N . D-A80H Without indicator light
Rail mounting 210, 016
D-A73 Grommet -
D-A80 (Perpendicular) Without indicator light

=2 With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1648 and 1649.
+: Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H) are also available. For details, refer to page 1593.

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
J

[x NN x]
€= || C=
0 || =

ollo|lolao]le
DIDIN=S(=S|Q
W= || D|N|=

QIO |=
DRI 2|
N || = ([N ||



CJ2 series

Made to Order: Individual Specifications

Contact SMC for detailed specifications, delivery and prices.

n PTFE Grease
Applicable Series

Description Model Action Note

cu2 Double acting, Single rod

Standard type Single acting (Spring return/extend)

CJ2W | Double acting, Double rod

Non-rotating rod Cu2K Double acting, Single rod
type Single acting (Spring return/extend)

Built-in speed CJ2Z | Double acting, Single rod

controller type CJ2ZW | Double acting, Double rod

Double acting, Single rod
Direct mount type | CJ2R - ing, Sing

Single acting (Spring retum/extend)

i Double acting, Single rod
Direct mount, CJ2RK g g

Non-rotating rod type Single acting (Spring

How to Order
Standard model no. |- X446

PTFE greasel

150

Symbol
-X446

Specifications: Same as standard type
Dimensions: Same as standard type

= When grease is necessary for maintenance, grease pack is available,
please order it separately.
GR-F-005 (Grease: 5 g)

A\ Warning

Precautions

Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is haz-
ardous to humans.



Made to Order: Individual Specifications CJ2 Series

E Short Pitch Mounting/Single Acting, Spring Return

Mounting pitch is shortened when cylinders are used in parallel.
M Changes rod cover and head cover dimensions to 7.
M Shortens the full length with a head cover integrated with a barb fitting.

A

&

g

‘ 7.5 mm

#: Directly mounted with cylinder
mounting screws

Applicable Series

Application
example

Specifications

Symbol
-X773

[xHIKx]
€= || C=
0 || =

H <)

Cm2
Verification of push CM3
button actuation for
mobile phones etc. CG1
CG3

‘ Description ‘ Model ‘ Action ‘ Note ‘ Bore size [mm] 6 JMB
‘ Standard type ‘ CJ2 ‘ Single acting (Spring return) ‘ ‘ Action Single acting, Spring return
Operating pressure range 0.2t0 0.7 MPa MB
How to Order Port S|ze- i With o4 barb fmmq (Fo'r sof‘t tube)
Connecting port location Head cover/Axial direction MB1
CJ2B6 -[ Stroke | SU4Z - X773 Stroke [mm] S 060
Aut itch N
Short pitch mounting/ uto swite’ one CA2
Single acting, spring return
_ L CS2
Dimensions
—
2 Be sure to use a @4 or 2.5
°§:3 urethane tube (TU0425) or
: a soft nylon tube (TS0425). [mm]
Stroke 5to 15 |16 to 30|31 to 45| 46 to 60
M3 x0.5 Air exhaust port S 305 39.5 435 57.5
& z 63.5 725 76.5 90.5
H Note
U mesi 1. When mounting a cylinder, make sure that the
air exhaust port on the rod cover is not blocked.
2. When mounting a cylinder, apply thread locking
S + Stroke 5 adhesive on the threaded part and hold the
z external diameter of the rod cover with a needle-
+ Stroke . .
nose pliers or regular pliers.



CJ2 series

Symbol
E Double Clevis (With One-touch Connecting Pin) -X2838

With pivot bracket (T-bracket) and one-touch connecting pin
Not necessary to order a bracket for the applicable cylinder separately.

Applicable Series
Applicable Cylinders (Double Clevis Type)
Series Bore size [mm] Type Model Action Note
Standard CJ2D Double acting, Single rod Cannot be mounted on
CJ2D 10.16 CJ2D | Single acting, Single rod (Spring return/extend) cyIinFJers wilh. air !
’ Non-rotating| CJ2KD Double acting, Single rod cushion, or rail mounting
rod type CJ2KD | Single acting, Single rod (Spring return/extend) type auto switches.

How to Order
Example) CDJ2D10-60Z-N-M9BW-B-X2838

One-touch
connecting pin

With one-touch connecting pin

#: The pivot bracket (T-bracket) and one-touch
connecting pin are shipped together. Refer to
page 63-2 for assembly instructions.

Pivot bracket (T-bracket)
Nil None

N Pivot bracket is shipped together with
the product, but not assembled.

-

e

Pivot bracket ) n
(T-bracket) S : e

-

Double clevis type

Specifications: Same as standard type

Dimensions

cJ2n ]2 -[“stroke |Z— (N) — x2838

= Refer to page 63-2 for assembly procedures and mounting methods.

Z+Stroke L

e 5

H]

Pivot bracket (T-bracket)

[mm]

Applicable
b%?e size H L|TH|TV |TW | Z . The pivot bracket (T-bracket)
10 13.4 132 29 | 40 | 22 | 82 is the same as the standard

type. Refer to page 63-1 for
16 18.2195| 35 | 48 | 28 | 85 details.

® 151-1



Ak

CJ2 series

Specific Product Precautions

Be sure to read this before handling the products. Refer to back page 50 for Safety
Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

Mounting ‘

A Warning

1. Use within the specified cylinder speed and

kinetic energy ranges.
Otherwise, cylinder and seal damage may occur.

.Do not apply excessive lateral load to the

piston rod.

Easy checking method

Minimum operating pressure after the cylinder is mounted to
the equipment (MPa) = Minimum operating pressure of
cylinder (MPa) + {Load weight (kg) x Friction coefficient of
guide/Sectional area of cylinder (mma2)}

If smooth operation is confirmed within the above value, the
load on the cylinder is the resistance of the thrust only and it
can be judged as having no lateral load.

.Do not open the cushion needle after rotat-
ing it numerous times in a row. Though un-
common, there are cases in which the cush-
ion needle may leak air.

The cushion needle should be adjusted by gradually opening it
while checking the operation of the cylinder cushion.

/A Caution

1.

During installation, secure the cover on the
tightening side and tighten by applying an
appropriate tightening force to the retaining nut
or to the cover on the tightening side.

If the cover on the opposite side of the tightening side is secured |JGIM

or tightened, the cover could rotate, leading to the deviation.

. Tighten the retaining screws to an appropriate
tightening torque within the range given below.
06:2.1t02.5N-m, 10: 5.9 t0 6.4 N-m
216:10.8to 11.8 N-m

To remove and install the retaining ring for the
knuckle pin or the clevis pin, use an appropriate
pair of pliers (tool for installing a type C
retaining ring). In particular, use a pair of ultra-
mini pliers for removing and installing the
retaining ring on the 210 cylinder.

.In the case of auto switch rail mounting type,
do not remove the rail that is mounted.
Because retaining screws extend into the
cylinder, this could lead to an air leak.

. Please contact SMC when the stroke exceeds

100 mm for the axial foot mounting type.

<Precautions on the single acting cylinder>
1) Do not operate it in such a way that a load would be applied

during the retraction of the piston rod of the spring return type,
or during the extension of the piston rod of the spring extend
type. The spring that is built into the cylinder provides only
enough force to retract the piston rod. Thus, if a load is applied,
the piston rod will not be able to retract to the end of the stroke.

2) A breather hole is provided in the cover surface. Make sure not to

block this hole during installation, as this could lead to a malfunction.

<Precautions on the non-rotating cylinder>
1) Tighten the retaining screws to an appropriate tightening

torque within the range given below.
210: 10.8 to 11.8 N-m, 916: 20 to 21 N-m

2) Do not operate it in such a way that rotational torque would be

applied to the piston rod. If rotational torque is applied, the
non-rotating guide will become deformed, thus affecting the
non-rotating accuracy.

[ 210 [ 216

Allowable rotational torque [N-m]
| 0.02 | 0.04

3) To screw a bracket onto the threaded portion at the tip of the
piston rod, make sure to retract the piston rod entirely, and
place a wrench over the flat portion of the rod that protrudes.
To tighten, take precautions to prevent the tightening torque
from being applied to the non-rotating guide.

e
s
et
o3
e
e

MB1




	Air Cylinder: CJ2 Series
	Features
	Pg. 2

	Contents
	Pg. 2

	Combination of Standard Products
	Pg. 2

	How to Order CJ2, Double Acting, Single Rod, Standard
	Specifications, Standard Strokes
	Weights, Clean Series, Low Speed Cylinder
	Construction
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7
	Pg. 8
	Pg. 9
	Pg. 10
	Pg. 11
	Pg. 12
	Pg. 13

	Dimensions of Accessories
	Pg. 2
	Pg. 3


	How to Order CJ2W, Double Acting, Double Rod, Standard
	Specifications, Standard Strokes, Weight
	Clean Series
	Construction
	Dimensions
	Pg. 2
	Pg. 3


	How to Order CJ2, Single Acting, Spring Return/Extend, Standard
	Specifications, Standard Strokes
	Weights, Spring Extend
	Construction
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7
	Pg. 8
	Pg. 9
	Pg. 10
	Pg. 11
	Pg. 12
	Pg. 13


	How to Order CJ2K, Double Acting, Single Rod, Non-rotating Rod
	Specifications, Standard Strokes
	Weights, Construction
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4


	How to Order CJ2K, Single Acting, Spring Return/Extend, Non-rotating Rod
	Specifications, Standard Strokes
	Weights
	Construction
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7
	Pg. 8


	How to Order CJ2Z, Double Acting, Single Rod, Built-in Speed Controller
	Specifications, Standard Strokes
	Weights, Construction
	Dimensions
	Pg. 2


	How to Order CJ2ZW, Double Acting, Double Rod, Built-in Speed Controller
	Specifications, Standard Strokes
	Weights, Construction
	Dimensions
	Pg. 2


	How to Order CJ2R, Double Acting, Single Rod, Direct Mount
	Specifications, Standard Strokes
	Clean Series
	Construction

	How to Order CJ2R, Single Acting, Spring Return/Extend, Direct Mount
	Specifications, Standard Strokes
	Weights, Construction
	Dimensions

	How to Order CJ2RK, Double Acting, Single Rod, Direct Mount, Non-rotating Rod
	Specifications, Standard Strokes, Weights
	Construction, Bottom Mounting

	How to Order CJ2RK, Single Acting, Spring Return/Extend, Direct Mount, Non-rotating Rod
	Specifications, Standard Strokes
	Weights, Construction
	Dimensions

	How to Order CBJ2, w/End Lock
	Specifications, Standard Strokes
	Construction
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4

	Specific Product Precautions

	Auto Switch Mounting
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7
	Pg. 8

	Made to Order
	Pg. 2
	Pg. 3

	Specific Product Precautions


